BP01~BP37, BP-SPECIAL

BASE SERIES



LEAVE INDUSTRIAL ‘ .®
LEA'E

M/C BASE PLATE

© Material / Finish:
Material: Cast Iron FC300(JIS) / GG30(DIN)
Heat treated (Normalized)

o Application: Vertical Machining Center.

° Features: Ready to accept a hole pattern for your special jig.

B //10.02/300

| ]0.02/300

E 50+0.02

1-1

BASE SERIES

+0.020
2-930+0.007
Locating hole

M16 Cap-Screw hole
(Find in Page 7)

MODEL NO. A B c E F kg
BP01-50400-0600 | 400 88
BP01-50500-0600 | 500 | 600 | - - - 106
BP01-50600-0600 | 600 127
BP01-50400-0800 | 400 | 800 | ] ) 113
BP01-50450-0900 | 450 | 900 142
BP01-50500-1000 | 500 | 1000 176
BP01-50600-1200 | 600 | 1200 | - - 256

*Special Design Welcome !

LEAVE INDUSTRIAL

M/C BASE PLATE

o Material / Finish:
Material: Cast Iron FC300(JIS) / GG30(DIN)
Heat treated (Normalized)
Alignment Bushing: SUJ2(JIS) / 100Cr6(DIN) heat treated.
Threaded Insert: S45C (JIS)/ CK45 (DIN), heat treated.
MTP hole spacing: 50+0.02

o Application: Vertical Machining Center.

o Features: Alignment bushing & thread insert at every hole
location, easily adapts to standardized jig components.

B //10.02/300
C10.01 _| 0.02/300
E E 50+0.02
| |
H |
@ @@@ ® @ @@@ ® @ @@@ @/T-MTPhoIe
00 © © © 9|0 © © © © O
@F@@@@@‘@@@@@@/ UE -
- %@E@@@@@@@@@@@
| F| T - - w - - T T 7
= @?@@@@@@@@@@a%
O © 0 & 90 6 O 6 e +0.020
| 2-$30+0.007
@8 @@@ ® © @@@ ® © % o % Locating hole
1 2 8 4 5 6 7 8 9
@A@@@@@\@@@@@@@
1
50+0.02 M16 Cap-Screw hole
(Find in Page 7)
- 0120558 - $16:0005
o T . |
© // 17
| :
M12x1.75 M16x2
Figure T
MODEL NO. A B CEF T MIP kg ODEL NO A B g
BP02-50400-0600-12|400 9| 90| |BP02-50400-0600-16 400 9| 89
BP02-50500-0600-12|500| 600| - | —|—|¢ 12| M12[ 120 | 112 | |BP02-50500-0600-16|500| 600|— |- |- |¢» 16| M16| 120 | 108
BP02-50600-0600-12|600 144 | 134 | |BP02-50600-0600-16 |600 144 | 120
BP02-50400-0800-12/400) 800| | | |, f 1128|109 | |BPO2-50400-0800-16/400) 80| | | |, 1oty 46l 128 | 108
BP02-50450-0900-12 |450| 900 158 | 138 |  |BP02-50450-0900-16450| 900 158 | 134
BP02-50500-1000-12/500(1000] _| _| _| , 1o/ 11| 200| 165 | |BP02-50500-1000-16/500|1000] _| _| |, ,c!, .| 200 164
BP02-50600-1200-12 |600|1200 288 | 244 | | BP02-50600-1200-16 6001200 288 | 240

*Special Design Welcome !

R LL};L\

S

ALV

OIHER

Lolumn;
jur
gechnicall
Datal

BASE SERIES 1-2



LEAVE INDUSTRIAL ‘ .®
LEA'E

M/C BASE PLATE

© Material / Cast Iron FC300(JIS) / GG30(DIN)

o Heat treated: Normalized

° Application: Vertical Machining Center.

© Features: T-Slots running in 2 directions, easily adapts to
standardized jig components.

M/C BASE PLATE

o Material / Finish:
Material: Cast Iron FC300(JIS) / GG30(DIN)
Heat treated (Normalized)
o Application: Horizontal Machining Center.
o Features: Ready to accept a hole pattern for your special jig.

R :}'..\‘

// 10.02/300 B //10.02/300

A | _|0.02/300 | [0.021300]Z] | [0.02/300 P,
| ‘ C£0.02 c A£0.02
| g | 1 ||
i i i i i i i I I i i i LJ é
ififi il il il il i|lfi
| _ __ o otk o o _ ] S
J+;_ J] L J] L = Jf |L J] L JHL @ : @ J W SU|
= {r————1 | | - - r———/7/"7 [ b (.
1l i 1 i 1 | i 1 If 1 If 1
{1/ 1 | RS
I | | | I I I Lo
Ledl] |taseadl] |[baseadl| |badbeadl| |lbasaadl| (basasadl| |bed N
—— | | | | r————" | | r———/" [ I Err
11T N O o
m B - + - =
B O | OO A 1 @O e O
—— | | | | | i | r————/" r———7" [ — I
| i TN i | SVF
I Iy Iy I I I
B N (| I | N (O S I O I | N (i
I 1 i 0 =3
Foa | [ [ [ [P TS |
i i i i il il | 1 © ? %
ARV
M16 Cap-Screw hole ‘ 1 M16 Cap-Screw hole 18
(Find in Page 7) (Find in Page 7) »JH
Z
F+0.02 1 0.02/300 3-M16 . OKE
- VISE
EE ’
J o
D |.D Jans
Figure D GENS
Mountin S
MODELNO. A B C D F H I kg MODELNO. A B C D F H | kg MODEL NO. A B c D holes© kg
BP03-60400-0600-14 400 92 BP03-75400-0600-18 400 18 BP04-50400-0400 50 400 320 55 4 57
BP03-60500-0600-14 | 600| 500 | 60 | 14 | 100| —|—| 115 BP03-75500-0600-18 | 600| 500 | 75 | 18 | 100| — | — | 147 BP04-50500-0500 50 500 400 75 8 88 Clum
BP03-60600-0600-14 600 130 BP03-75600-0600-18 600 173 BP04-50630-0630 50 630 500 100 8 140 lff:w nicall
- - b K H - Datal
BP03-60400-0800-14 | 800| 400 e 17 BP03-75400-0800-18 | 800| 400 = e |l [ = 151 BP04-50800-0800 50 800 640 135 8 205
BP03-60450-0900-14 | 900| 450 168 BP03-75450-0900-18 | 900| 450 182 - i
*Special Design Welcome !
BP03-60500-1000-14 |1000| 500 198 BP03-75500-1000-18 |1000| 500 228
60 | 14 | 100| - |- 75 | 18 [ 100| — | -
BP03-60600-1200-14 |1200| 600 264 BP03-75600-1200-18 | 1200 600 329

*Special Design Welcome !

1-3 BASE SERIES BASE SERIES 1-4



LEAVE INDUSTRIAL ‘ .®
LEA'E

ol i LA s -
P s N M/C BASE PLATE M/C BASE PLATE
& e e > Material / Finish: > Material: Cast Iron FC300(JIS) / GG30(DIN)
e .;}Q e Q@'ﬁ o % | Material: Cast Iron FC300(JIS) / GG30(DIN) o Heat treated: Normalized
S ;'_w = 3 B Heat treated(Normalized) o Application: Horizontal Machining Center.
,'I;D' : ::, : :ﬁ : : z :l ‘; Alignment Bushing: SUJ2(JIS) / 100Cr6(DIN), heat treated. ° Features: T-Slots running in 2 directions, easily adapts to
oW w W A & W W 5_,@. Threaded Inse.rt. S45C(JIS) / CK45(DIN), heat treated. standardized jig components.
W o w *‘Pw i T MTP hole spacing: 50+0.02

o Application: Horizontal Machining Center.

o Features: Alignment bushing & thread insert at every hole BPA
location, easily adapts to standardized jig components.
B | [0.021300|Z] //10.021300 30
: : B //10.02/300 :
C [ [0.02/300 | ]0.02/300|Z] T T0.02/300
50+0.02 A‘\iO-O‘Z C A0,02
| | op.
©0 0 906 6 o o | .
@ @ B B +L,,,,J L,,,,JTL,,,,J L,,,,J+ pie
© Q0O 0 0 v e e e 9 il ki i
o I I I I I LJ lj
© 0O © © O © © O O I © it i ihfi i i -
o : e | L — L —— | —— | p—— e
— =} To!
© 0000006000 © « minine il ST | R
I I Iy I I O
o o |92 @ @ ele e e ol Lo —1 DR | | N | 2 Lo
© ©0:0 © 0l® © © 00 il TR - o
| i i i i i D_T S|OtS :
©ee00000o00 \
© 00 © 0|0 & O & o — T-MPhole o e L o [ I
1 2 3 4 5 6 7 8 9 10 i i i I I
8,°'0 © 8.0 & © © q A S
90 @ @?@ ® 99 D i | i 1 i A il
i M16 Cap-Screw hole 1 il Ll il 1
1o Lap 18 1 M16 Cap-Screw hole 18
(Find in Page 7) (Find in Page 7) ] N
3-M16
o) H 316 p 10018
Al - 01210008 - 1649002 +0.02 -
P4 T o ; i ® - DKS
| o | © — ! ‘ 3 JISE
J - : = ‘ — 016 £:6 6;4_5 \ JASE
D |.D o A | 17 i "o ‘ f‘El‘ |
I t N Il
M12x1.75 ‘ M12 2 % = = // JERS
X1. X =P
Figure T Figure D GEINS]
MODEL NO. A B C D T MTp MU kg MODEL NO. A B C D E H " kg -
BP05-50400-0400-12 50 400 | 320 55 512 | M12 59 4 54 BP06-60400-0400-14 60 400 | 320 14 55 80 4 56 HHEN
BP05-50500-0500-12 500 | 400 75 93 8 83 BP06-60500-0500-14 500 | 400 75 | 100 8 90
BP05-50630-0630-12 630 | 500 | 100 139 135 BP06-60630-0630-14 630 | 500 100 | 125 150 Golt
50 $12 | M12 8 60 14 8 Coltimi
BP05-50800-0800-12 800 | 640 | 135 237 206 BP06-60800-0800-14 800 | 640 135 | 160 230 ,’;’” ARical
CCHTCdl
BP05-50400-0400-16 50 400 | 320 55 +16 | M16 59 4 52 BP06-75400-0400-18 75 400 | 320 18 55 80 4 68 Data|
BP05-50500-0500-16 500 | 400 75 93 8 80 BP06-75500-0500-18 500 | 400 75 | 100 8 108
BP05-50630-0630-16 50 630 | 500 | 100 +16 | M16 139 : 130 BP06-75630-0630-18 630 | 500 100 | 125 . 180
BP05-50800-0800-16 800 | 640 | 135 237 247 BP06-75800-0800-18 s 800 | 640 18 135 | 160 295
*Special Design Welcome ! *Special Design Welcome !

1-5 BASE SERIES BASE SERIES 1-6



LEAVE INDUSTRIAL ‘ .®
LEA'E

e

SQUARE TOOLING COLUMN

© Material / Finish:
Material: Cast Iron FC300(JIS) / GG30(DIN)
Heat treated (Normalized)
o Application: Horizontal Machining Center.
o Features: Ready to accept a hole pattern for your special jig.
o Eye bolt & top cover included.

SQUARE TOOLING COLUMN

o Material / Finish:
Material: Cast Iron FC300 (JIS) / GG30 (DIN)
Heat treated (Normalized)
Alignment bushing: SUJ2(JIS) / 100Cr6(DIN), heat treated
Threaded Insert: S45C(JIS) / CK45(DIN), heat treated
MTP hole spacing: 50+0.02

o Application: Horizontal Machining Center.

o Features: Alignment bushing & thread insert at every hole BPA
location, easily adapts to standardized jig components.

o Eye bolt & top cover included.

B
0 | [0.021300]Z7] B T Tooza0]z] BC
S | \ o] | e
7/@E % @ | Aé é é\ - 01210578 - 01610015
. . i L L
| * + * o % 1 © V ‘ @ &)
AN A®I@NEN ole iR
\ ‘ 4 @O T T S O M7 i
| ‘ M12x1.75 ‘ M16x2 ‘
. P . . i ()
1 e T ! Figure T L
[AAAY M Cap-Screw hole y MC
. (Find in Page 7) Gap-Screw hole
z 7 (Find in Page 7)
1 Jo0250] Y] P
0.02/300 | Y
EROIZENIN //10.02/300| Z
//10.02/300 //10.02/300( z 77T0.02/300 | [0.02/300| Y
L [0.025300] ¥[Z] L J0.02/300] Y| T 0.02/300] Y |Z o]
| C i i c | i C i 50:002 SVE
1 1 ‘ ‘
‘ : R EE] AT
‘ ‘ © 0o 9 oo @0 e e o
E | § E | § 00 ©® © © @+ O ® o
‘ ‘ E@s@i@@g E@G@i©@§ ALY
! ! ©re @ © © ©ro © © ©
< ‘ ‘ < 2E2$Zz |, — T- MTP hole & zEZZzZ
I I 3'N D 4 D
‘ ‘ - @c@@@@/ uc_%' o0 000 3N OK=
| | @B@i@@ @a@i@@ ‘Jr:“
‘ SL ‘ 2 e ‘ ® o oo‘ 3 —ee ‘ ® o FI3Z
® =] ®
® — T 1] ! ‘ 2 ‘ L
] [ ] o | o ; [ ] ; ‘ . . o [] o | o—‘—‘% &[] [
] FLF - E FLF e |2 ? J3i
u | | - GENS
MODEL NO. A B C D E F G M N "uw kg MODELNO. A BCDEFG T M N we";'kigl] MODELNO. A BCDEFG T M N me"y kg
holes holes
BP07-300300-0500 500 | 300 | 150 | 250 | 150 | 40 | 50 | M12| M12| 4 90 BP0B-300300-0500-12 | 500| 300[150(250|150| 40|50 |12 M12|M12[M12| 64| 4 | 90|| BP08-300300-0500-16 | 500 | 300150|250|150| 40 |50 |416|M16{M12[M12| 64| 4 | 90 oT
DIHER
BP07-400400-0500 500 160 BP08-400400-0500-12 | 500 128 155/| BP0B400400-0500-16 | 500 128 152 =
400 | 250 | 320 | 200 | 55 | 50 | M16 | M16 | 4 4001250(320{200| 55|50 |12 |M12 [M16|M16 4 — 400|250(320(200] 55 | 50 | 16(M16 [M16|M16 41—
BP07-400400-0650 650 210 BP08400400-0650-12 | 650 176) | 200|| BP08400400-0650-16 | 650 176] | 19
BPO7- - BP08-500500-0600-12 | 600 200 | 240/ BPOB-500500-0600-16 | 600 200 | 235
07-500500-0600 600 500 | 300 | 400 | 250 | 75 |50 | M16| M16| 8 250 5001300(400(250| 75(50 |#12|M12 |M16{M16— 8 |— 500/300|400/250| 75 | 50 | 16| M16(M16|M16|——| 8 —— Coltmm
BP07-500500-0750 750 310 BP08-500500-0750-12 | 750 260| | 300||BPOB-500500-0750-16 | 750 260 | 295 for
fechnicall
BP07-630630-0700 700 400 BP0B-630630-0700-12 | 700 288 | 360|| BPOB-630630-0700-16 | 700 288| | 365 bt
6 — 630|350|500|315(100] 50 16| M16|M16|M16I—— 8 —— Datal
BP07-630630.0850 850 630 | 350 | 500 | 315 | 100 | 50 | M16 | M16 | 8 260 oo casan0aotz | anol P30350[500[315/100/50 (12 M2 MIBIMI | 8 = e 50 20 & a0
BP08-800800-0800-12 | 800 504/ | 635 BPOB-800800-0800-16 | 800 504/ | 630
BP07-800800-0800 800 | 200! 500 | 640 | 400 | 135 | 50 | m16 | m16 | & 880 800/500(640(400[135(50 |#12(M12|M16|M16— 8 —— 800[500(640|400/135/50 16| M16|M16|M16|—— 8 ——
BP07-800800-1000 | 1000 800 BP08$00800-100012_1000 648 | 780)|BPOS800800-1000-16 11000 b | 170
BP08-10001000-1000-12{1000 792 | 1164 | BP08-10001000-1000-16 1000 79 |1164
BP07-10001000-1000 | 1000 1000! 600 | 800 | 500 | 165 | 55 | M20| M16| 8 1164 P 001000- 250121230l P B0 0| 00)165/55 1M 8 oo 2ol B0 [B00[300/16555 #16|M16/M20 MgE 1 8 oo
BP07-10001000-1250 | 1250 1391 2

*Special Design Welcome !

1-7 BASE SERIES *Special Design Welcome ! BASE SERIES 1-8



LEAVE INDUSTRIAL ‘ .®
LEA'E

SQUARE TOOLING COLUMN

© Material / Finish:
Material: Cast Iron FC300(JIS) / GG30(DIN)
Heat treated (Normalized)

o Application: Horizontal Machining Center.

o Features: T-Slots running horizontally, key-way running vertically,
easily adapts to standardized jig components.

o Eye bolt & top cover included.

DOUBLE SIDED TOOLING COLUMN

o Material / Finish:
Material: Cast Iron FC300(JIS) / GG30(DIN)
Heat treated (Normalized)
o Application: Horizontal Machining Center.
o Features: Ready to accept a hole pattern for your special jig.
o Eye bolt & top cover included.

H LL};L\
B
‘ o gt CzEH s 1 To02500[Z] BC
| ‘ g ‘ ‘
o ¢ © ‘ | i\
- % . o8 10018 ] Aé é ®
QO 272 %
ol o +& - —o— @ o | ]\(
ala A = o D
! 7 | _ \
- '%' - Figure K Figure J SU
t\e % |
: &
DAL M Cap-Screw hole ? %
E (Find in Page 7) I\Q.ij-slfrew ?ole
Lloezsly 71-002/300 o o
. 0.02/300 | Z
//10.02/300 //]0.02/300]Z ﬁ 0023001 Y
| 0.02/300|Y | Z [ To.02/300[ Y H c
| —
| | AL
<C | |
‘ ‘ /3'N
‘ ‘ DKE
| @ | / 9‘ ViSE
. O | o { L3 1 [ ‘ ?
F|F E 25
u ‘ | : JER-
: GENS
OD o A B D g ol» o A B D g MODEL NO. A B C D E F G H M N M?‘l;rl';'sng kg
BP09-400400-0500-14 | 500 160||BP09-400400-0500-18 | 500 155 BP10-300300-0500 500 | 300 80 [250 | 150 | 40 |50 | 300|M12|M12| 4 115
400|250|320{200| 55|50 [M16|M16]100| 14 | 4 400|250(320(200| 55|50 |M16|M16]100| 18
BP09-400400-0650-14 | 650 M6 200 ||BP09-400400-0650-18 | 650 o|M™e 190 BP10-400400-0500 500 a0l 150 | 2 e | e se | amlioslios] 4 170 OTHER
BPOS 005000000141 %901 0| 300|400 250| 75 50 6|16 100 14 | & |y o o0o00-0600-18 1800} 1l 400 250| 75| 50 [wrte| s 100 16 26 BP10-400400-0650 059 215
BP09-500500-0750-14 | 750 300 ||BP09-500500-0750-18 | 750 290 BP10-500500-0600 600 500/ 200 | 400 | 250 | 75 | 50 | 500|M16|M16| 6 270
BP09-630830-0700-44 | 7001 25| 350 500 | 315 100 50 |w16|wt6 | 125| 14 | & |l 00000070018 700N il 500 | 515 00 50 |wite| s | 125 | 18 35 BP19-500500-0750 750 °%9 ot
Jur
BP09-630630-0850-14 | 850 460 ||BP09-630630-0850-18 | 850 450 BP10-630630-0700 700 T e e PPty ppraveat e o vy 445 echnical)
BPO9-800800-0800-14 | 8001 0| 500 | 640 400 | 135 50 |wrte|ts | 150| 14 | & |y 000000080018 1800} i 60 00| 135 50 |wiis| 16| 50| 18 038 BP10-650699-9899 850 520 s
BP09-800800-1000-14 {1000 8001|BP09-800800-1000-18 (1000 790 BP10-800800-0800 800 800! 300 | 640 | 400 | 135 | 50 | 800!M16|M16| 6 675
BPOQ'10001000'1000'1410001000 600 | 800|500 165 | 55 |M20|M16|160| 14 | 8 146 BP09-10001000-1000-1810001000 600 | 800 | 500 | 165 | 55 [M20|M16{160 | 18 146 SP12-sH18a8. 188 jlat ilke
BP09-10001000-1250-14|1250| 1358(|BP09-10001000-1250-18(1250) 1358 BP10-10001000-1000 | 1000 1000/ 350 | 800 | 500 | 165 | 55 | 1000| M20 | M16 6 1162
— BP10-10001000-1250 | 1250 1377

*Special Design Welcome !

1-9 BASE SERIES

*Special Design Welcome !

BASE SERIES 1-10



LEAVE INDUSTRIAL ‘ .®
LEA'E

DOUBLE SIDED TOOLING COLUMN

© Material / Finish:
Material: Cast Iron FC300(JIS) / GG30(DIN)
Heat treated (Normalized)
Alignment Bushing: SUJ2(JIS) / 100Cr6 (DIN), heat treated
Threaded Insert: S45C(JIS) / CK45(DIN), heat treated
MTP hole spacing: 50+0.02
o Application: Horizontal Machining Center.
o Features: Alignment bushing & thread insert at every hole

DOUBLE SIDED TOOLING COLUMN

o Material / Finish:
Material: Cast Iron FC300(JIS) / GG30(DIN)
Heat treated (Normalized)

o Application: Horizontal Machining Center.

o Features: T-Slots running horizontally, key-way running vertically,
easily adapts to standardized jig components.

o Eye bolt & top cover included.

BRA
location, easily adapts to standardized jig components. ’
o Eye bolt & top cover included.
B 1 [0.021300] 7] _| [0.02/300] 7] BC
‘ D ‘
\ ‘ \
s & o\ AR o e
| L J +é).018 +00.018
o ] o CP.
5 " 5 . % ‘ - ~ ‘ T o ] 7 |
VU : 0 l 2 |
ol +ftt+—-+totH-—+t{—t ‘ ‘ ¥ ‘
® J9C W77 287 | | |
. . . M12x1.75 M16x2 \ \ . 2+ o i ‘
. \ , , SU
Figure T ® Figure P Figure J
‘ M Cap-Screw hole M16 Cap-Screw hole
- (Find in Page 7) 7 (Find in Page 7)
z //10.02/300 | Z Pr
| [0.021300] Y| //10.021300] Z L [002300[ Y] _| J0.021300] Y
H | [0.02/300| Y H c
500.02 o . Cc ! \ ‘ |
\ 1 R e ] L] & SVF
fhekelclsllogapalope 5 NN R | |
90 000060006 o6 | L K
o000 B | & e J-T Slots
0000000 & | R ] \,:} o
©'0 00 000006 0 < [ I §| ALY
00 06006600060 T-MTPhoe | | | T e AR A
<§$ @0o00e0l0ecooe,/ | | | . :} 5 an
F e SN e | /
mf 00 © © 0|0 O © O © / ************* ﬂ ************* b= ~ 5
o < o) DK=
3100 © 0 0lo 0 © 0 0 o ‘ - 3 / ‘—‘ y-‘;‘“r-
< ~ ~ o L
ﬁ l I . (O] @ l @ } ‘LQ ! )
¢t Ll e | | © FSS—— FF B |25 f
FIF Pl e 1] 2 V] | | | -
Y] | | | JERE
GENS]
MODELNO. A B CDEFGH T M Nmrp“:.?nl“g?‘kg MODELNO. A B CDEFGH T M Nmm“:?T“g"'kg ODEL NO - 0 g kg ODEL NO N D kg
oles oles ole ole
BP11-300300-0500-12 | 500| 300 80|250|150| 40| 50| 300|12|M12(M12|M12| 96 | 4 | 110||BP11-300300-0500-16 | 500| 300| 80| 250 150| 40| 50| 300|¢16|M16|M12|M12| 96 | 4 | 105 BP12-400400-0500-14 500 170l1BP12-400400-0500-18 |50 165
BP11-400400-0500-12 | 500 128 165|| BP11-400400-0500-16 | 500 128 160 400/150{320{200| 55| 50 | M16{M16| 400| 14 |100| 4 400|150{320(200| 55| 50 | M16|M16| 400| 18 {100 4 BTHER
400 150( 320| 200| 55 | 50| 400 12|M12 |M16|M16[55~] 4 [ 400/ 150| 320| 200| 55| 50| 400(¢16|M16|M16|M16—— 4 —— BP12-400400-0650-14 | 650 220||BP12-400400-0650-18 | 650 20) e
BP11-400400-0650-12 | 650 176 210)| BP11-400400-0650-16 | 650 ¢ 176 205
BP12-500500-0600-14 | 600 290((BP12-500500-0600-18 | 600 280
BPH-S00S00060612_| 6001 ol 200|400 250| 75| 50| 50| stalmta|wts il g |l oG04 | 800 ol ool 250l 75l 50! sooleste | mislmisd & |22 500[200(400| 250| 75| 50 | M16{M16| 500 14 100| 6 500(200|400{250 75| 50 | M16| M16| 00| 18 (100 6 ——
BP11-5005000750-12 | 750 260 335|| BP11-500500-0750-16 | 750 260| | 330 BP12-500500-0750-14 | 750 335| BP12-500500-0750-18 | 750 35| el
BP11-630630-0700-12 | 700 530l 2501 500! 31511001 50/ 630l 288 435|| BP11-630630-0700-16 | 700 s 288 430 BP12-630630-0700-14 | 700 wislwel s3ol 14 125 440||BP12-630630-0700-18 | 700 wisltsl 630l 18 1125 6 430 s e
50| 500| 315(100| 5 12|M12|M16|M16[——1 6 [ 630| 250| 500| 315(100| 50| 630|®16|M16|M16|M16——1 § — | 630/250{500{315/100| 50 6 630|250{500{315|100| 50 —— | Uddie
BP11-630630-0850-12 | 850 360 515|| BP11-630630-0850-16 | 850 360| & [ 505 BP12-630630-0850-14 | 850 515(|BP12-630630-0850-18 | 850 500 okiis
BP11-800800-0800-12 | 800 420 660/ BP11-800800-0800-16 | 800 420 650 BP12-800800-0800-14 |800 670(|BP12-800800-0800-18 {800 660
800 300|640|400[135| 50| 800(®12|M12|M16|M16—— 6 —— 800( 300| 640| 400|135/ 50| 800|¢16|M16|M16|M16—— 6 —— 8001300(6401400(135( 50 | M16| M16| 800| 14 |150| 6 80013001640/400/135| 50 | M16|M16| 800| 18 |150| 6 ——
BP1-800800-000-12_| 1000 540 | 800) BP11-800300-1000-16 | 1000 540] | 790 IBp12.600800-1000-14 [1000 790[/BP12:800800-1000-18._|1000 785
BP11-10001000-1000-12| 1000 684 1158|| BP11-10001000-1000-16| 1000 684| [1158
1 1 1000| @ 12[M12 IM20|M16— 6 ——] 1000/ 350/ 800/ 500(165| 55| 1000(#16|M16|M20|M16— 6 — BP12-10001000-1000-14(1000 1158(\BP12-10001000-1000-18|1000 1158
BP11-10001000-1250-12] 1250 000) 3501800 500/ 165) 5511000 O 874| ~ [1375|| BP11-10001000-1250-16| 1250 g74|  |1375 1000/ 350{800{500|165| 55 | M20[ M16{1000 14 |150| & 1000|350{800(500165| 55 | M20| M161000| 18 [150( 6 ——
BP12-10001000-1250-14(1250 1375|BP12-10001000-1250-18|1250 1375

*Special Design Welcome !

*Special Design Welcome !

1-11 BASE SERIES BASE SERIES 1-12



LEAVE INDUSTRIAL ‘ .®
LEA'E
BP13 "

MODULAR TOOLING COLUMN _ @ : SUB-PLATE

o Material / Finish:

Material: Cast Iron FC300(JIS) / GG30(DIN)

Heat treated (Normalized)
o Application: Modular quick change subplate, use with BP13.
o Features: Ready to accept a hole pattern for your special jig.

© Material / Finish:
Material: Cast Iron FC300(JIS) / GG30(DIN)
Heat treated (Normalized)

o Application: Horizontal Machining Center.

o Features: Modular quick-change system, simple 3 point mounting
, use with BP14 & BP15 subplates.

o Eye bolt, top cover & side covers included.

BPA
A 1 002300 ] e
£ C
| A
+0.020
© ? © 20+0.007 .
CP.
s ° ‘ ° T 1 H N B N B 67 R
3 .- . ofile
< e I i Mi6 CapScrew hole 41082 VAR sy
NEE - . Figure K (Find in Page 7) Locating hole L [0.021300] Y]
o B ‘ ° D C10.02
é | | PT
- 5 e S
\ ARViAVAVANE l M16 Cap-Screw hole
a (Find in Page 7) ‘ ‘
Z
1 //10.021300 ‘ ‘ U o SVE
. [ To.021300] Y ~
K | B | Lu
vl 1 ‘ ‘
S ) p— T | | | o
‘Q_-j' I - - m
. Jou e @ ©
‘ 7 ‘ ‘ ‘ DK=
\_ ARG J | | | VISE
(@] 9 T ] O ‘
4 N ) . . |
‘ ‘ ! o JERS
‘ /M16 3-M16 ‘ ‘ I GENS
— /) |
T = O—-—-F-—-—0
- ‘ | / - | AVAvA
—_ I
o | e o | | — OTHER
3 - Colliipip
OD 0 A B » s g OD 0 A B » o g iur
dechnitdl]
BP13-400400-0450 | 400 | 130 | 400 | 50 | 320 55 | 350 | 70 4 125 BP14-40400-0400 | 400 400 40 350 350 370 5 46 I)a_i;' i
BP13-500500-0555 | 500 | 150 | 500 | 55 | 400 75 | 450 | 75 6 178 BP14-40500-0500 | 500 500 40 450 450 470 7 72
BP13-630630-0690 | 630 | 220 | 630 | 60 | 500 | 100 | 580 | 80 6 350 BP14-40630-0630 | 630 630 40 580 580 600 7 114
BP13-800800-0860 | 800 | 250 | 800 | 60 | 640 | 135 | 750 | 80 6 515 BP14-50800-0800 | 800 800 50 750 750 770 7 232
*Special Design Welcome ! *Special Design Welcome !

1-13 BASE SERIES BASE SERIES 1-14



LEAVE INDUSTRIAL ‘ .®
LEA'E

SUB-PLATE ' ROUND BASE PLATE

o Material / Finish:
Material: Cast Iron FC300(JIS) / GG30(DIN)
Heat treated (Normalized)
Alignment Bushing: SUJ2(JIS) / 100Cr6 (DIN), heat treated
Threaded Insert: S45C(JIS) / CK45(DIN), heat treated
MTP hole spacing: 50+0.02
o Application: Modular quick change subplate, use with BP13. B
o Features: Alignment bushing & thread insert at every hole — = 3PA
location, easily adapts to standardized jig components.

o Material / Finish:
Material: Cast Iron FC300(JIS) / GG30(DIN)
Heat treated (Normalized)
o Application: NC Rotary Table or Indexer.
o Features: Ready to accept a hole pattern for your special jig.

- 812508 - $16:0015 Vel
ST - |
7zl AL
el 7 17 7] 0025300
@ 4 D00 VADTZE:
A M12x1.75 M16x2 C 5040.02
Figure G |
+-—o- - - —o— - —t — _
sU
M16 Cap-Screw hole ¢30:8j839 //10.02/300 / \ S S
(Find in Page 7) Locating hole L [0.02/300] Y]
° C20.02 5 930 0020 P
] -930+0.007
I s Locating hole
o 00 & © o o
2 N - < i . SVE
6 6 6 6o 6 o o s o Spo—— 3
J J o]
|
~ |00 © © 00 © © 0 o _
L S
© O 90 e e @ & LY
| Yol
- @ ® \
. © © 00 O o e 93t
| ViSE
® O O 0 © © © B Cap-Screw hole
(Find in Page 7)
© O 0O e 9 @ JER®
GENS!
N
© O © v e 9 @ &
3. 4 5 .6 7 8 9
© 0 00 o © T : ; :
OTHER
‘ BP16-50-0300 300 M12 150 220 25 e
50£0.02 G -MTP
£0. hole BP16-50-0400 400 M12 250 320 40
- - BP16-50-0500 | 500 M16 300 400 65 o
MODELNO. A B C D E F G MTP hErFé; kgl MODELNO. A B C D E F G MITP hzrig"s kg BP16-50-0600 600 M16 400 500 95 M
CCHTCdl
BP15-40400-0400-12 400 400 |  |350[360[s70| 58 | 6 | 42| | BP1540400-0400-16 400 400| - |3s0[3g0[sro| [ |88 | 5 | 41 *Special Design Welcome ! Dt
BP15-40500-0500-12 | 500( 500|  |450 450470 o4 | 7 | 69| | BP15-40500-0500-16|500(500| ~ |450|450{470 0 |76
BP15-40630-0630-12 630] 630] 40 [ 580[ 380[ 600 | 1,| 138 | _ [108] | BP15-406300630-16630] 630] 40 580 s8oeoo| | [, | 138 | |105|
BP15-50800-0800-12  800{ 800 50 | 750|750 {770 250 | |220| | BP15-50800-0800-16(800( 800 | 50 |750|750{770 u6 | |215

*Special Design Welcome !

1-15 BASE SERIES BASE SERIES 1-16



LEAVE INDUSTRIAL ‘ .®
LEA'E

ROUND BASE PLATE

o Material / Finish:
Material: Cast Iron FC300(JIS) / GG30(DIN)
Heat treated (Normalized)
Alignment Bushing: SUJ2(JIS) / 100Cr6(DIN), heat treated
Threaded Insert: S45C(JIS) / CK45(DIN), heat treated
MTP hole spacing: 50+0.02

o Application: NC Rotary Table or Indexer.

o Features: Alignment bushing & thread insert at every hole

ROUND BASE PLATE

o Material / Finish:
Material: Cast Iron FC300(JIS) / GG30(DIN)
Heat treated (Normalized)

o Application: NC Rotary Table or Indexer.

o Features: T-Slots running in 2 directions, easily adapts to
standardized jig components.

L
location, easily adapts to standardized jig components.
[710.02/300 B+0.01 /7 10.02/300 BC
E+0.01 /70027300 o //T0.02/300
D
+0.020
90+0.02 ' — 4-820+0.007 D+0.02
Locating hole ‘ ‘ oo
@) — A-MTP | +0.020
/ hole — $30+0.007 —F
A D ) ) N A Locating hole
S Al ) ) SU
‘ ) I [ :‘,}
o
. 10,0 © © 3 . 1 i
g o g - S S g o o — s =t
9151076 o e . o
o
+0.020 L
© © © 5-$30+0.007 = 3 S\F
Locating hole U J-T Slots
\ @ @ 2 | : : \ I_
© AN AL
1 B Qap-Screw hole F Cap-Screw hole
(Find in Page 7) (Find in Page 7)
+0.018
61 2+o.025 +0.025 J 0 DKE
-~ To.o1s - $16+0.015 | VISE
< 1 © | +
e // V / JER
o | J ST
i S / | / GENS]
I
M12x1.75 Mi6x2 | T
Figure J
Figure A O ER
MODEL NO. A ] C D) E MTP kg MODEL NO. A ] (o3 D F (¢] J kg
BP17-50-0300-12 300 150 220 24 23 BP18-50-0300-14 | 300 250 150 22 T
$12 M12 M12 50 M12 75 14 jur
BP17-50-0400-12 400 250 320 44 42 BP18-50-0400-14 | 400 350 250 36 gechnicall
BP17-50-0500-12 500 300 400 68 70 BP18-65-0500-18 | 500 450 300 74 e
$12 M12 M16 65 M16 100 18
BP17-50-0600-12 600 400 500 96 98 BP18-65-0600-18 | 600 550 400 110
BP17-50-0600-16 600 400 500 96 95

*Special Design Welcome !

1-17 BASE SERIES BASE SERIES 1-18



LEAVE INDUSTRIAL ‘ .®
LEA'E

- SUB-PLATE M/C ANGLE PLATE
] © Material / Finish: o Material / Finish:
L - Material: S45C(JIS) / CK45(DIN) : 1 Material: Cast Iron FC300(JIS) / GG30(DIN)
II o Application: Multipurpose subplate. Heat treated (Normalized)
| il - ° Features: Ready to accept a hole pattern for your special jig. o Application: HMC / VMC
_ o Features: Ready to accept a hole pattern for your special jig.
P
Ly o
- —
' ti E] :\‘
E ) C
. E/2 | M16 Cap-Screw hole
| (Figure B) ; $26
710021300 @ @ @ ol CP.
A //'10.02/300 ‘ ‘ f | ‘
| v
C+0.02 o | ‘
T ‘ ‘ S
& | HE= v e |
U U )
@ @ L 7| 7| Figure B
D
+0.020 —
N 1£0.02 — 2-9D+0.007 PT
= ‘ ‘ Locating hole
I B ‘ G
| .
m I —F—& - - % - - T . 1 1
I I SV
(. | SV
I I
o o
I I
I I
@ I I
i i O] Au
< I I
I I
I I
E Cap-Screw hole } } } } .
(Find in Page 7) || || IRE
([ ([ VISE
F F /132
IS A R D B G x !
|
| c | f JERS
E ‘ ! GENS
ODEL NO A B D g ODEL NO A B D g MODEL NO. A B c D E F G H Mouwtng kg
BP19-30150-0200-12 | 200 100 100| 8.0 | BP19-30150-0200-16 | 200 100 100| 8.0 - - O
1501 30 | 12 [m12 100 1501 30 | 16 |16 100 BP20-220300-0300 | 300 | 300 | 220 | 100 | 250 % 20 30 5 50 hl
BP19-30150-0300-12 | 300 200 200 |11.0| | BP19-30150-0300-16 | 300 200 200 11.0 BP20-280400-0400 | 400 | 400 | 280 | 160 | 320 90
BP19-30200-0200-12 | 200 100 100 | 9.5| | BP19-30200-0200-16 | 200 100 100 | 9.5 BP20-340500-0500 | 500 | 500 | 340 | 200 | 400 90 35 165
200 30 | 12 [M12 100 200 | 30 | 16 [M16 100 50 6 column
BP19-30200-0300-12 | 300 200 200 |14.5| | BP19-30200-0300-16 | 300 200 200 |14.5 BP20-435630-0630 | 630 | 630 | 435 | 250 | 500 | 100 40 275 for
BP19-30300-0300-12 | 300 30 200 200 (21.5| | BP19-30300-0300-16 | 300 30 200 200|215 BP20-52 - 2 2 4 11 4 6 47 Fadinileal)
300 12 |12 200 300 16 |16 200 0-525800-0800 | 800 | 800 | 525 | 320 | 640 5 50 5 5 Dat
BP19-40300-0400-12 | 400 40 300 300(38.0| | BP19-40300-0400-16 | 400 40 300 300(38.0 *Special Design Welcome !
BP19-40400-0400-12 | 400 ail @ | Bl 300 o~ 300 |51.0| | BP19-40400-0400-16 | 400 ail @ | s 300 i 300(51.0
BP19-40400-0500-12 | 500 400 400(63.0| | BP19-40400-0500-16 | 500 400 400(63.0

*Special Design Welcome !

1-19 BASE SERIES BASE SERIES 1-20



LEAVE INDUSTRIAL |

LEAVE INDUSTRIAL ‘ .®
LEA'E

M/C ANGLE PLATE

o Material / Finish:
Material: Cast Iron FC300(JIS) / GG30(DIN)
Heat treated (Normalized)
Alignment Bushing: SUJ2(JIS) / 100Cr6(DIN), heat treated
Threaded Insert: S45C(JIS) / CK45(DIN), heat treated
MTP hole spacing: 50+0.02

o Application: HMC / VMC.

o Features: Alignment bushing & thread insert at every hole

M/C ANGLE PLATE

o Material / Finish:
Material: Cast Iron FC300(JIS) / GG30(DIN)
Heat treated (Normalized)

o Application: HMC / VMC.

o Features: T-Slots running in 2 directions, easily adapts to
standardized jig components.

BPRPA
location, easily adapts to standardized jig components.
$26 E
E uﬂ‘f 1‘ ‘r E/2 b C
E/2 M16 Cap-Screw hole ? ‘ | ‘ Mj6 Cap-Screw hole
i I i @ (Figure B) ‘ ‘ ‘ / (Flgure B) 026 +0.018
I I 0
@ ‘ ¢ ‘ [v] 218» @ ! @ ‘ LO** 1 ; V 1 CP
| f ! $ i
a i ‘ i Figure B a ‘ ‘ ‘ ‘ !
! ; ! o e o st ‘ ! ‘ ! ‘ /
o | I T 7 ol & Mo ‘ —
T T © // ‘ Z T J ‘ . é y, ‘ \ E 18 Figure J .'.‘1 L)
L J . J \ & L =
‘ A 8.7 .
L ? Mi2x1.75 | miex2 | L _ﬂ? q—f‘ L HTI" qL Figure B
Figure J | Ks002_|
B - . P
\ 8 - [Llownlv} G-
50:0,07 ‘_&‘ | | L] M ‘ ‘
- | - — W|w W i W|w N|M o
©co © 0. 06 © © o A:%‘F T;J,i:j{ii};i #%:, L
i 8 9 4|8 0 7 € . il 1 o ) i i | i L SV.E
OFO o @1@ o o o | JMPhoe 1 1 (O H 1 J-T Slot
e/ | ‘ | | ‘ | ‘ | ‘ | | ‘ | -1 Slots
0ot0 o olo o o | S| S G @
‘ i e o
srjece @ ele o o0 O < 1 5 ALy
@ | < Q P
B roco © 0|0 © © o S o | L
‘ i 1 i Y o e 1 i [
0510 0 0|0 © © © }‘} }‘} | l“ “l
‘ I I I I I r ',v—
Jrere o o ‘ @ © o o A:%# T;J,‘:lfi‘,:ii‘,%—:, ‘rif} L | ;j:-j ~
S L 1 L | Y | L 2 ~o
Er i S Ef A ;|x | ;|x | Mx 1|§ | *'1 ‘ E
‘ - c
| i JER®
: _ GENS
MODEL NO. MTP Mouting g MODEL NO. A B C D E F G H J K L Mg kg
BP21-220300-0300-12 | 300 | 300 | 220 | 100 | 250 30 50 BP22-220300-0300-14 | 300 | 300 | 220 | 100 | 250 53
90| 40 | 30 |12\ M12| 75 6 90| 60 | 30 | 14 | 100| 50| 6
BP21-280400-0400-12 | 400 | 400 | 280 | 160 | 320 56 87 BP22-300400-0400-14 | 400 | 400 | 300 | 160 | 320 101 BTHER
BP21-340500-0500-12 | 500 | 500 | 340 | 200 | 400 | 90 50 35 12| M12 75 90 6 173 BP22-350500-0500-14 | 500 | 500 | 350 | 200 | 400 | 90 | 60 | 35 14 100 | 50 6 170
BP21-435630-0630-12 | 630 | 630 | 435 | 250 | 500 | 100 40 40 | 144 300 BP22-450630-0630-14 | 630 | 630 | 450 | 250 | 500 | 100 | 65 | 40 125 | 65 295
BP21-525800-0800-12 | 800 | 800 | 525 | 320 | 640 | 115 | 50 | 45 | ¢12|M12| 75 | 240 | 6 | 477 BP22-550800-0800-14 | 800 | 800 | 550 | 320 | 640 | 115 | 75 | 45 | 14 | 150 | 100 | 6 | 566 }19:”1-””
BP21-220300-0300-16 | 300 | 300 | 220 | 100 | 250 30 46 BP22-220300-0300-18 | 300 | 300 | 220 | 100 | 250 51 gechnicall
90| 40 | 30 [416|M16| 75 6 90| 60 | 30 | 18 | 100 | 50| 6 Data
BP21-280400-0400-16 | 400 | 400 | 280 | 160 | 320 56 85 BP22-300400-0400-18 | 400 | 400 | 300 | 160 | 320 96
BP21-340500-0500-16 | 500 | 500 | 340 | 200 | 400 | 90 50 35 16 M16 75 90 5 170 BP22-350500-0500-18 | 500 | 500 | 350 | 200 | 400 | 90| 60 | 35 18 100 | 50 6 162
BP21-435630-0630-16 | 630 | 630 | 435 | 250 | 500 | 100 40 ¢ 40 | 144 295 BP22-450630-0630-18 | 630 | 630 | 450 | 250 | 500 | 100 | 65 | 40 125 | 65 285
BP21-525800-0800-16 | 800 | 800 | 525 | 320 | 640 | 115 | 50 | 45 |#16|M16| 75 | 240 | 6 | 470 BP22-550800-0800-18 | 800 | 800 | 550 | 320 | 640 | 115 | 75 | 45 | 18 | 150 | 100 | 6 | 555

1-21

BASE SERIES

*Special Design Welcome !

*Special Design Welcome !

BASE SERIES 1-22



LEAVE INDUSTRIAL ‘ .®
LEA'E

MC NARROW ANGLE PLATE

© Material / Finish:
Material: Cast Iron FC300(JIS) / GG30(DIN)
Heat treated (Normalized)

.
»

= '\’ !'

MC NARROW ANGLE PLATE

o Material / Finish:
Material: Cast Iron FC300(JIS) / GG30(DIN)
Heat treated (Normalized)

o Application: HMC / VMC.
o Features: Alignment bushing & thread insert at every hole
location, easily adapts to standardized jig components.

o Application: HMC / VMC.
o Features: Ready to accept a hole pattern for your special jig.

BRA"
BC
- #12:0018 - 51609058 F+0.04 50+0.02
L 1A 7
SE = Il By S ©® © © © CP
A |2 2 ] e e ———
M2 75 | Mg | | 8 (@ @ @ @
D Figure G
+0.025
c D c OE 10873 SU
r—j Location-Bolt hole
501002 L 00250V} —=="
|
{ P
@ |
© @
SVE
T MTP hole
® ®|
) &
a1 @
] ! < ALV
o
e RCARE
Figure E ‘
@ | © OKe
VISE
- |
o T179 @
\ A = N R
| J ST
©° =) <
Y] B ~ 1 GENS
* 1 \ A
v B
O
ODEL NO . : g MODEL NO. A B C D E F T MTP Mounting kg
BP23-180100-0300 300 180 100 40 14 BP24-180100-0300-12 | 300 | 180 10 6 12 Column
BP23-230100-0400 400 230 100 40 20 BP24-230100-0400-12 | 400 | 230 | 100 40 12 55 | 12| M12 | 14 8 19 'ﬁ{ai ical
111 Gl
BP23-280100-0500 500 280 100 40 25 BP24-280100-0500-12 | 500 | 280 18 10 23 Datd|
*Spec|a| Des|gn Welcome'! BP24-180100-0300-16 300 180 10 6 13
BP24-230100-0400-16 | 400 | 230 | 100 | 40 16 55 | 16| M16 | 14 8 20
BP24-280100-0500-16 | 500 | 280 18 10 24

*Special Design Welcome !

1-23 BASE SERIES BASE SERIES 1-24



® AN
LEAVE INDUSTRIAL ‘ . ) i ! LEAVE INDUSTRIAL
LEAE

RECTANGULAR CAST SECTION

© Material / Finish:
Material: Cast Iron FC300(JIS) / GG30(DIN)
Heat treated (Normalized)

o Application: Cast sections provide a fast & economical way to
make special jig components.

o Features: Ready to accept a hole pattern for your special jig.

RECTANGULAR CAST SECTION

o Material / Finish:
Material: Cast Iron FC300(JIS) / GG30(DIN)
Heat treated (Normalized)

o Application: Cast sections provide a fast & economical way to
make special jig components.

© Features: Alignment bushing & thread insert at every hole
location, easily adapts to standardized jig components.

BPA
G G 100+0.02 Ve
|
T T
AVAVAVA AVAVAVA N © @ & L AMTP hole
o
g1 O—0—& .
-— | -
€ @
9
i [//T002] S
| | |oo1]y e
| D+0.02
| E
! 100:0.02 35 100+0.02 oT
| | !
| | |
g[@ ® g S | 81O
- g,if P Se 3 J I R DR 3 4 I
Z1—4 & = o sH O | - ‘ SVE
— | P— | 3 |
I I T il T
' : +0.025
" | | AMTP hole B 1002
2 4 -— 4|— —] == o= — +|--—- -t Location-Bolt hole ALV
fui] P LW
9 i : 10040.02 9B 032
i T y | Location-Bolt hole
T T T
- = @ [
L aem | M e e
i §=] I I R I A IS
| J/|ne2 | g ‘%
| Jom]y -
+0.025 +0.025 @
- $12+0,015 — ©$16+0.015 T ‘ $20 ‘ 26 J E;\i_
; | 77 VIEJ\J’;
N V 1 i\ © V i % | 1 5|
0 o | e
- I 1 of 7 |~ e
G s S 00 a7
M12x1.75 | | M16x2 \ - $121008 u o160 O ER
Figure A Figure B
MODEL NO. A B c kg ODEL NG : . ; 5 Mounting Sellul
ol€ Jr
BP25-200150-0150 200 150 150 23 BP26-200150-0150-12 512 | M2 0 150 200 150 15 10 23 Eﬁﬁulm
Eli2s20lo0s0200 i) A 120 E0 BP26-250150-0200-12 200 250 21 14 28
BP25-300200-0250 300 250 200 % BP26-200150-0150-16 150 | 200 15 | 10 | 29
*Special Design Wel ! $16 | M16 16 150
pecial Design vvelcome BP26-250150-0200-16 200 | 250 21 14 30

*Special Design Welcome !

1-25 BASE SERIES BASE SERIES 1-26



LEAVE INDUSTRIAL ‘ .®
LEA'E

RECTANGULAR CAST SECTION RECTANGULAR CAST SECTION

\ '“a_—-* e | © Material / Finish: o Material / Finish:
| | Material: Cast Iron FC300(JIS) / GG30(DIN) Material: Cast Iron FC300(JIS) / GG30(DIN)
Heat treated (Normalized) Heat treated (Normalized)
o Application: Cast sections provide a fast & economical way to o Application: Cast sections provide a fast & economical way to
l: J [ | make special jig components. make special jig components.
\," A _'? o Features: Ready to accept a hole pattern for your special jig. o Features: Alignment bushing & thread insert at every hole
e location, easily adapts to standardized jig components.
BPA
B Cap-Screw hole v
G G i DA
o vy, @1 & |
sl 1 -~ i +0.015
& Location-bolt hole
0 \’ ) | ‘:; Ji_)
!
50+0.02
| //10.02
| _L Joo1]Y SU)
; 125+0.02
_ _ 20 T
! 50 A Threaded - %
‘ insert ‘ ¥
| B |
7@ I N o ‘ @ I @
SE—ejLe—* e - - reo+to—
o -0 1 © SH < o1 9 o
] | g |
ALV
> 8 1
32 g - - e i
B + S OK=
S 009 VISE
|
20 '
125 JER
+0.02 0.025 Zri-
- 1240072 - 916:0.015 14 P18 GENS'
//10.02 L | L | !
I Joot]y o \@ TR o { \w SN \W
h , I ~| i ‘ J |
NANEEN R§. L RINTEE NI\
' ‘ ‘ OTHER
$20 $26
Flgure C M12 Cap-Screw hole  M16 Cap-Screw hole
Figure B Columwn
_— iur
jechnicall
MODEL NO. kg MODEL NO. A B c kg Uiy
BP27-125098-125 6 BP28-125098-125-12 M12 M12 12 5.8
*Special Design Welcome ! BP28-125098-125-16 M16 M16 16 6.9

1-27 BASE SERIES

*Special Design Welcome !

BASE SERIES 1-28



LEAVE INDUSTRIAL ‘ .®

LEA'E
( B T
BP29 == .

CROSS TOOLING COLUMN S CROSS TOOLING COLUMN
- = .

o Material / Finish: pajY o Material / Finish:

Material: Cast Iron FC300(JIS) / GG30(DIN) e : Material: Cast Iron FC300 (JIS) / GG30 (DIN)

Heat treated (Normalized) | o Heat treated (Normalized)
o Application: Horizontal Machining Center. . _‘_ Alignment bushing: SUJ2(JIS) / 100Cr6(DIN), heat treated
o Features: Ready to accept a hole pattern for your special jig. - ‘ Threaded Insert: S45C(JIS) / CK45(DIN), heat treated
o Eye bolt & top cover included. e i MTP hole spacing: 50+0.02

~— o Application: Horizontal Machining Center.
o Features: Alignment bushing & thread insert at every hole BPA

location, easily adapts to standardized jig components.
o Eye bolt & top cover included.

B oz g 1 Jo027300] 7] 36
i S

- 81240008 - 61610005 CP.

J 7BV

’ i 0 T
W Lz ) .
M12x1.75 ‘ M16x2 ‘ ‘ - U

Figure T
M16 Cap-Screw hole

M16 Cap-Screw hole

> 1z I 37
Find in Page 7) | To.02/300 (Find in Page 7) P
| [0.02/300]| Y ( :
0021300 Y| /0021300 | Z

//710.02/300 /o020 2] //10.02/300 L [002/300]Y]
| [0021300] |2 I [0.02/300] Y L [0027300] ¥[Z] c
¢ c C H SVF
| | 50£0.02 L
‘ ||
% A ?Jg 9
@ @ @ @
QIO @ 0O 0 ALV
1 [EEe) N
0 o © o e o
(33 @ (o33 @
T-MTP hole o
< @ni ol A = @ni ® DK=
©co © S ©c® © |, —3-M16 JIGE
@si & w© @Bi ® JiSE
019 © © 5 0 ® o ©
i LU ‘_L L‘;?;L L) A ‘_‘
of [ ] o l 04|—|j o L] l - 4|—|j JERS
\ PAVAVAY | | EENS
FI|F E \ 25 N
E T T LU
Mounting OD O A B » 9 OD O A B » s
MODEL NO. holes . K9 OTHER
BP30-400400-0500-12| 500 64|  |152|  |BP30-400400-0500-16| 500 64| |15 eoAAEs
BP29-400400-0500 | 500 400 | 250 | 300 | 200 [ R A 154 400|250|320(200| 55|50(125|¢p12|M12 4 400250|320[200| 55/50(125¢16|M16 4 —
BP29.400400-0650 | 650 188 BP30-400400-0650-12| 650 88|  [186|  |BP30-400400-0650-16| 650 88| |184
BP30-500500-0600-12| 600 120|  [250|  |BP30-500500-0600-16| 600 120|247
BP29-500500-0600 | 600 500 | 300 | 400 | 250 o g 244 500|300(400(250| 75|50|150|#12[M12[— 8 500/300(400(250| 75|50|150|#16|M16|— 8 [— f*f”*””
- - - H - b Ui
FEe oo ol S BP30-500500-0750-12| 750 156|  [293|  |BP30-500500-0750-16| 750 156 [290 e
BP30-630630-0700-12| 700 192|  [368|  |BP30-630630-0700-16| 700 192|  |364 Data
BP29-630630-0700 | 700 630 | 350 | 500 | 315 | 100 | s0 | 200 8 373 630|350/500315(100|50{200|#12[M12 8 — 630/350/500315(100{50{ 200|416 M16 8 :
BP29.530630.0850 | 850 424 BP30-630630-0850-12| 850 240| ~ |418|  |BP30-630630-0850-16| 850 20| 413
BP30-800800-0800-12| 800 336| [640]  |BP30-800800-0800-16| 800 336|  [633
BP29-800800-0800 | 800 I e T . 648 e 800|500|640/400(135|50{300|412[M12—1 8 —— po— 800|500|640|400(135|50|300|#16|M16— 8 —
BP29-800800-1000 | 1000 — BP30-800800-1000-12 432| ~ |740|  |BP30-800800-1000-16 432 |733

*Special Design Welcome | *Special Design Welcome !

1-29 BASE SERIES BASE SERIES 1-30



LEAVE INDUSTRIAL ‘ .®
LEA'E

HEXAGONAL CUBE

© Material / Finish:
Material: Cast Iron FC300(JIS) / GG30(DIN)
Heat treated (Normalized)
o Application: Horizontal Machining Center.
o Features: Ready to accept a hole pattern for your special jig.
o Eye bolt & top cover included.

| [0021300[Z]

M16 Cap-Screw hole

(Find in Page 7) //10.02/300 | Z

L [0.021300] ]
C

MODEL NO.

Mounting

holes kg

BP31-400400-0500 | 500 151
400 | 250 | 320 | 200 | 55 | 50 | 144 | 4
BP31-400400-0650 | 650 183
BP31-500500-0600 | 600 233
500 | 300 | 400 | 250 | 75 | 50 | 173 | 8
BP31-500500-0750 | 750 272
BP31-630630-0700 | 700 361
630 | 350 | 500 | 315 | 100 | 50 | 202 | 8
BP31-630630-0850 | 850 408
BP31-800800-0800 | 800 | o | 500 | 640 | 400 | 135 | 50 | 280 | 8 |02
BP31-800800-1000 | 1000 713

*Special Design Welcome !

1-31 BASE SERIES

HEXAGONAL CUBE

o Material / Finish:
Material: Cast Iron FC300 (JIS) / GG30 (DIN)
Heat treated (Normalized)
Alignment bushing: SUJ2(JIS) / 100Cr6(DIN), heat treated
Threaded Insert: S45C(JIS) / CK45(DIN), heat treated
MTP hole spacing: 50+0.02

o Application: Horizontal Machining Center.

o Features: Alignment bushing & thread insert at every hole
location, easily adapts to standardized jig components.

o Eye bolt & top cover included.

| To.02/300
- 0120078 - 91610075
S AL < A1
{ 21 A
m - : &
lI7 7587
M12x1.75 M16x2
Figure T
A
7 M16 Cap-Screw hole
(Find in Page 7)
0.02/300 | Y
L -. //10.02/300| Z
H | 10.02/300 | Y
5020.02 - - . c |
co0o| @Y é @ oo o o o o o o
1 3
soo| @' ; @ |00 o o o o o o
000 @HZ @ |ooo o o o o o o
00 0| @6 ‘ @ |ooo E o o o o o o
00 0 @FZ @ o000 o o o o o o
|
< o 000 @EZ @ ooofT-MTPhO|e o o o o o o
g &0 @ |o v o o oo o o
é QCZ 3/ % 0 0 o o o o o o f 3-M16
ooo| @8 000 o o o o o o
§ o @A% @ |ooo © o o o o o /o ©
'-‘;’I ~— ‘ ~—
N1 e | = o [ 7
FI|F * f \ E |25 f
[v] | | |
OD O A = ) . OD O A = ) 0
BP32-400400-0500-12|500 96 149||BP32-400400-0500-16|500 96 147
400(250{320(200| 55(50|144|$12|M12 4 — 400{250{320{200| 55|50|144|#16|M16 —
BP32-400400-0650-12 650 132 180||BP32-400400-0650-16 650 132 177
BP32-500500-0600-12 600 180 228||BP32-500500-0600-16{600 180 224
500{300(400(250| 75|50{173|#12|M12—— 8 — 500(300(400(250| 75|50(173|¢16|M16— —
BP32-500500-0750-12(750 234 267/ [BP32-500500-0750-16|750 234 262
BP32-630630-0700-12|700 216 356||BP32-630630-0700-16{700 216 351
630/350{500{315|100|50|202|#12|M12—— 8 —— 630350(500(315|100{50(202|¢16|M16 — —
BP32-630630-0850-12 (850 270 407||BP32-630630-0850-16 (850 270 396
BP32-800800-0800-12 (800 420 609 [BP32-800800-0800-16|800 420 600
800(500(640(400(135|50|289|#12|M12—— 8 800(500(640(400(135|50(289|#16|M16—— ]
BP32-800800-1000-12 (1000 540 700(|BP32-800800-1000-16{1000 540 688

*Special Design Welcome !

R E] ’..\‘

SVE

ALV

OK=
VISE

JERS

GENS

O ER

Lolumn;
jur
gechnicall
Datal

BASE SERIES 1-32



'.g A F=t ] ; b
LEAVE INDUSTRIAL ‘ LEAVE INDUSTRIAL
LEA'E

> BP33
OCTAGONAL CUBE

© Material / Finish:
Material: Cast Iron FC300(JIS) / GG30(DIN)
Heat treated (Normalized)
o Application: Horizontal Machining Center.
o Features: Ready to accept a hole pattern for your special jig.
o Eye bolt & top cover included.

OCTAGONAL CUBE

o Material / Finish:
Material: Cast Iron FC300 (JIS) / GG30 (DIN)
Heat treated (Normalized)
Alignment bushing: SUJ2(JIS) / 100Cr6(DIN), heat treated
Threaded Insert: S45C(JIS) / CK45(DIN), heat treated
MTP hole spacing: 50+0.02

o Application: Horizontal Machining Center.

o Features: Alignment bushing & thread insert at every hole 3PA
location, easily adapts to standardized jig components.

o Eye bolt & top cover included.

i g T BC
—_
] 74@; é i\ - 812:95%8 - 61610075
o i ‘
AT 7T
S S °F
@ 7 ez
M12x1.75 M16x2 \
Figure T SU
7 M16 Cap-Screw hole 7 M16 Cap-Screw hole
L 0.02/300 (F|nd in Page 7) L (Find in Page 7) Pir
//10.02/300 //10.02/300 //10.02/300 | Z
| [o.02/300] Y]z m’ﬂ | ]0.02/300|Y|Z | ]0.02/300| Y
‘ C ‘ | |0.02/300] Y C C SVF
H E ‘ C ‘ H 90002
§ — 1 ] [ ]
{ o o @{ ? o o o o ?i‘ ? o o
‘ o o @l @ o o oo @J @ | o o
‘ o o @‘@ o o o o @‘@ o o AN
‘ [ @j @ | o o o o @j @ | o o
‘ oo | & : @ |o o oo | & ! @ | o o
‘ < o ° e @j@ ° ° | T-MTP hole ° e @j@ ° e
g ® ‘ © /‘?/9/ oo | & | @ |o o g re_
| é @j@ 0 o o @]@ o o /73'M16 3 _Jré,__‘__._
‘ ool ® @/ o o oo @@ | o f..A =45
| < | |
‘ % @] @ o o ‘d_)‘ ; ) @;] [} o/ o 2‘
Yol
N
L ST e e dd ! o [ FA—— JERS
\ F \ F * ! ‘ E \ ‘ 25 % GENS
MODEL NO. Mouning kg ODELNO. A B C D p'ng kgl MODELNO. A B C D p g kg
O
BP33-400400-0500 500 148 BP34-400400-0500-12|500 128 145| |BP34-400400-0500-16|500 128 142
400 250 320 200 55 50 103 4 400{250(320|200| 55(50{103|®12{M12 4 — 400{250(320(200| 55(50(103|416{M16 4 —
BP33-400400-0650 650 179 BP34-400400-0650-12|650 176 175||BP34-400400-0650-16|650 176 171
BP33-500500-0600 600 227 BP34-500500-0600-12|600 160 223| |BP34-500500-0600-16{600 160 219 Gol!
500 300 400 250 75 50 124 8 500(300(/400{250( 75|50(124|¢12|M12—— 8 [— 500{300/400(250( 75|50(124|¢16|M16—— 8 —— il
BP33-500500-0750 750 264 BP34-500500-0750-12| 750 208 259 |BP34-500500-0750-16 {750 208 255 'wa e
CCIIICd
BP33-630630-0700 700 350 BP34-630630-0700-12|700 192 345| |BP34-630630-0700-16{700 192 341 Dadtal
630 350 500 315 100 50 145 8 630[350(500(315|100(50{145|$12[M12— 8 — 630(350|500{315{100|50(145|¢16|M16— 8 —
BP33-630630-0850 850 395 BP34-630630-0850-12|850 240 389 |BP34-630630-0850-16 {850 240 384
BP33-800800-0800 800 622 BP34-800800-0800-12|800 448 611||BP34-800800-0800-16|800 448 601
800 500 640 400 135 50 207 8 800(500(640|400{135(50{207 |$12[M12—— 8 —— 800(500|640|400(135(50{207|#16|M16—— 8 —
BP33-800800-1000 | 1000 711 BP34-800800-1000-12 (1000 576 697/ |BP34-800800-1000-16 1000 576 685
*Special Design Welcome ! *Special Design Welcome !

1-33 BASE SERIES BASE SERIES 1-34



LEAVE INDUSTRIAL ‘ .®
LEA'E

H/CAST SECTION

© Material / Finish:
Material: Cast Iron FC300(JIS) / GG30(DIN)
o Heat treated (Normalized)
o Features: Easily adapts to standardized jig components.

H/CAST SECTION

© Material / Finish:
Material: Cast Iron FC300(JIS) / GG30(DIN)
o Heat treated (Normalized)
o Features: Easily adapts to standardized jig components.

1-35 BASE SERIES

t{ Fi}‘:\
A BC
A
50
M 50 50 M
l - | /o
| h ¢ .‘]
o |
| & 9 =1
|-
o g4 _ + __ 1 _ ~—————
0 o B . B B B
) [Te) o~
QO @ O 1 . b
A ]
| A o o o =
| =
N Cap-Screw hole
G P G N Cap-Screw hole PT
\VAVAV Avavavs
& ]
S | S ' SVE
= 9
] om
o
' [
ALY
& S
G G
A A OK=
VISE
_ iz - Mj6
o € N | £ : : i N 4 ! | $20 626 JERS
k | e ‘ o 8 o g o : GENS
N | ! B RN : | |
014 18 N |
Figure M (4] 1z Cap-Screw hole (4] 16 Cap-srew o . q); P Py
Figure N _Flgure M @ M12 Cap-Screw hole @ M16 Cap-Screw hole g f}.‘E‘\‘.
Figure N
Codlipaiy)
MODEL NO. A B C M \| kg MODEL NO. A B C M \| kg for
JEChmical
BP35-085085-0100-12 100 BP36-135085-0100-12 100 i
85 85 M12 | M12 | 3.64 135 85 M12 | M12 | 5.76
BP35-085085-0125-12 125 BP36-135085-0125-12 125
BP35-085085-0100-16 100 BP36-135085-0100-16 100
85 85 M16 | M16 | 4.13 135 85 M16 | M16 | 6.53
BP35-085085-0125-16 125 BP36-135085-0125-16 125

*Special Design Welcome !

*Special Design Welcome !

BASE SERIES 1-36



—————— e ‘Lm.®

H/CAST SECTION
* Material / Finish: WE CAN BUILD YOUR OWN SPECIAL DESIGN

Material: Cast Iron FC300(JIS) / GG30(DIN) UP TO 1500mm x 1500mm x 1500mm

o Heat treated (Normalized)
o Features: Easily adapts to standardized jig components.

E}:},‘\
BC
A
70 25 -
| i [ CP
o o). L
| S
o / ‘ 7/ S
ol wl +—- t—-— g o |
Figure M
|
D | O
T
S Vi
oL LL—J
G
| 35 |
G M ALV
%} & < ]
o
o
||
: gic
< VISE
o |
L
T
i JER=
GENS
o w0
, & [ BE
AVAVAY
G
[A]
OIFHER
colamn:
{eip
dechnicall
MODEL NO. Data
BP37-120180-0150-16| 120|150 | 180|150| 60 |135| 120(123| 50 (M16| 17 [15.5
*Special Design Welcome !

- AN AN J/

1-37 BASE SERIES BASE SERIES 1-38



-
J

1-39 BASE SERIES



HIGH STRENGTH ALUMINUM BASE SERIES

BPAO7~BPA12



= LEAVE INDUSTRIAL ‘ .® LEAVE INDUSTRIAL ‘ .®
LEA'E LEAE

SQUARE TOOLING COLUMN

© Material: High Strength Aluminum Casting.

o Application: Horizontal Machining Center.

o Features: Ready to accept a hole pattern for your special jig.
Eye bolt & Top cover included.

SQUARE TOOLING COLUMN

o Material: High Strength Aluminum Casting.

o Alignment bushing: SUJ2(JIS) / 100Cr6(DIN), heat treated
Threaded Insert: S45C(JIS) / CK45(DIN), heat treated
MTP hole spacing: 50+0.02 51

o Application: Horizontal Machining Center.

© Features: Alignment bushing & thread insert at every hole
location, easily adapts to standardized jig components.

o Eye bolt & Top cover included.

©

el
B 1 [o02300]Z] S 1 [002300]Z]
‘ D | ‘ ‘
\vavavA il ‘ \vavavA ‘ l\
7/65 é i& f,AQS é ) - 012007 - 91610015
L n ‘o)
gy e T
| | o
oo tled —e—".1lel o A +&f-———~1TO7 | L ! ﬂ
N 4 N 4 T T
| | 1o -
. { . o f g Figure T
r ke
N \ S S
A M16 Cap-Screw hole M16 Cap-Screw hole
B (Find in Page 7) B (Find in Page 7) N
0.02/300] Y 0.02/300] Y
1 T002500]v] L [oczs0o]v] JTooza]zZ]
//10.02/300 //]0.02/300] 2 //10.02/300 L [o02r300]Y]
_| |0.02/300|Y |z [ To.02/300]Y _| |0.02/300|Y|Z ] SVF
‘ C ‘ ‘ C ‘ | C | 500,02
| ‘ | | ‘ | ‘ ‘
@?g?? @?29?
60 00 o © 0 o @ o
[oLRCS ® ® [oXRC] © © AR,
E@e@ @@3 E@e@ @@3 )
o0 © © @ ©® 0 @ o
< @E@i@@ ,— T- MTP hole o @EQiQ@
€0 © 0 Z/ = © 0 © @ o -
00 © © Sit+-o:0 © © 0 |/ N D=
fre VISE
@a@i@@ @s@i@@ ISE
‘ ©.© © 0 ® . = o0 © @ OOL
J Al o | ~
| + |
© il 04‘—‘4 ‘L{‘)L ‘5,"—'1[ JER
\ 4 J L ‘ $ = L ‘ ‘ ? “l,:"""-
v FIF B |l 2 GENS!
Mounting = p Mount { = p|Mount {
MODEL NO. holes o]» O B » in OD 0 B » in .
ODTHER
BPA07-400400-0500 500 56 BPA08-400400-0500-12 {500 128 54|| BPA08-400400-0500-16 | 500 128 54 R
400 | 250 | 320 | 200 55 | 40 4 400(250(320/200| 55|40|#12|M12 4 400(250(320/200| 55|40|¢16|M16 4 —
BPA07-400400-0650 | 650 73 BPA08-400400-0650-12 | 650 176 73|| BPA08-400400-0650-16 | 650, 176 73
BPA07-500500-0600 600 91 BPA08-500500-0600-12 {600 200 88| | BPA08-500500-0600-16 | 600, 200 88 Al
500 300 400 250 75 40 8 500(300(400|250| 75|40(412|M12—— 8 — 500{300(400{250| 75|40|16|M16—— 8 — :"u‘”u
BPA07-500500-0750 750 122 BPA08-500500-0750-12 | 750 260 122|| BPA08-500500-0750-16 | 750 260 122 'wa ARical
CCHTCdl
BPA07-630630-0700 | 700 129 BPA08-630630-0700-12 | 700 288 126| | BPA08-630630-0700-16 | 700 288 123 Data
630 | 350 | 500 | 315 | 100 | 50 8 630{350{500|315|100{50 {412 |M12 8 — 630(350{500|315|100{50|¢16 |M16 8 —
BPA07-630630-0850 850 180 BPA08-630630-0850-12 | 850 360 180|| BPA08-630630-0850-16 | 850 360 180
BPA07-800800-0800 | 800 215 BPA08-800800-0800-12 | 800 504 204| | BPA08-800800-0800-16 | 800| 504 201
800 500 640 400 135 50 8 800(500(640(400(135|50({12|M12—— 8 — 800(500(640(400|135|50({16|M16—— 8 —
BPAQO7-800800-1000 | 1000 312 BPA08-800800-1000-12 (1000 648 312|| BPA08-800800-1000-16 (1000 648 312

*Special Design Welcome ! *Special Design Welcome !

2-1 HIGH STRENGTH ALUMINUM BASE SERIES HIGH STRENGTH ALUMINUM BASE SERIES 2-2



i

— LEAVE INDUSTRIAL ‘ .® i 1 LEAVE INDUSTRIAL
LEA'E

SQUARE TOOLING COLUMN

© Material: High Strength Aluminum Casting.

© Application: Horizontal Machining Center.

o Features: T-Slots running horizontally, key-way running
vertically, easily adapts to standardized jig components.

o Eye bolt & Top cover included.

DOUBLE SIDED TOOLING COLUMN

o Material: High Strength Aluminum Casting.

o Application: Horizontal Machining Center.

o Features: Ready to accept a hole pattern for your special jig.

o Eye bolt & Top cover included. B

B BC
| . - LTaozn[2 s T Tocz00]2)
| ‘ g ‘ ‘
77/@ é © /‘ | i\
I%I J +(§).018 +00.018 | @ é @ : :‘)
OOl 127 7
al o +&p-—o— @O | ‘ ‘ ]\(
00 . . (=
i % | . | , SU
- T Figure K Figure J
N\ | —\@
BAS % M16 Cap-Screw hole ? %
il (Find in Page 7) M j6 Qap-Screw hole g
7 | (Find in Page 7) !
| [0.021300]Y] ZL-o 021300] Y]
. //10.02/300 | Z
// 10.02/300 //10.02/300| Z L 0.02/300] Y
_| |0.02/300]Y |z _| |0.02/300| Y H C
‘ ‘ i i SVF
‘ | |
3 .‘\[J “I
) <C I !
<
’ ‘ ‘ a o K=
| ‘ ‘ VAISE
(oo} [ee]
© } ! = ‘ / ‘-‘
o [] Jol Ll o T o] F/A—
‘ ! £l e Als JERS
o Y] GENS
OD 0 A B » g kg o]» O A B » LC OD 0 A B » i .
OIHER
BPA09-400400-0500-14 | 500 61| | BPA09-400400-0500-18 | 500 60 BPA10-400400-0500 | 500 62
400 250(320(200| 55|40|100(14| 4 400(250|320|200| 55|40|100(18| 4 400 | 150 | 320 | 200 55 40 400 4
BPA09-400400-0650-14 | 650 84 | | BPA09-400400-0650-18 | 650 84 BPA10-400400-0650 | 650 86
BPA09-500500-0600-14 | 600 001300 4001 250 | 751401 100114 8 86| | BPA09-500500-0600-18 | 600 003001 400! 250! 75140 (1001 18| 8 85 BPA10-500500-0600 | 600 500 | 200 | 400 | 250 75 | 40 500 6 96 Column
5 5 — 5 5 — =
BPA09-500500-0750-14 | 750 127 | | BPA09-500500-0750-18 | 750 135 BPA10-500500-0750 | 750 135 I;JI‘ il
Fediafles
BPA09-630630-0700-14 | 700 136 | | BPA09-630630-0700-18 | 700 135 BPA10-630630-0700 | 700 176 gﬁj':“ é
630(350(500(315(|100| 50 | 125|14| 8 [—— 630|350 500(315(100|50(125|18| 8 — 630 | 250 | 500 | 315 | 100 50 630 6 N
BPA09-630630-0850-14 | 850 183 | | BPA09-630630-0850-18 | 850 183 BPA10-630630-0850 | 850 202
BPA09-800800-0800-14 | 800 260 | | BPA09-800800-0800-18 | 800 254 BPA10-800800-0800 | 800 217
800 | 500 | 640|400|135| 50 | 150| 14| 8 [—— 800|500 | 640 {400 | 135| 50 | 150 (18| 8 —— 800 | 300 | 640 | 400 | 135 50 800 6
BPA09-800800-1000-14 (1000 319 | BPA09-800800-1000-18 [1000 319 BPA10-800800-1000 | 1000 318
*Special Design Welcome ! *Special Design Welcome !

2-3 HIGH STRENGTH ALUMINUM BASE SERIES HIGH STRENGTH ALUMINUM BASE SERIES 2-4



= LEAVE INDUSTRIAL ‘ .® fir Vg =t LEAVE INDUSTRIAL
LENE

T BPA11
. * ’ g B R e ® X +
* &
loaases? : : 2 DOUBLE SIDED TOOLING COLUMN DOUBLE SIDED TOOLING COLUMN
g B ®E
i _' L g ¥ °E P o Material: High Strength Aluminum Casting. o Material: High Strength Aluminum Casting.

|® ® ¥ en EE 5 * o Alignment Bushing: SUJ2(JIS) / 100Cr6 (DIN), heat treated o Application: Horizontal Machining Center.

® ¥ Ll i e Threaded Insert: S45C(JIS) / CK45(DIN), heat treated o Features: T-Slots running horizontally, key-way running

= ® # P i e MTP hole spacing: 50+0.02 vertically, easily adapts to standardized jig components. B
. 50 . "_ g ¥ » o Application: Horizontal Machining Center. o Eye bolt & Top cover included.

. * ¢ 0% o Features: Alignment bushing & thread insert at every hole

location, easily adapts to standardized jig components.
o Eye bolt & Top cover included.

B ) C
8 1 [o02300]2] - [ [00z7300]Z]
D ‘ ‘
\ ‘ \ \ ‘ i\
i,/@; é 3@% - #1201 - 016:0.018 74 é P @ 0018 CP.
L L +0.018 + -
« T o 7 #/ S0
. * - © % ‘ V - ! A4 “i" - ‘C_> ‘// ‘ W :
- ol L DAm N 2107 4 A o o [ Do) 7 A
I3 iR\ 287 1L o |
. . . M12x1.75 miex2 | | . 2+ . % i | S|
Figure T o ‘ Figure M Figure J
‘ M16 Cap-Screw hole M16 Cap-Screw hole )
i (Find in Page 7) : (Find in Page 7) 24
z //10.02/300 | Z
| [0.021300] Y| //]0.021300] Z _| J0.02/300] ¥
H _| [0.02:300 Y | H | ¢
5010.02 . A | | ‘ | SVE
| ‘ . ‘ ”””””””””””””” -3 ‘ =
fiekeciellogapelope 5 N A B m ************* |
ere e e6e0o | = 1y £
©1® © 6 ©0 606 6 0 J-T Slots
ce@O@O@OQ@OQOGOO X K’k e JU 7% o ALY
00 66 00606 6 O < [ 1 g
0000000006 o || S
r T- MTP hole 2Ly o
<§ 000000000,/ | | (e /S-N
Y | N e )
= 00000600600 T Ry S| — . L ° OK=
©:0 © 6 0|66 0 6 o ﬁ © 3 © ViSE
I 100 00 0looeo ol o ! - 3 ‘ ‘_‘ -
o
ﬁ : T ‘ ‘ - \ © | ° ! ° 1 ‘L{—)i ‘ ;lzlj
I T i y— o [T |[£ —FF ! FLF e |l ?
A | | Y] ‘ H JER
FlF] e 2 250
E ‘ H GENS
OD 0 A B D . OD 0 A B » g OD 0 A B » '_- g OD O A B » ': g
BPA11-400400-0500-12 | 500 128 56| | BPA11-400400-0500-16 | 500 128 60 BPA12-400400-0500-14| 500 60 | |BPA12-400400-0500-18| 500 60 O ER
400{150(320{200| 55|40|400|¢12{M12 4 400|150|320(200| 55|40(400|¢516{M16 4 400{150(320/200| 55| 40 [400| 14 |100| 4 —— 400{150(320/200| 55| 40 [400| 18 |100| 4 ——
BPA11-400400-0650-12 | 650 176 86| | BPA11-400400-0650-16 650, 176 86 BPA12-400400-0650-14| 650 92 | |BPA12-400400-0650-18| 650 92
BPA11-500500-0600-12 | 600 200 91| | BPA11-500500-0600-16 | 600 200/ 103 BPA12-500500-0600-14| 600 87| |BPA12-500500-0600-18| 600 86 .
500/200(400(250| 75[40(500|12({M12—— 6 — 500{200|400(250| 75(40|500|p16{M16[—— 6 —] 500(200{400{250| 75| 40 |500( 14 [100| 6 —— 500(200{400({250| 75| 40 |500( 18 [100| 6 —— ‘_“‘M"””
BPA11-500500-0750-12 | 750 260 135| | BPA11-500500-0750-16 | 750 260 135 BPA12-500500-0750-14| 750 142 | |BPA12-500500-0750-18| 750 142 jur
gechnicall
BPA11-630630-0700-12 | 700 288 154| | BPA11-630630-0700-16 | 700 288 170 BPA12-630630-0700-14| 700 165 | |BPA12-630630-0700-18| 700 163 Dj‘ _if:,“ b
630{250|500{315|100|50|630| 12 M12 6 630|250(500|315|10050|630|¢16(M16 6 630|250(500(315(100| 50 |630| 14 {125| 6 —— 630(250|500( 315(100| 50 |630| 18 {125| 6 ——
BPA11-630630-0850-12 | 850 360|  |202| | BPA11-630630-0850-16 | 850 360 202 BPA12-630630-0850-14| 850 212 | |BPA12-630630-0850-18| 850 212
BPA11-800800-0800-12 | 800 420 214| | BPA11-800800-0800-16 800 420 210 BPA12-800800-0800-14| 800 243 | |BPA12-800800-0800-18| 800 240
800/300(640(400|135(50(800|412({M12—— 6 —— 800(300|640(400|135(50|800|416{M16[—— 6 — 800(300(640(400{135( 50 |800| 14 |150| 6 —— 800(300(640(400{135| 50 {800 18 [150| 6 ——
BPA11-800800-1000-12 (1000 540 318| | BPA11-800800-1000-16 {1000 540 318 BPA12-800800-1000-14/1000 325 | |BPA12-800800-1000-18|1000 325
*Special Design Welcome ! *Special Design Welcome !

2-5 HIGH STRENGTH ALUMINUM BASE SERIES HIGH STRENGTH ALUMINUM BASE SERIES 2-6



2-7 HIGH STRENGTH ALUMINUM BASE SERIES



s
W
<
O
Q.
=
O
Q
L)
<
Q




LEAVE INDUSTRIAL

' BCO1

H-SECTION

BCO3

LEAVE INDUSTRIAL

RECTANGULAR HOLLOW BLOCK

> -
//10.02/100 e //10.02/100 B!
| 10.02/100 | Y e | : | To.021100]Y
N 1
o
A S A c
C -
D
o *E‘i BRA
> 777777777777777777777777777
>
= o ]
He WD N
© Material : Cast Iron. © Material : Cast Iron.
FC-300 (JIS ) FC-300 (JIS) _
GG-30 (DIN ) GG-30 (DIN) CP.
o Heat treated : Normalized © Heat treated : Normalized
MODEL NO. A B (o D E kg .
BC01-063063-200 63 63 200 12 25.5 2.8 MODEL NO. A B (od D kg 51U
BC01-080080-200 200 4.8 BC03-080100-200 200 7.0
80 80 16 32.0 100 80 16
BC01-080080-400 400 9.6 BC03-080100-400 400 14.0
BC01-125125-200 200 9.6 BC03-100160-200 200 11.6
125 125 20 52.5 160 100 18
BC01-125125-400 400 19.3 BC03-100160-400 400 23.2 P:
BCO02 BC04
ALY
//10.02/100 //10.02/100
| |0.02/100|Y 2 | Jo.021100] Y OK=
N e
o Ny =
A =} A c VASE
=~ C bl
D ’7 -
[ T JER=
fffffffffffffffffffffffffff @ GENS)
o ol | v
fffffffffffffffffffffffffff
OTHER
© Material : Cast Iron. © Material : Cast Iron.
FC-300 ( JIS ) FC-300 (JIS))
GG-30 (DIN) GG-30 (DIN) coramn
@ Heat treated : Normalized o Heat treated : Normalized jur
gechnicall
MODEL NO. A B c D kg Data)
BC02-063063-200 63 63 200 12 2.3
BC02-100100-200 100 100 200 16 8.0 MODEL NO. A B (o] D kg
BC02-100100-400 400 16.0 BC04-063100-200 100 63 200 16 4.5
BC02-160160-200 160 160 200 20 16.5 BC04-063100-300 100 63 300 16 6.8
BC02-160160-400 400 33.0 BC04-090160-300 160 90 300 20 13.0

3-1 BASE COMPONENTS BASE COMPONENTS = 3=2



© Material : Cast Iron.
FC-300 (JIS)
GG-30 (DIN)

o Heat treated : Normalized

LEAVE INDUSTRIAL

BCO5

U-SECTION

| 10.02/100|Y
// 10.02/100

LEAVE INDUSTRIAL

//10.021100] Y|
i
4,

f
(@]

[a]
e M NN by
MODEL NO. A B Cc D kg
BC05-063063-200 200 3.2
63 63 14
BC05-063063-400 400 6.5
BC05-100100-200 200 7.7
100 100 20
BC05-100100-400 400 14.8
BCO05- - .
C05-150150-200 150 150 200 25 14.0
BC05-150150-400 400 29.0

© Material : Cast Iron.
FC-300 (JIS)
GG-30 (DIN))

@ Heat treated : Normalized

3-3

BASE COMPONENTS

BCO6

HEAVY DUTY L-SECTION

1 Jooz0o]v]

‘ C
m
()]
A
MODEL NO. A B C D kg

BC06-080063-200 200 3.6

63 80 20
BC06-080063-400 400 7.2
BC06-125100-200 200 7.3

100 125 25
BC06-125100-400 400 15.0
BC06-200160-200 200 15.0

160 200 32
BC06-200160-400 400 31.0

© Material : Cast Iron.
FC-300 (JIS)
GG-30 (DIN)

© Heat treated : Normalized

o Material : Cast Iron.
FC-300 (JIS)
GG-30 (DIN)

o Heat treated : Normalized

L-SECTION

//10.02/100
| [0.02/100| Y
D ‘ C ‘
|| - BRA
o
9|
A
Z— |
.
cP.
MODEL NO. A B c D kg SU
BC07-063063-200 200 2.3
63 63 14
BC07-063063-400 400 4.5
BC07-100100-200 200 5.2
100 100 20
BC07-100100-400 400 10.4 P
B C08 SV.F:
ALY
c -
K-
B E_ VISE:
_ m i Il
| | |
I I
| | | JER-
& ‘ ‘ ‘ GENS
D T i T
A F DTHER
GoItmm|
jur
gechnicall
MODEL NO. A B c D E F kg

BC08-125100-150 | 100 | 125 | 150 22 18 - 5.3

BC08-125100-300 | 100 | 125 | 300 22 18 150 | 11.0

BASE COMPONENTS = 3-4



LEAVE INDUSTRIAL

LEAVE INDUSTRIAL

BCO9 " BC12

WEBBED T-SECTION UNEQUAL L-SECTION

//10.02/100

L [0.02/100] Y] c [//To0zr100
E F F |_L_[0.021100[ Y]
i i L L L ‘D‘ C Es‘:[‘-“\
i | | | ] | |
| | |
o . . .
| | | .
| | |
G
7 A

DJ
© Material : Cast Iron. A > 7] Y] ‘ ‘ © Material : Cast Iron. ]
Y

FC-300 (JIS) v FC-300 (JIS) .
GG-30 (DIN) GG-30 (DIN) CP
o Heat treated : Normalized © Heat treated : Normalized

S
MODEL NO. A B Cc D kg
MODEL NO. A B C F (¢] H | kg BC12-063050-200 50 63 200 14 2.0
BC09-100100-150| 100 | 100 (150 | 20 | 37 | 12 | = | 80 | 63 | 4.4 BC12-063050-300 50 63 300 14 3.0
BC09-100100-300| 100 | 100 | 300 | 20 | 37 | 12 [ 150 | 80 | 63 | 8.7 BC12-063050-500 50 63 500 14 5.0 P

BC10

STEEL RECTANGULAR PLATE : ' ANGULAR HOLLOW BLOCK 45°

BC13 593

ALY
| B | C E C
| — OK=
VISE
< F: QS
“ JER-
> GENS
S S J
OTHER
© Material : Cast Iron. o Material : Cast Iron.
FC-300 (JIS) FC-300 (JIS)
GG-30 (DIN ) MODEL NO. A ) c kg GG-30 (DIN) Colusn
@ Heat treated : Normalized BC10-20100-100 100 16 o Heat treated : Normalized ,“.fr. -
100 20 1 ECINICd
BC10-20100-150 150 2.3 Datal
BC10-25150-200 = 200 e 5.9 MODEL NO. A B (o3 D E F kg
BC10-25150-250 250 7.3 BC13-100100-150 100 100 150 14 10 127 4.5
BC10-25200-200 200 200 25 7.8 BC13-100100-300 300 8.8
BC10-25200-250 250 9.8 BC13-200200-150 200 200 150 29 20 255 15.0
BC10-25250-250 250 250 25 12.0 BC13-200200-300 300 29.0

3-5 BASE COMPONENTS BASE COMPONENTS ~ 3-6



© Material : Cast Iron.
FC-300 (JIS)
GG-30 (DIN)

o Heat treated : Normalized

ANGULAR HOLLOW BLOCK 30°

EAE

%m

PR s N O
S D ) m
) * ____________________
JAVAVAN
o
R f
[v]
MODEL NO. A B c ») E F kg
BC14-100063-150 150 3.0
63 100 12 9 108
BC14-100063-300 300 6.0
BC14-200125-1 1 y
c 00125-150 125 200 50 20 14 222 9.5
BC14-200125-300 300 19.0

3-7

BASE COMPONENTS



4
<
Q.
Q.
=
N
O




LEAVE INDUSTRIAL

LEAVE INDUSTRIAL

U-CLAMP

GOOSE NECK CLAMP

H G Shig

) ng:z: / 'gzliisg(JIS) / CK45(DIN) ‘ o Material / Finish :
om0 | Material : S45C(JIS) / CK45(DIN)
o Heat treated : HRC 32°~38°. ! Heat treated : HRC 32°~38°
o Surface finish : Black Oxide. © Heat treated : ~38".
o Features : Open end permits quick & easy / o Surface finish : Black Oxide.

e

B
E
-
N,
B
(N LT\
\/C\\
./

installation. o %\ o Features : Low profile design helps eliminate
F cutter interference. &f
L O ]
| o :
PTPOT704 MODELNO. A B C D E F G kg e PTo7 D
PT04
CPO1 CPO1-12100) 100 | o | 22 | | . 5 |81 | 041 ] [CP% ‘
i } CP01-12125| 125 25 106 | 0.58 _Fl‘ . }
; = CP01-16150| 150 125 | 1.10 LI Y -suto i
/SUT0 CP01-16200| 200 | 50 | 32 | 165 | 17 8 | 175 | 1.40 | 1 SU
1] CP01-16300| 300 275 | 1.55 - || ‘ || /pT22 ODELNO. A B D g
SU01\ B -] PT22BP CPO1-20200) 200 | | o | oo | oy | 4o 170 ] 210 SU01—=] mL® /BP CP03-12120| 120 | 36 | 30 | 102 | 16 | 17 | 50 | 45 | 13 | 0.49
— - CP01-20300| 300 ' 270 | 2.70 NIV CP03-16150 | 150 | 48 | 48 | 130 | 25 | 25 | 55 | 60 | 17 | 1.30
\5\ \L% CP01-24250| 250 | 76 | 48 | 250 | 26 | 18 | 212 | 355 N \ CP03-20175| 175 | 60 | 60 | 150 | 30 | 30 | 65 | 70 | 21 | 2.26 DT

' CP04

TAPPED END U-CLAMP

A ALV
B
- L |
_ | DK=
\\ D
e “JL N Y m VISE
o Material / Finish : - | |
. . RN
Material : S45C(JIS) / SK4§(DIN) o Material / Finish : \ c F .
* Heat treated : HRC 32°~38". Material : S45C(JIS) / CK45(DIN) J23-
. . ENC
o Surface finish : Blz?ck .OX|de.. o o Heat treated : HRC 32°~38°. GEINS
o Features : The cylindrical pln. minimizes M o Surface finish : Black Oxide. O]
conta(?t ar.ea an‘d is useful for o Features : Open end design permits easy 1
clamping in horizontal holes assembly.
& round profiles . < T = OTHER
[ MODELNO. A B c ) E F G kg
CP04-12075 | 75 60 35 19 | 0.31
- CP04-12100 | 100 85 60 | 38 13| M2 | o | 052
PTO7 CP04-12125 | 125 | 110 85 0.64 GoItmm|
PTO4 CPO4-14100 | 100 | 84 | 64 | o | o | 0| . [ 039 Al
AT TR TE = ) cPo4 CP04-14150 | 150 | 134 | 89 0.62 faiz]
D 9 Datal
CP02-12150 | 150| 38 | 15| 20 | 70 | 25 | 30 | 18 | 13| 22 | 4 |M12|0.58 JUf ; I I gggi::gg 122 132 ‘;2 50 17 M16 25 g;g
Il 1 -
CP02-16150 | 150 40 1.12 PTO7 -
cE e 48 | 20 | 25 o0 35|40 |24 |17 (32| 5 M16m oA CP04-16150 | 150 | 130 95 1.06
- : PT29 CP04-18150 | 150 | 130 & | 19 | wis | a2 195
CP02-20200 | 200 60 2.22
60 [ 30 | 35 | —— 40 | 50 | 28 | 21 [ 35| 6 |M20{——] suo14| s / Vi CP04-18200 | 200 | 180 | 127 1.45
CP02-20250 | 250 110 2.74 CP04-20150 | 150 | 130 | 95 1.46
60 21 | M20 | 32
\\ CP04-20200 | 200 | 180 | 145 1.85

4-1 CLAMPPARTS CLAMP PARTS 4=2



LEAVE INDUSTRIAL

LEAVE INDUSTRIAL

SLOTTED END CLAMP STRAP

A
C D
D B
Il
{ T
! | /
L) ? ~N - =
) o (D i
} U & & 77777777 */t:::ii BRA)
| o Material / Finish : N
‘ Material : S45C(JIS) / CK45(DIN)
o Material / Finish : % > Heat treated : HRC 32°~38°. E G
© Material : S45C(JIS) / CK45(DIN) ) | °Surface finish : Black Oxide.
o Heat treated : HRC 32°~38°. I ‘ @ Application : Locating slot keeps clamp { oL
o Surface finish : Black Oxide. ? properly oriented. OL( ‘ | o]
| |1
MODELNO. A B C D E F G H kg
PTO7 CP05-12065| 65 | 20.0 | 25 | 20.0 10 | 13 022 il
PTo4 CP05-12100| 100 | 30.0 | 40 [30.0| 13| 32 0.33 BT08 MODELNO. A B C D E F G H kg
CPO5 CP05-12150| 150 | 49.5 | 51 | 495 25 | 15 | 048 f &/ cPo7 CP07-12065| 65 32 | 14 0.26
(]’ BRI ’h CP05-16080| 80 | 28.0 | 24 | 28.0 oy | 14 1034 ] 4 CP07-12080| 80 | 32 | 22 | 48 | 25 | 13 | 7 | 10 |0.31
T CP05-16125| 125 | 42.0 | 41 |420| 17 | 38 0.57 D pro7 CP07-12100| 100 60 | 40 0.38 _
\ CP05-16150| 150 | 51.0 | 48 | 51.0 25 | 15 | 068 ! v CP07-16080| 80 22 | 40| 17 0.38 SU
CP05-20100| 100 | 34.0 | 32 [ 34.0 22 | 14 |04 71 CP07-16100| 100 | 38 55| 30 | 17 | 8 | 12 053
SUOT— BP CP05-20125| 125 | 425 | 40 |425| 21| 38 0.62 SUOT—| BP CP07-16125| 125 25 [ 70 | 45 0.65
25 | 15
SN i CP05-20150| 150 | 51.0 | 48 | 51.0 0.82 i Lﬁl/ CP07-20150| 150 | | 25 | 82| 50 | | [ [110
L&?\\ CP05-24150| 150 | 51.0 | 48 [ 51.0| 26| 50 | 32 | 19 [ 1.14 N S CP07-20200| 200 32 [ 112 ] 80 1.40 5T

' CPOS

SWING CLAMP

TAPPED CLAMP STRAP

ALV
A —
F
O]
D
DK
i inish : pd VISE
o Material / Finish : | | =
Material : S45C(JIS) / Ck45(DIN) ) 4 Yy o
o Heat treated : HRC 32°~38°. \; ;J
° Surface finish : Black Oxide. N ¢ Material / Finish : JER-
o Application : Use with various knobs, jack E H Material : SCM-4(JIS) GENS
screws, clamps & pads; such as o Heat treated : HRC 38°~42°. -
PT29. ‘ ‘ ‘ o Surface finish : Black Oxide. €
! : } H : H o Application : Multipurpose swing clamp, 9l
o | ‘ ‘ | I ‘ I available with plain or threaded toe. o ATHE:
1 — L o Features : A small clamp with good holding o s
pr07 power, ideal for tight spaces, full
MODEL NO. A B C D E F G H kg swing a way featute permits easy ‘
|/ PTo4 . part loading . ol
/~CPoe CP06-12065 | 65 32| 14 | 52 0.22 : Suluuy
S — jur
o n(-ﬂl CP06-12080 80 | 32 19 48 | 25 69 | 13 [ M12 | 0.27 4—17F |~ fechmeall
PTO7 CP06-12100 | 100 60 | 40 89 0.33 Datal
‘ CP06-16080 | 80 19 | 40| 17 | 65 0.32 ODEL NO ; z J 9
PT29 CP06-16100 | 100 | 38 | 25 | 55| 30 | 85| 17 | M16(0.53 CP08-1240-29 | 30 | 28 | 16 | 40 | - |[M12| 29 | - | 22 [o029
SUO0T— /BP CP06-16125 | 125 25 70 | 45 110 0.65 CP08-1245-36 | 50 32 20 45 40 | M12 | 36 | M12 | 26 | 0.50
NG CP06-20150 | 150 50 25 82 | 50 | 134 21 | Moo 1.10 CP08-1645-36 | 50 32 20 45 40 | M16 | 36 | M12 | 26 | 0.50
L\k CP06-20200 | 200 32 112 | 80 | 184 1.90 CP08-1645-41 60 40 25 45 45 | M16 | 41 M16 | 32 | 0.75

4-3 CLAMP PARTS CLAMP PARTS 4-4



® .
LEAVE INDUSTRIAL ‘ . J | LEAVE INDUSTRIAL
LEA'E

SWING CLAMP MOUNT/EXTENSION

E
A ) C
© Material / Finish : B HA
Material : S45C(JIS) / CK45(DIN) | | B B ‘ F
°Heat treated - HRC 387-42" = & | = > Material / Finish :
o Surface finish : Black Oxide. ® _ 7Y 4 _ - 2 9 @ Material : FCD 45(JIS
o Application : Use with CP10 swing clamp L2 Zs = | ¥ aterial - . ( ).
to qain extra height. L | °Heat. treta\ted : Nnormallzeq. Te
9 9 | | o Application : Ideal for holding large or :
H irregullar shapes.
o Features : Clamping force in 2 direcciors,
available with plain or serrated L L ‘
jaws. WY/ A\ ———
i
o 0. A B D g MODELNO. A B C D E F G H J K L M N Type kg SU.
CP09-12080| 80 | 25 | 36 | 40 | 110 | M12 | M12 | 40 | 0.60 CP11-1260-G | 133| 60 | 58 | 68 | 50 | 32 | 16 | 6 | 22 | 13 [16.8| 42 | 10 Ground-21]
CP09-12100| 100 | 25 36 40 | 130 | M12 | M12| 40 | 0.78 CP11-1685-G | 187 | 85 | 80 | 92 | 70 | 50 | 24 | 9 | 30 | 17 |23.4| 60 | 14 5.6
CP09-16080| 80 | 32 46 50 | 110 | M16 | M16 | 40 | 0.83 CP11-1260-S | 133| 60 | 58 | 68 | 50 | 32 | 16 | 6 | 22 | 13 [16.8/ 42 [ 10 | |21
CP09-16100| 100 | 32 | 46 | 50 | 130 [ M16 | M16 [ 40 | 1.25 CP11-1685-S | 187 85 | 80 | 92 [ 70 | 50 [ 24 | 9 [30 [ 17 [234[ 60 [ 14| |56 5T
SVFE
SWING CLAMP ADJUSTABLE SIDE CLAMP
ALAV
A
D E
- — OK=
VISE
© Material / Finish : m| === @ ——} S| T i
Material : SCM-4(JIS)
© Heat treated : HRC 38°~42°.
o Surface finish : Black Oxide. . . JVE S
o Application : Multipurpose swing clamp, l . ° Mater!al / Finish : G « ’/ GENS
available with plain or threaded | G Q ® Material: S45C(JIS)/ COK45(D|N) *j* &
toe. . | o ] Heat treated : HRC 38". Jaw Surface treated . Ve
BA | with high frequency quenching. Ground Serrated o el
- ‘ . o Surface finish : Black Oxide. il : = T OTHER
- I GE o Application : Low profile side clamp keeps top o } ,_/ ILH::::%T‘ w
‘ surfaces clear for machining, | A [ -
D / ideal for rough or finished parts, ‘ ‘
o ‘ H é B" available with plain or serrated Clumn
jaw. AL
5& MODELNO. A B C D E F G H J K L Type kg Fetdii ezl
CP12-0825-G| 72.0 | 25 |18.0| 455 |165| 16| 7|14 | 85| 5 | 7 0.18 Lot
» 1 " on 1 " CP12-1235-G | 104.5 | 35 |27.5| 62.0 | 30.0| 22 | 12| 20 [13.5| 6 | 9 | Ground| 0.52
CP12-1640-G | 133.0 | 40 | 37.5| 80.5 |35.0| 30 | 14 | 26 [17.0| 8 | 13 1.02
CP10-1022| 22 | 30 | 20 [M10 CP10-1022 | 30 | 22 |54.5| 75 | 28 | 16 | 30 [M10| - - 10.20 CP12-0825-S | 735 | 25 [18.0| 470 |165| 16 | 7| 14| 85| 5 | 7 0.18
CP10-1225| 25 | 40 | 25 [M12 CP10-1225 | 50 | 25 |66.0| 87 | 33 | 20 | 40 [M12|M12| 40 | 0.35 CP12-1235-S | 106.5 | 35 | 27.5| 64.0 [30.0| 22 | 12 | 20 [13.5| 6 | 9 | Serrated| 0.52
CP10-1632| 32 | 40 | 25 [M16 CP10-1632 | 60 | 32 |69.5] 96 | 40 | 26 | 40 [M16/M12| 45 | 0.61 CP12-1640-S | 134.5 | 40 | 37.5| 82.0 [35.0| 30 | 14 | 26 [17.0| 8 | 13 1.02

4-5 cLAMPPARTS CLAMP PARTS 4-6



LEAVE INDUSTRIAL

LEAVE INDUSTRIAL

' CP13

ADJUSTABLE EDGE CLAMP

A CP14A I

T
I

Il

| @ 51
[ [ |

|

|

T

I

1

oo 44— 1—1T—- >773}>7 | I B
BPA'
N o ’ |
o Material / Finish : NN {} 1
Material : S45C(JIS) / CK45(DIN) A § -
o Heat treated : HRC 38°. Jaw Surface G / L r‘?‘ T 5L
. . S | I I
treatec:] .Wlth high frequency Ground Serrated \ » Y ‘ ‘ — S T,l&‘f
quenching. ® T T
] . | 1 1 ‘
o Surface finish : Black Oxide. || 7 o == 7 LF%:::%ﬁJ L »4‘_&, ?H
L . . i 7 i i
° Application : Low profile side clamp o — X I N B ODEL NO A B D g
is ideal for holding thin parts and
keeps top surfac§s cleaprfor CP14A-126045 | 81.5| 60 44 49 | 37 |125]| 24 13 | 5-15(0.78
machining. CP14A-169068 |121.0[ 91 68 64 47 |18.0| 36 18 |5-15|2.26
MODELNO. A B €C D E F G H J K L Type kg CP14B A
CP13-0825-G | 72.0| 25 | 85|455(165| 16 | 7 | 14 | 85| 5 0.15 | SU!
CP13-1235-G | 105.0 | 35 | 10.5[62.5(30.0| 22 | 12 | 20 (135 6 | 9| Ground | 0.45 I l i l
CP13-1640-G | 133.0 | 40 [14.0|80.5(35.0| 30 | 14 | 26 [17.0| 8 | 13 0.88 N
CP13-0825-S | 73.5| 25 | 8.5(47.0(165| 16 | 7 | 14 | 85| 5 | 7 0.15 o **’; | ;®”* B
o CP13-1235-S | 106.5 | 35 [10.5(64.0(30.0| 22 | 12 | 20 [13.5] 6 | 9 |serated| 0.45 T
CP13-1640-S | 134.5 | 40 [14.0(82.0|35.0| 30 | 14 | 26 [17.0] 8 | 13 0.88 — DT
B
G} } E SV
S| \\*’_ |
W
N T
L{74 L
. G #H AT
CP14C b ; :
CP14B-126045 | 72.5| 60 44 | 595 | 37 125 | 24 13 |1 0.73
CP14B-169068 | 108.0| 91 68 | 820 | 47 | 180 | 36 18 | 2.20 DK
VISE
LS
A

\

1
() =
A
2z 7
— )
7y

© Material / Finish : w
Material : S45C.
o Surface finish : Black Oxide.

> Application : Clamp that is well suited for __|IF|_G #H
castings and odd shaped
workpieces.
o Pivoting nose has a serrated jaw that gnstlie " z : 9
clamps forward and downward CP14C-126045 75 60 44 | 59.5 | 37 125 | 24 13 | 0.73
simultaneously. CP14C-169068 | 110 91 68 | 82.0 | 47 18.0 | 36 18 | 2.12

4-7 CLAMP PARTS CLAMP PARTS 4-8



LEAVE INDUSTRIAL

LEAVE INDUSTRIAL

FORGED SWIVEL CLAMP

SERRATED BLOCK STOP

92.5
50 - F7.
T T Locating Bolt-hole 3P
® ®
s 5 1o——oc |
1 1 R f} :\‘

o Material : ~—cC
Body : S45C(JIS)/CK45(DIN) " » |
jaw : YK30(JIS) / C105W1(DIN), !

o Heat treated : 75 = e
Body : HRC 40°. [——gu G Serrated © Material / Finish : -
jaw : HRC 58°. . . . . _ Material : S45C(JIS), Steel forging. m

o Surface finish : Black Oxide. : ! : : | : ® o Heat treated : HRC 32°~38°.

o Application : Serrated stop is used with **TT‘J TT‘J < - o Surface finish : Black Oxide.

CP11 free vise. Useful for holding o } } } } 1
rough parts and where heavy ! i ! ! i !
clamping is needed. T T PAvAVAY
G
pr MODEL NO. A B c ) kg SU|
[ CP15-1265 65 43 M12 12 3.52 OD O - = D g
CP15-1280 80 58 4.22 CP19-12125 131 75 465 |M12-125| 1.50
Jsuor—] CP15-1665 65 38 e o 3.24 CP19-16150 156 85 | 550 |M16-150| 2.64
CP15-1680 80 53 3.78 CP19-20194 201 105 62.0 |M20-175| 4.80 5T

FORGED SWIVEL CLAMP

SMOOTH BLOCK STOP

ALV
92.5 A
50 F7
! ! 4 Locating Bolt-hole i
Q@ @ | | & OK=
] i s P el
| | VISE
3 8 tO——O{f - ;
1 N~
© Material : ¢ ER
Body : S45C(JIS)/CK45(DIN) o D J,_'-'uﬁ-'p
jaw 1 YK30(JIS) / C105W1(DIN), 45 35 o Material / Finish : BIE GENS
o Heat treated : 75 Material : S45C(JIS), Steel forging. AT
. e .
Body : HRC 40°. F—g% cround °Heat treated : HRC 32°~38°. T2 3 \\
jaw : HRC 58°. . _ ‘ roun o Surface finish : Black Oxide. S ”
o Surface finish : Black Oxide. 1 1 o o @ m i e OIHER
| | N
© Application : Smooth stop is used with wa wa - < S ? 5
CP11 free vise. Useful for @ L L e st || 7 7
holding finished parts. l [ l l [ l I:':I column
s A
= s jechnical
Datal
MODEL NO. A B c D kg
Pl o CP16-1265 65 43 W12 12 3.54 oD O ; : D g
. / . CP16-1280 80 58 4.22 CP20-12125 125 75 45 M12-125| 1.40
suo—] Vsl CP16-1665 65 38 M16 16 3.28 CP20-16150 150 85 52 |M16-150| 2.42
CP16-1680 80 53 3.78 CP20-20194 194 105 58 |M20-175| 4.50

4-9 CLAMP PARTS cLAMP PARTS 4-10



LEAVE INDUSTRIAL

CP21

UNIVERSAL CLAMP

o Material / Finish :

Material : S45C(JIS), Forging.
o Heat treated : HRC 32°~38°.
o Surface finish : Black Oxide.

MODEL NO. A F G kg

CP21-12100| 100 | 45 | 26 | 67.5| 13 | 60 | M12-100 1.1
CP21-16125| 125 | 56 | 33 | 84.0| 18 | 65 | M16-125 2.1

CP22

T-SLOT MINIATURE CLAMP

A F |
| /
é 1

= I

o /\ i i I i
© ] ] U /[ili I
N |t

o Material : S45C (JIS)
o Heat treated : HRC 35°~38°. L

MODELNO. A B C D E F G H | L J kg

CP22-1218 [10.8|17.5{12.7| 7.2|23.2 22.0|48.0 0.10
41 M6| 54.0f M6
CP22-1422 (13.8|22.2|15.8| 7.1|24.1 24.0|46.0 0.15
CP22-1625 |15.8|25.4|15.8| 7.1|27.1 27.0 0.22
50 55.0| M8| 65.0/ M8
CP22-1828 |17.5|28.5/19.0| 7.9(28.9 29.0 0.29
CP22-2032 (19.7|31.7|25.4|11.4|33.9| 50|34.0(55.0/M10| 65.0{M10| 0.40
CP22-2240 |121.7|38.0/28.0|12.839.8| 65|39.5|71.0 815 0.70
CP22-2841 |27.5|46.7|44.0|125.0(49.0| 71|49.0|72.5 86.5 1.20

CP22-3559 (34.7|55.0{48.0(24.5(64.0| 103 |62.5(113.5 M16|130.0|M16| 2.75

4-11 cLAMP PARTS

o Material Heat Treated and surface to be
treated with Black Oxide.

o Material : S45C (JIS)
o Heat treated : HRC 35° (ECCENTRIC CAM)

FREE VISE

LEAVE INDUSTRIAL

E 2, B
. I 4
i
m - - - - bl e |
!
5 H LL}L
BC
(=) (]
0
]
bl L
]
SU;
MODELNO. A B C D E F G H | J L M
CP23-12140(142| 70| 70| 87| 55[ 25 | 15| 5 | 10 | 29 [14.5/20.5| 60
CP23-16195(192| 85| 85[103| 88| 30 [ 20 | 7 | 12 | 37 [17.0{24.0| 70 | 24 | 11.0
CP23-20220(220| 110 | 104|120 100| 36 | 25 | 9 | 13 | 42 |21.0{28.0| 85 | 30 | 21.0 P
C‘ 2 1 SVEF
ALAV
€) ¢~
VIS
JERS
GENS
OlHER

F
MODEL NO. A B Cc D E F (¢] H kg
CP24-0824 | 24 | 11.0 6 (128 3 |M8|11.5| 17 |0.020
CP24-1026 | 26 | 11.8 8 |143| 4 | M10|125| 22 (0.030
CP24-1230 | 30 | 13.5 9 |178| 5 | M12|145| 22 |0.050
CP24-1638 | 38 [ 16.0| 12 [ 208 | 6 |M16|175| 26 |[0.115

CLAMP PARTS 4-12



— LEAVE INDUSTRIAL LEAVE INDUSTRIAL

CP27

THREADED GOOSE NECK CLAMP

CP25

STEP CLAMP

C tyek
| | ‘
_. _€:Hﬁ =5 H:} _________ - & D E J
K
/ BPA
N
BC
o Material / Finish : 4 & © Material / Finish
Material : S45C Material : S45C(JIS), Forging. o
o Heat treated : HRC 32°~38°. o Surface finish : Black Oxide. —
@ Surface finish : Black Oxide.
L . C T <
o Application : Used with SU25.
S
MODEL NO. A B c D E F kg
CP25-10063 13 25 63 18 19 0.100 MODELNO. A B C D H I J K kg
CP25-10100 16 25 100 1 27 37 0.215 CP27-16100 | 19 | 35 (100|465 | 7 | 17 | 14 | 21 | 14 | 10 | M12x1.75 | 0.78
CP25-10150 19 32 150 30 50 0.570 CP27-16150 22 | 45 [150| 62.0 | 26 17 15 24 22 12 M16x2.00 1.70 P
CP25-12063 13 25 63 20 14 0.100
CP25-12100 19 32 100 13 29 34 0.320
CP25-12150 22 32 150 32 50 0.650
CP25-14063 13 25 63 20 14 0.100 SVE
CP25-14100 19 32 100 15 29 34 0.315 -
CP25-14150 22 32 150 32 50 0.600
CP25-16063 16 32 63 22 12 0.160 GOOSE NECK CLAMP
CP25-16100 19 38 100 17 31 26 0.400
CP25-16150 22 38 150 40 47 0.710 AL
CP25-18063 16 32 63 22 12 0.140
CP25-18100 19 38 100 20 31 26 0.380
CP25-18150 22 38 150 40 47 0.750 ( ‘
CP25-20100 19 38 100 31 26 | 0.360 = @ + - — @ DK=
CP25-20150 | 25 38 150 21 43 44 | 0.750 VISE
CP25-20200 25 50 200 55 65 1.500
CP25-24150 32 50 150 43 38 1.290
CP25-24200 | 32 50 200 26 53 57 | 2.000 PT04
JER-
CP25-24250 38 50 250 60 64 2.950 / J,-_"_:‘:I
GENS!
CP27

TL OTHER

o Material / Finish : PT40 SU24
Material : S45C(JIS), steel forging. / ‘
o Surface finish : Black Oxide. s A

MODEL NO. CP27 PT40 PT04 Su24 kg
CP28-ZC-40 16100 16100 1624 12060 1.5
CP28-ZC-60 16150 16100 1624 16070 2.6

4-13 cLAMP PARTS CLAMP PARTS 4-14



LEAVE INDUSTRIAL

LEAVE INDUSTRIAL

CP29

BLOCK STOP

K

>

B

G
O
m

JAVAVAN

G

B

\

l

l

.
D

E+0.01

I
L

- | [ —
\ %
¢G G Serrated Ground \_ Yy, .
" | FV o B
1 1 1
© Material / Finish : * o | T o %u
Material : S45C _ Lﬁf ! Lﬁf — G
© Heat treated : HRC 32°~38°. F R I 0 . AvAvav4
° Surfgce.flms.h : BIac!( Oxide. ¢Mh7 G < g
o Application : used with CP12. O CEI
! DAN
G

MODELNO. A B € D E F G M N kg TYPE SU
CP29-12100-S | 100 | 35 | 30 | 40 | 30 | 8 | 20 | 12 | 1 0.59 Serated
CP29-16130-S | 130 | 40 | 40 | 50 | 40 | 10 | 26 | 16 | 14 1.20 CP31-1240 67 | 40 | 80 |33.0|13.0 125 1.36
CP29-12100-G | 100 | 35 | 30 | 40 | 30 8 20 | 12 | M 0.59 Ground CP31-1250 | 37 | 30 | 23 | 77 | 50 | 85 [33.0[13.0| 15 | 130 | 21 | 1.71
CP29-16130-G | 130 | 40 40 50 40 10 26 16 14 1.20 CP31-1650 77 | 50 | 85 | 34.5|16.5 130 1.54 P

S\F
F7 ALV
®H F+0.01 G10.01
A
~
. —— 1% &
0) 36
T * T = —4 VIGE
| I < JASE
[ | \ o Q@ T - B
@ —+ 4 i a—
[ ‘ \ \
| | | % (&
1 1 1 w ( JERE
~ g GENS)
PG
G - Serrated Ground
| | ! )
T T T T T T T
| [/ BERREE |
o T il s G [ OTHER
S N R RN : I < | wr o] s Sl
o Material / Finish : G ﬁ oM™ * - L] EE;'
Material : S45C OT
> Heat treated : HRC 32°~38°. f K e
o Surface finish : Black Oxide. w !
o Application : used with CP13.
MODEL NO. A ] (o3 D E F (¢] M N kg TYPE
CP30-12100-S | 100 | 35 22 40 30 10 20 12 1 0.46 Sericn
CP30-16130-S | 130 | 40 30 50 40 14 26 16 14 0.88 CP32-1240 12 67 40 40 12 80 0.86
CP30-12100-G| 100 | 35 22 40 30 10 20 12 1 0.46 Ground CP32-1250 37 30 12 77 50 50 10 12 95 1.19
CP30-16130-G| 130 | 40 30 50 40 14 26 16 14 0.88 CP32-1650 15 77 50 50 16 95 1.14

4-15 cLAMP PARTS CLAMP PARTS 4-16



CLAMPING PARTS REPLACEMENT HARD-JAW

K CP35A
F G
B
_ o e I
e ——> i j
1
I
%o BC

C
-
~
%
B+0.01

AAN
G
SU|
MODEL NO. kg
CP33-1240 67 | 40 | 80 |33.0|13.0 125 | 2.02 CP35A-2143 0.12
CP33-1250 | 67 30 30 77 50 85 |33.0|13.0| 15 | 130 | 2.45
CP33-1650 77 50 85 | 345|16.5 130 | 2.25 PT

" CP34 CP35B n

BLOCK STOP 2l | D _
w3 D 0™
F7 _ AL
¢H _F£001__ G0.01 26
- x o
- @ @ E 4| ; K=
o 2 +-—[E@ VISE
o (A4
() 2
e Al | s
~ IR
& GENS]
%o
< G . OTHER
AVAVAVARSS u H10 11 =
3 B S MODEL NO. kg
ol m :
% VAVAVA 1 CP35B-2143 0.12 Colurmm
Jr
K G TEchmical
MODEL NO.
CP34-1240 12 67 40 40 12 80 1.24
CP34-1250 67 30 12 77 50 50 10 12 95 1.60
CP34-1650 15 77 50 50 16 95 1.52

4-17 CLAMP PARTS CLAMP PARTS 4-18



CP36A

CP36B

CP36C

4-19 cLAMP PARTS

REPLACEMENT HARD-JAW

-0.01

15-0.02
:IO:
[113]
MODEL NO.
CP36A-1243
-0.01
15-0.02
10
X K

MODEL NO. kg
CP36B-1243 0.14

Qo
=82

LEAVE INDUSTRIAL

POSITIONING EDGE SUPPORT

E
[//]0.01 G H0.01
i P
o 2] i
(O
x ]
1
G T Jooi[A
360°
0 O
-
Ky 7] il
5 @ 2 |
3 | |
| |

373

MODEL NO. kg
CP36C-1280 0.30

1.3

MODEL NO.
CP37-1240 40 65 12 40 16 0.60
CP37-1250 30 38 40 16 75 12 10 50 15 0.60
CP37-1650 45 80 16 50 18 0.65
ADJUSTABLE SIDE CLAMP
A
E
D
\
- 4+ F T m
© Material / Finish : Ground @
Material : S45C(JIS) / CK45(DIN) | J Cap
o Heat treated : HRC 38°. Jaw Surface treated l ! Sgrew hole . o
with high frequency quenching. »j« /
° Sun‘a‘lce .finish : Black pxiqe. Serrated o S
o Application : Low profile side clamp :g: /) _
keeps top surfaces clear for i o 74 /L ;/ .J L
machining, ideal for rough or AR R
finished parts, available with
plain or serrated jaw. MODEL NO. A B C D E F G H 1 J K L Type kg
CP38-0865-G |45.14| 65|19.5| 23 |335| 16| 7| 40 |25 M 8| 5| 74 0.22
CP38-1285-G | 65.14 | 85[29.0| 33 [48.0/ 22 | 12| 50 | 35 |M12| 6 | 9.0| Ground | 0.65
CP38-16100-G | 85.64 [100|39.0| 48 |68.0| 30 | 14 | 50 | 40 [M16| 8 |12.5 1.40
CP38-0865-S |46.45| 65|19.5| 23 |335| 16| 7| 40 | 25 M 8| 5| 7.4 0.22
CP38-1285-S |67.14| 85|29.0| 33 |48.0|{ 22 | 12| 50 | 35 [M12| 6 | 9.0| Serrated| 0.65
CP38-16100-S | 87.14 |100|39.0| 48 |68.0| 30 | 14 | 50 | 40 [M16| 8 |12.5 1.40

B

BRA

SVE

ORE

VISE

JERS

GENS:

OTHER

ol

Feldilaffec)
DAS

cLAMP PARTS 4-20



© Material / Finish :
Material : S45C(JIS) / CK45(DIN)
o Heat treated : HRC 38°. Jaw Surface treated

with high frequency quenching.

@ Surface finish : Black Oxide.

o Application : Low profile side clamp
keeps top surfaces clear for
machining, ideal for rough or
finished parts, available with
plain or serrated jaw.

LEAE

ADJUSTABLE SIDE CLAMP

A

E
D

(6
e

Ground

sl

J Cap Screw hole ’
v @
/
G ana ’
Serrated »—‘« s
- iy
; ST
S — N *
MODEL NO. A B C D E F G H | J K L Type kg
CP39-0865-G |45.14| 65| 9.5/ 23 |33.5|/ 16| 7|40 | 25 |M 8| 5 | 7.4 0.2
CP39-1285-G | 65.64| 85[12.0| 33 |48.0{ 22 | 12| 50 | 35 |M12| 6 | 9.0| Ground | 0.6
CP39-16100-G | 86.14 | 100|15.5| 48 |68.0| 30 | 14 | 50 | 40 |M16| 8 |12.5 1.3
CP39-0865-S |46.55| 65| 9.5/ 23 |335( 16| 7|40 | 25 M 8| 5| 7.4 0.2
CP39-1285-S | 67.14 | 85(12.0( 33 (48.0( 22 | 12| 50 | 35 [M12| 6 | 9.0| Serrated| 0.6
CP39-16100-S | 87.64 | 100|15.5| 48 |68.0| 30 | 14| 50 | 40 |[M16| 8 [12.5 1.3

© Material : Soft Jaw : A6061,Base : S45C(JIS)

o Surface finish : Soft Jaws : Anodic Treatment

° Heat treated : Base : HRC 25°~ 30°

o Application : Vertical Machining Center

© Features : Hold the irregular clamps of
aluminum and copper.

4-21 cLAMP PARTS

MACHINABLE IRREGULAR CLAMPS

| —oH
Locating Cap-Screw hole

= | O
#G
[V
- [ @
I 11 1
| |

MODEL NO. A B Cc D E F G H kg
CP40-A100 190 100 25 141.42 75 50 100 12 7.5




SUPPORT PARTS

SU01~SU29




LEAVE INDUSTRIAL
B
G
=
© Material / Finish : F
Material : S45C(JIS) / CK45(DIN) <
o Heat treated: HRC 40°. [a]
o Surface finish : Black Oxide.
@ Application : mount onto base plate or
clamp cube for supporting G
workpiece. C-Cap Screw
hole

o Features : Jig rest buttons are extremely

useful as supports, side locator

pads, and jig feet.

[ S
|
\
mlm
E
&

LN

o

g i
\
%

7

SU01-1230 30 17 0.24
SU01-1240 40 40 M12 27 0.32
SU01-1250 50 37 0.41
SU01-1630 30 12 0.36
SU01-1640 40 50 M16 22 0.50
SuU01-1650 50 32 0.64

o Material / Finish :
Material : S45C(JIS) / CK45(DIN)
o Heat treated : HRC 40°.
o Surface finish : Black Oxide.
o Application : Use for supporting and / or
positioning workpiece.
o Features : Jig rest buttons are extremely

useful as supports, side locator

pads, and jig feet.

5-1

SUPPORT PARTS

OFFSET JIG REST BUTTON

N

C -Cap Screw
hole

A +0.01

D

SU02-1230 30 17 0.24
SU02-1240 40 40 M12 27 7 0.32
SU02-1250 50 37 0.41
SU02-1630 30 12 0.36
SU02-1640 40 50 M16 22 10 0.50
SU02-1650 50 32 0.64

SUO3

SHOULDER SUPPORT CYLINDER

®C £0.01
oF
G =
|
G |
A\VAVAVAR :
> Material / Finish : 3 _
Material : S45C(JIS) / CK45(DIN) 4 %
o Heat treated : HRC 40°. )
o Surface finish : Black Oxide. ‘
o Application : Support and locate with one L
part. T
G F7
¢E
oD
MODEL NO. A ] (o4 D E F (¢] Kg
SU03-1230 30 40 0.68
SU03-1240 40 50 40 60 12 20 12 0.88
SU03-1250 50 60 1.10
4 SU03-1630 30 40 1.08
e SU03-1640 40 50 50 75 16 26 15 1.40
SU03-1650 50 60 1.70
B
#D
G
AVAVAVA
gu
© Material / Finish : <
Material : S45C(JIS) / CK45(DIN)
o Heat treated : HRC 40°.
> Surface finish : Black Oxide. w
o Application : Support and locate with one
rt. F
pa G sc”’
MODEL NO. A B (o3 D E kg
SU04-1230 30 0.24
SU04-1240 40 40 12 20 12 0.32
o SU04-1250 50 0.40
SU04-1630 30 12 0.37
SU04-1640 40 50 16 26 15 0.49
SU04-1650 50 0.60

(1)
LEAE

B2

PEf

ALV

0) ¢
VISE

JERS

CRIC
(] = =)

DR

Lolami;
jur
jechncall
Datal

SUPPORT PARTS

5-2



LEAVE INDUSTRIAL

© Material / Finish :

Material : S45C, (JIS) / CK45 (DIN)

SQUARE ADAPTER

85

50

A+0.01

||

v o LOLA\%g/
° Heat treated : HRC 40°. | f @
© Surface finish : Black Oxide. ‘
o Application : Multipurpose adapter for a varity @ @ |
of stops & clamps.
|
B-Cap Screw hole
MODEL NO. A B (o] D kg
SU05-1230 30 17 1.50
SU05-1240 40 M12 M12 27 2.00
SU05-1250 50 37 2.25
SU05-1630 30 12 1.30
SU05-1640 40 M16 M16 22 1.80
SU05-1650 50 32 2.22
SQUARE ADAPTER
85
A+0.01
50
| (s}
T @/ﬁ C
I
© Material / Finish : ol o 77@7@7@77 e
Material : S45C(JIS) / CK45(DIN) ©| ©
o Heat treated : HRC 40°. !
o Surface finish : Black Oxide.
o Application : Multipurpose adapter for a varity @ @ T
of stops & clamps.
* D
B-Cap Screw hole ]
MODEL NO. A B o3 D kg
SU06-1230 30 17 1.50
SU06-1240 40 M12 M12 27 2.00
SU06-1250 50 37 2.60
SU06-1630 30 12 1.30
SU06-1640 40 M16 M16 22 1.80
SU06-1650 50 32 2.25

5-3

SUPPORT PARTS

SQUARE ADAPTER

85 A+0.01
‘ 50 ~B-Cap () D () DI
‘ i ‘ Screw hole
O o0 .
> Material / Finish : el 77@7 @// 1
Material : S45C(JIS) / CK45(DIN)
o Heat treated : HRC 40°. Ve
o Surface finish : Black Oxide. @ @ @ 1
o Application : Multipurpose adapter for a varity
of stops & clamps. ‘
\
C ‘L‘
i
B MODEL NO. A B c D kg
oty on Gy SU07-1230 30 17 15 _
i’ SU07-1240 40 M12 M12 27 2.0 SU
oS SU07-1250 50 37 26
SU07-1630 30 12 1.3
SU07-1640 40 M16 M16 22 1.8
SU07-1650 50 32 22 crp
m SVE
ALV
A
30 D
F— 1 l DKE
T ! VISE
\@ € - mp— -~
o Material / Finish : ‘ 1
Material : S45C(JIS) / CK45(DIN) ! |
o Heat treated : HRC 40°. JERS
o Surface finish : Black Oxide. 55 GTENS
@ Application : Gives extra flexability in the J ‘ G
placement of stops. G ‘ }
AVAVAVA l o o
N HT *********** = Ol
O' ‘ +
:|+:I | i o ©
|
i ; ! G Selliiiy
[ I| S jur
' dechnical)
l-; . Dadita
§ | MODELNO. A B C D E F G H J kg
L2 SU08-12140-30 40 26 | 30 1.3
140 | 40 85 | 13 | M12 10
oo SU08-12140-40 50 36 | 40 16
; SU08-16140-30 40 22 | 30 15
[ 140 | 50 85 | 17 | M16 10
- SU08-16140-40 50 32 | 40 1.9
SUPPORT PARTS 5.4



LEAVE INDUSTRIAL

o Material / Finish :

Material : S45C(JIS) / CK45(DIN)
o Heat treated : HRC 40°.
o Surface finish : Black Oxide.

o Application : Multipurpose adapter for a varity

of stops & clamps.

EXTENSION SUPPORT

A
30 D
1
F - l
\@{ - - w! m
I
G
|
T
S |
2 ] .
O || O
—
G
MODEL NO. A =] Cc D E F G kg
SU09-12120-30 30 16 0.85
120 40 70 13 M12
SU09-12120-40 40 26 1.10
SU09-16140-30 30 12 1.14
140 50 90 17 M16
SU09-16140-40 40 22 1.52

© Material / Finish :

Material : S45C(JIS) / CK45(DIN)
o Heat treated : HRC 38°.
o Surface finish : Black Oxide.

o Application : Elevate a work stop or clamp.

RISER CYLINDER

MODEL NO. A B (o3 D kg
SU10-1250 50 0.45
SU10-1265 65 40 36 M12 0.59
SU10-1280 80 0.74
SU10-1650 50 0.72
SU10-1665 65 50 46 M16 0.84
SU10-1680 80 1.20

5-5

SUPPORT PARTS

SUPPORT JACK

B2

BRA!
o Material / Finish :
Material : S45C(JIS) / CK45(DIN) je
o Heat treated : HRC 38°~40°.
o Surface finish : Black Oxide.
o Application : Multipurpose support part. E
C ‘L‘
h e
i Ly W
b -:"- Hu
:* SU
e
OD O B ) g
SU11-1265 65 20 20 40 36 32 M12 | 0.54
SU11-1665 65 20 20 50 46 36 M16 | 0.82 DT
w SV
AR
AVAVAVA
DK==
1 10 JJ -
VASE
F G 0.0 F C£0.01
} ~
! LL%
o Material / Finish : T ‘ g JERS:
Material : S45C(JIS) / CK45(DIN) ol ! B B £ N R e GENS
° Heat treated : HRC 45°. he
o Application : Work piece support & positioning. ‘
|
‘ - E_| J DIHER
gPT07 Di‘0.01
PT04
CP05
; ‘ ; { Colliipip
| I | jur
: | : gechnicall
Datal
MODEL NO.
SU12-1230 40 | 30 22 1.50
110 | 60 20 | 20 | 50 | 30 [M12 12 | 20
SU12—] e SU12-1240 50 | 40 32 1.92
—~ SU12-1630 40 | 30 17 1.40
110 | 60 20 | 20 | 50 | 30 [M16 16 | 26
SU12-1640 50 | 40 26 1.80
SUPPORT PARTS 5-0



POSITIONING EDGE SUPPORT

LEAVE INDUSTRIAL ‘ .®
LEA'E

AVAVAVA
A 0.011Y Mi0.0Z
N+0.01
Ry (B | o0 ¥~
Locating b
hole R
o Material / Finish : T @ I
Material : S45C(JIS) / CK45(DIN) g -
o Heat treated : HRC 45°. ol o \”\1 : 1 Q
o Application : Multipurpose adapter for a varity I E I 8 I I I r——
Il = I
of stops & clamps. i ‘ i £ I D i IO
T [ N I s
I O I j —_—
2 i : SHESS
I )
15| D002
| 0.01 E—' N+0.01
_ =Tz
B R L T I L] |_ jj C
? I q !
.I ! I__ E -7
' | ! _T
B3
e i = ﬁ wona OD O B D Q R g
[ ﬁ: L5 L e SU13-1240 | 80 | 98 | 65 | 50 | 16 | 25 |[M12| 12 | 80 | 40 | 22 |M12]3.00
=0 i SU13-1640 | 80 | 98 | 65 | 50 | 16 | 25 |[M16| 16 | 80 | 40 | 16 |M16|2.64
G D+0.01 ‘
|
B
£¢<:D<§ Qﬁ&
F7
17.5| 25 oA
o Material / Finish : 5040.02 tglti:tlng
Material : S45C(JIS) / CK45(DIN) 25
o Heat treated : HRC 45°. ‘ ‘
o Application : Use with SU15 to creat an £710.01/150
adjustable V block set. ,,§
g | | | |
i A 10
| | | p=
l Al g
_ o | L | 3 ‘
. ~ 7 |
- s A 4 T T T T
: 60
II
e
=F "-n.. 5 OD O B » g
\\X\ o % SU14-1250-600 | 12 | M12 | 22 | 85 | 80 600 50 1.86
™ SU14-1650-600 | 16 | M16 | 16 | 85 | 80 600 50 1.76

5-7

SUPPORT PARTS

SPLIT V BLOCK

ﬁ D001
[ B
F7
| B |, —8A
Locating
@ hole
u\_‘)t H ‘Ll :\‘
25 |17.5
o Material / Finish : 50+0.02
Material : S45C(JIS) / CK45(DIN) 25 S
o Heat treated : HRC 45°. f Ye
o Application : Use with SU14 to creat an £7]0.017150 .
adjustable V block set.
| | | | g
\ _ \ [T \ i ;
)= | | i
g NN
- I < I — ] O
2 | RS
’
' 60
[A] SU
OD = ) g
SU15-1250-600 | 12 | M12 | 22 | 85 | 80 600 50 1.86
SU15-1650-600 | 16 | M16 | 16 | 85 | 80 600 50 1.74 DT
m SV
G ARV,
AVAVAVA
0) ¢
~ A B W VISE
o Material / Finish : T [
Material : S45C(JIS) / CK45(DIN) 0 i / .
o Heat treated : HRC 45°. S 4l & 7G — B T oi SERS
ication : Multi i & ) GENS
o Application : Multipurpose V-block, use w ~ ! ‘ | - -~
independently or in pairs. ‘ /
l 30°
NTHE
| C001 | S
| | |
— T
P i
3J ‘ o] ammn;
T 1 jur
‘ fechnical)
Daital
OD O = ) g
SU16-12150 | 28 94 | 150 | 34 40 5 13 20 | 0.65
SU16-16175| 30 | 115 | 175 | 40 50 5 17 20 | 0.90
SUPPORT PARTS 5.8



LEAVE INDUSTRIAL

V BLOCK

AVAVAVA
G
/E
<
© Material / Finish : @ E7
Material : S45C(JIS) / CK45(DIN) . —9C
o Heat treated : HRC 45°. Locating ]
o Application : Easily mounts to any fixture hole - }7 N
to support round parts. | =
—— 50+0.02 F
B T 30
P Pyﬂ _
B
[I @f‘@; ;{Q::%? BT MODEL NO.
BP26 -o-oi | sutr1215080 | 65 | 8s [ | s | [ o F | [0
Py ) sl SU17-1215-100 | 75 | 95 100 1.30
=T 25 i SU17-1615-080 65 85 16 80 = M16 o e 1.02
T e SU17-1615-100 75 95 100 1.20
@
o Material / Finish : i |
Material : S45C(JIS) / CK45(DIN)
o Heat treated : HRC 38°~42°.
> Surface finish : Black Oxide. == o O H+
o Application : Designed to support over - m J
hanging workpiece, spring | i
loaded & adjustable. . = |
© Features : supporting height can be ! ———
adjusted by loosing the adjusting =] 1 _| ]?‘.‘
SCrew. N ! Lol
Shock resistence during machining operation. M aA
=
OD O B D R g
SU18-3655 |36 | 61/55| 8(M 8| 20 | 17 | 14 | 36 [M 6| 3 |M20|M10| 40 |0.43
SU18-4270 | 42| 79|70 | 9|M10| 25 | 25 | 17 | 42 |M 8| 4 |[M24|M12| 50 |[0.73
SU18-5085 | 50 |{100| 87 | 10 {M12| 30 | 27 | 20 | 50 |M10| 5 |M30|M16| 62 |1.30

5-9

SUPPORT PARTS

© Material / Finish :
Material : S45C(JIS) / CK45(DIN)

ADJUSTABLE STOP

-

£
+

B-Cap-Screw hole

J
|

o Heat treated : HRC 32°~38°. H
o Surface finish : Black Oxide. — w T
o Application : Multipurpose work piece o ‘ ‘ ] <
positioning. \
& )
[O) |
=) |
PT33 " } } w
Su19
ve ot
(@) I I
o= §=i) el
PTOS/ OD O B D g
SU19-1280 (M12 (M12| 12 | 32 | 40 | 50 | 60 6 80 | 36 |0.43
SU19-1690 | M16 | M16| 14 | 40 | 50 | 63 | 80 8 90 | 46 |0.89
F
E
)
BH-+ P
—/
—>G<—
o Material / Finish : ] _
Material : S45C (JIS) / CK45(DIN) @ 7E::)= = j}»
© Heat treated : HRC 32°~38°. I <
o Surface finish : Black Oxide. |
@ Application : Multipurpose work piece o !
positioning. o ][
|
CP10 ‘
\rl: :
[ ] A
CP09 =
N SU20
4
BP\\ |IX| ~—Su01 j OD O B » g
SU20-1260 | M12 42 53 65 19 60 5 M10 | 0.13
\ SU20-1680 | M16 45 58 70 24 80 6 M12 | 0.24

B2

BPA

SU

PEf

ALV

DR
VISE

JERS

SENS

(=
o 8
Lny

Lolami;
jur
gechmical:
Datal

SUPPORT PARTS §5-10



LEAVE INDUSTRIAL

MAGNETIC SUPPORT JACK

PF
*!lf*
< G
L | /
R
" - 4
(&)
I m S
<
|
! o —
o Material / Finish : D
Material : S45C(JIS), heat treated
o Surface finish : Black Oxide. MODELNO. A B~C D E F G kg KN
SU21-S050 24 40~50 0.41
45 8 35 Tr18x2 80
SU21-S065 34 50~65 0.54
SU21-S085 49 65~85 45 8 & Tr20x3 1.03 80
SU21-S110 63 85~110 45 12 40 Tro5x4 1.75 150
SU21-S165 85 110~165 50 45 2.93
SU21-S265 | 135 165~265 6.23
60 15 50 Tr32x5 200
SU21-S300 | 170 265~300 7.50
oF
_ 9115

o Material / Finish :
Material : S45C(JIS), heat treated D
o Surface finish : Black Oxide.

MODEL NO. A B~C D E F G kg KN
- 21 37~50 0.29
SU22-5050 40 8 35 Tr20x3 72
SU22-S070 34 50~70 0.40
SU22-S100 50 70~100 45 10 40 Tro5xa 0.72 5
SU22-8150 76 100~150 50 12 45 1.30
SU22-8250 | 120 150~250 60 15 50 Tro8x5 2.90 155
SU22-8300 | 170 200~300 3.50

B-11 SUPPORT PARTS

SU23

LARGE SUPPORT JACK

PF
8115
B
\< 7\ /G
%
" B RA
(&)
[aa]
<
e
|
#D
o Material / Finish : .
Material : S45C(JIS), heat treated =
o Surface finish : Black Oxide. MODELNO. A B~C D E E G kg KN
SU23-S0400 | 270 285~400 8.0
70 15 60 Tr40x4 260
SU23-S0500 | 370 385~500 10.5 :
SU23-S0600 | 470 485~600 12.0 SU
70 15 60 Tr40x4 260
SU23-S0700 | 570 585~700 14.0
SU23-S0800 | 670 685~800 15.0
SU23-S0900 | 770 785~900 70 15 60 Tr40x4 16.5 | 260
SU23-S1000 | 870 885~1000 18.0 DT
SU24 o
ALV
! D OKE
; v VISE
i
I TER
o I ER=
i GENS
o Material /Finish : !
Material : S45C(JIS), heat treated |
o Heat treated : HRC 33°. U't_ OTHEF
o Surface finish : Black Oxide. d
@A
Lolami;
Jiag jur
I, 24 i dechnicall
_.". ; CRIE . OD O A B D g Data
s i L-L‘I" i, T SU24-12060 28 60 8 M12 0.08
P i R, : li SU24-14065 30 65 9 M14 0.10
""" N i I
e 11 % SU24-16070 30 70 10 M16 0.13
e //% s / SU24-18080 36 80 12 M18 0.21
e s
EF SU24-20130 50 130 16 M20 0.47

SUPPORT PARTS §-12



LEAVE INDUSTRIAL

STEP BLOCK

)
'

¢ | ke
MODEL NO. Supporting Height A B c kg
SU25-25030 19-49 29.0 17 0.05
SU25-25045 28-68 25 45.0 27 0.12
o Material / Finish : SU25-25097 58-150 97.5 57 0.50
Material : S45C. SU25-32059 38-90 59.0 85) 0.24
o Heat treated : HRC32°~36°. SU25-32097 58-150 32 97.5 57 0.62
o Surface finish : Black Oxide. SU25-32139 82-210 139.0 81 1.32
o Application : Multipurpose clamping SU25-38059 36-90 59.0 35 0.29
accessory, use with CP25. SU25-38097 58-150 38 97.5 57 0.73
SU25-38139 82-210 139.0 81 1.60
SU25-50059 36-90 59.0 85) 0.70
SU25-50097 58-150 50 97.5 57 1.66
SU25-50139 82-210 139.0 81 3.43

HARDENED GROUND PARALLEL

L
G
=l = J J
S S
o
N £
G
MODELNO. W  H L kg | mopeLno. w H L kg
suze-0812-100 [ [ 12 | ] 018 || SU26-2025-200 25 1.60
SU26-0815-100 15 019 |[ SU26-2030-200 | 20 | 30 | 200 [ 192
SU26-1015-100 15 0.24 || SU26-2040-200 40 254
SU26-1020-100 | 10 | 20 | 100 | 0.32 || SU26-2530-250 30 3.00
SU26-1025-100 25 022 |[ SU26-2540-250 | 25 | 40 | 250 | 3.95
. SU26-1215-100 15 0.28 || SU26-2550-250 50 490
° Material : S45C i SU26-1220-100 | 12 | 20 | 100 [ 019 |["SU6-2s40-300 | | 40 | 77680
¢ Heat treated : HRC 45", SU26-1225-100 25 0.26 || SU26-2850-300 50 6.66
SU26-1620-150 20 038 | suze-asso300 [ | 50 | 900
SU26-1625-150 | 16 | 25 | 150 [ 048 || SU26-3875-300 75 13.80
SU26-1630-150 30 114

B-13 SUPPORT PARTS

© Material / Finish :
Material : S45C(JIS) / CK45(DIN)
o Heat treated : HRC 38°~42°.
o Surface finish : Black Oxide.
o Application : Adjustable work piece support,
fine adjustment capability.

o Material / Finish :
Material : SCM420
o Heat treated : HRC 60°.
o Surface finish : Black Oxide.

'SU27

ADJUSTABLE PARALLEL BLOCK

B

BPA

MODELNO. A B C D E kg
SU27-5039-46 | 39 | 50 | 82 | 35|41 | 1.2
SU27-8052-59 | 53 | 80 | 125 |49 | 55| 3.4

T SLOT PARALLEL BLOCK

MODEL NO.
SU28-5050150-12

N Cap-Screw hole

A
149

B

c

100

SU28-5050200-12

199

49

50

150

24.5

M12

14

kg
1.4

23

SU28-6060150-16

149

59

60

100

SU28-6060200-16

199

150

245

M16

18

23

3.5

SU

S Vi

ALV

Lolami;
jur
gechnicall
Datal

SUPPORT PARTS §-14



SU29-S

SU29-F

9 Material / Finish : S50C
o Heat treated : HRC 47°~52°.

B5-15 SUPPORT PARTS

SU29

HARDENED SLICED PARALLEL

LEAVE INDUSTRIAL ‘ .®
LEA'E

% TWO PIECES PER PAIR!

L+0.2
G e
'
w
f
J J
G 8]
SU29-125S821 21 0.25 || SU29-160S50 50 0.88
SU29-125825 25 0.31 || SU29-160S52 52 0.92
SU29-125S29 29 0.38 || SU29-160S54| 3.0 10 54 160 0.96
SU29-125S30 30 0.39 || SU29-160S56 56 1.00
SU29-125832 32 0.42 || SU29-160S58 58 1.04
SU29-125S833 25 ! 33 125 0.44 || SU29-200S40 40 0.90
SU29-125S34 34 0.46 || SU29-200S45 45 1.03
SU29-125S36 36 0.49 || SU29-200S50 50 1.15
SU29-125837 37 0.50 || SU29-200S55 55 1.30
SU29-125S38 38 0.52 || SU29-200S58 58 1.42
SU29-160S30 30 0.47 || SU29-200S60| 3.0 10 60 200 1.35
SU29-160S35 35 0.58 || SU29-200S62 62 1.40
SU29-160S40| 3.0 10 40 160 0.67 || SU29-200S64 64 1.45
SU29-160S45 45 0.77 || SU29-200S66 66 1.50
SU29-160S48 48 0.84 || SU29-200S68 68 1.55
% TWO PIECES PER PAIR!
L+0.2
G 8
[ 1
E s J J
1]
x| I
G
MODEL NO. H L kg MODEL NO. H L kg
SU29-160F30| 30 0.60 |[SU29-200F40( 40 1.06
SU29-160F35| 35 0.70 || SU29-200F45( 45 1.09
SU29-160F40| 40 0.80 | [SU29-200F50( 50 1.26
SU29-160F45| 45 0.90 |[SU29-200F55| 55 1.38
SU29-160F48| 48 0.96 ||[SU29-200F58| 58 1.46
SU29-160F50| 50 160 1.00 ||SU29-200F60| 60 200 1.50
SU29-160F52| 52 1.04 || SU29-200F62| 62 1.56
SU29-160F54| 54 1.09 || SU29-200F64| 64 1.61
SU29-160F56| 56 1.13 || SU29-200F66| 66 1.66
SU29-160F58| 58 1.17 || SU29-200F68| 68 1.71




&
<
Q
>
S
<




LEAVE INDUSTRIAL

LEAVE INDUSTRIAL

SMOOTH BALL END BOLT KNURLED NUT

o
¢

. @c
© Material : - & =
Bolt : S45C(JIS) / CK45(DIN) /Y
Ball : SUJ2(JIS) / 100Cr6(DIN) d E
© Heat treated : \ e
Bolt : HRC 28°~32° w NE - - J /y SRA
Ball : HRC 62° ) 1
o Surface finish : Black Oxide. \* fus| a4 i
o Application : Precision swivel ball that can L 1
be used either as a contact bolt \ C 1 1 / Yo
or as a rest pad. As contact
bolts,these swivel-ball units are o Material : S45C(JIS) / CK45(DIN)
ideal for evenly distributing o Heat treated : HRC 30°~35° BA
clamping pressure on sloped or o Surface finish : Black Oxide.
uneven surfaces. _ o Application : use where quick hand CP
° Features : Precision ground top surface. ODEL NO ; : . 9 assembly is needed.
PT01-0610 21 10 M6x1.00 6 10 0.012
PT01-0814 25 12 M8x1.25 8 14 0.015
PT01-1017 30 16 M10x1.50 10 17 0.025
°P°9\ PT01-1222 35 22 M12x1.75 12 22 0.070 e 2 A : 2 : SU;
PTO01-1627 42 26 M16x2.00 14 27 0.140 PT03-0820 20 8 16 6 M 8 0.015
PT01-2036 58 27 M20x2.50 14 36 0.280 PT03-1025 25 10 20 8 M10 0.030
PT01-2436 65 32 M24x2.00 18 36 0.560 PT03-1228 28 12 24 10 M12 0.040
PT01-3046 80 35 M30x2.00 21 46 0.880 PT03-1630 30 12 25 10 M16 0.045 PT

S\ E
ALV
A
o Material : DKE
Bolt : S45C(JIS) / CK45(DIN) @ VISE
Ball : SUJ2(JIS) / 100Cr6(DIN) L=
o Heat treated :
Bolt : HRC 28°~32° L - T -
Ball : HRC 62° SERS
o Surface finish : Black Oxide. GEINS
o Application : Precision swivel ball that can \ C
be used either as a contact bolt o Material : S45C(JIS) / CK45(DIN)
or as a rest pad. As contact o Heat treated : HRC 30°~35° .
bolts,these swivel-ball units are o Surface finish : Black Oxide. O R
ideal for evenly distributing o 5 , : 5 -
clamping pressure on sloped or - 5 ] _ 5 -
uneven surfaces. PT04-0812 9 17 3 12 M 8 0.010 V-
° Features : serrated gripper is ideal for rough PT02-0610 21 10 M6x1.00 6 10 0.012 PT04-1017 13 22 8 17 M10 0.020 }:'AJ’
surfaces. PT02-0814 25 12 M8x1.25 8 14 0.015 PT04-1219 17 28 4 19 M12 0.040 Technical
Sl
PT02-1017 30 16 M10x1.50 10 17 0.025 PT04-1422 17 28 4 22 M14 0.040 Datal
PT02-1222 35 22 M12x1.75 12 22 0.070 PT04-1624 20 32 5 24 M16 0.060
PT02-1627 42 26 M16x2.00 14 27 0.140 PT04-1827 20 35 5 27 M18 0.070
PT02-2036 55 27 M20x2.50 14 36 0.280 PT04-2030 25 40 6 30 M20 0.110
PT02-2436 65 32 M24x2.00 18 36 0.560 PT04-2232 28 45 6 32 M22 0.150
PT02-3046 80 85] M30x2.00 21 46 0.880 PT04-2436 28 47 6 36 M24 0.185

6-1 AUXPARTS AUX PARTS = 6=2



LEAVE INDUSTRIAL LEAVE INDUSTRIAL
o Material : S45C(JIS) / CK45(DIN)
© Heat treated : HRC 22°~28°
o Surface finish : Black Oxide. A D
\ ‘
} BPA
3 B ‘ ‘ B
i ]
& - - - e
o Material : S45C(JIS) / CK45(DIN) OD 0 A . q .
\,v T
o Heat treated : HRC 30°~35°. PT05.0813 2 14 M 8 0,020 :
o Surface finish : Black Oxide. ST 5 7 T 0'030
o Application : Extends the length of PT05.1219 % 19 V12 0.046
clamping studs. .
PT05-1422 42 22 M14 0.065 _
PT05-1624 48 24 M16 0.110 S
PT05-1827 54 27 M18 0.150
PT05-2030 60 30 M20 0.220
PT05.2232 6 32 M22 0350 MODEL NO. A B [ kg MODEL NO. A B c kg
PT05-2436 72 36 M24 0.350 PT07-08050 50 2 0.020 PT07-18050 50 22 0.100 PT
PT07-08075 75 0.030 PT07-18075 75 30 0.150
PT07-08100 100 % 0.040 PT07-18100 100 3 0.200
PT07-08125 125 M8 0.050 PT07-18125 125 M18 0.220
PT07-08150 150 P=1.25 0.060 PT07-18150 150 50 P=2.5 0.300
PT07-08175 175 0.070 PT07-18175 175 0.320
PT07-08200 200 50 0.080 PT07-18200 200 65 0.360 SV E
PT07-08250 250 0.098 PT07-18300 300 80 0.600
PT07-10050 50 22 0.030 PT07-20050 50 22 0.125
T- S LOT N U T PT07-10075 75 30 0.042 PT07-20075 75 30 0.170
PT07-10100 100 % 0.055 PT07-20100 100 a8 0.230
PT07-10125 125 M10 0.070 PT07-20125 125 0.275
o Material : S45C(JIS) / CK45(DIN) PT07-10150 150 P=15 0.090 PT07-20150 150 50 0.360 ALAV
o Heat treated : HRC 30°~35° PT07-10175 175 50 0.108 PT07-20175 175 M20 0.437
o Surface finish : Black Oxide. PT07-10200 200 . 0.123 PT07-20200 200 65 P=2.5 0.450
PT07-10250 250 0.154 PT07-20250 250 0.550
PT07-12050 50 22 0.040 PT07-20300 300 80 0.700
PT07-12075 75 30 0.060 PT07-20400 400 100 0.880 DKE
OD 0 p B D g PT07-12100 100 % 0.080 PT07-20500 500 1.100 VISE
1 1 10.0 M8 0.020 PT07-12125 125 W12 0.100 PT07-22050 50 22 0.150
A PT06-1008 50 3.0 - 6.0 22 - PT07-12150 150 N bt 75 0.125 PT07-22075 75 30 0.223
PT06-1210 180 | 140 | 120 | 7.0 | M10 0.022 PT07-12175 175 ' 0.155 PT07-22100 100 i 0.300
l PT06-1410 220 GG 140 a6 M10 28 0.050 PT07-12200 200 65 0.160 PT07-22125 125 0.373 JER=
i PT06-1412 ’ : ’ ’ M12 0.048 PT07-12300 300 80 0.240 PT07-22150 150 0 0.448 = ‘“: ~
PT06-1612 250 | 160 160 60 M12 g | 0060 PT07-14050 50 22 0.060 PT07-22175 175 M22 0.522 GENS
PT06-1614 : - : : M4 0,057 PT07-14075 75 30 0.090 PT07-22200 200 o P=25 0.597
sy VI PT07-14100 100 a8 0.120 PT07-22250 250 0.746
W = - 28.0 | 20.0 10.5 W12 30 | 0.090 PT07-14125 125 M14 0.150 PT07-22300 300 80 0.895
PIOEARIZ 18.0 PT07-14150 150 o P=2.0 0.180 PT07-22400 400 o 1194 R
PT06-1814 wa | e o |LHE | g (00 PT07-14175 175 0.210 PT07-22500 500 1.492 OIHER:
| PT06-1816 ' ’ ' M16 0.085 PT07-14200 200 65 0.240 PT07-24050 50 22 0.177
i % PT06-2016 320 | 19.0 200 1.9 | M16 30 | 0.098 PT07-16050 50 22 0.078 PT07-24075 75 30 0.266
' E PT06.2018 | 320 | 25.0 O 40 mis | 38 | o110 PT07-16075 75 30 0.120 PT07-24100 100 w 0.355
—0.2 e M18 0178 PT07-16100 100 0.145 PT07-24125 125 0.443 Goltmn|
C-10 36.0 | 25.0 220 | 14.0 38 0'190 PT07-16125 125 38 0.180 PT07-24150 150 - M24 0.533 iur
. (PIOE-22210 b20 = PT07-16150 150 0.230 PT07-24175 175 p=3.0 0.620 jechnicall
i il PT06-2418 380 | 250 | 240 | 140 M8 | oo | 0184 PT07-16175 175 50 M16 0276 PT07-24200 200 o 0.710 Datd
| I PT06-2420 M20 0.250 PT07-16200 200 o P=2.0 0.290 PT07-24250 250 0.880
PT06-2620 M20 0.250 PT07-16250 250 0.350 PT07-24300 300 80 1.065
@ : : ‘ l : PT06-2622 WS | 280 | 280 | e M22 i 0.240 PT07-16300 300 80 0.450 PT07-24400 400 100 1.420
0O i PT07-16400 400 0.580 PT07-24500 500 1.775
PT06-2822 M22 0.330 100
I i 440 | 285 | 280 | 175 50 PT07-16500 500 0.700
_%_ PT06-2824 M24 0.312

6-3 AUXPARTS AUX PARTS = 6=4



LEAVE INDUSTRIAL

LEAVE INDUSTRIAL

PT10

LOCATING KEY

PTOS8

T-SLOT NUT(GROUND)

C B BP:
B 0
s
— e
: : 2 =g A
s CLo_1
G /
AVAVAVA
el T |
< i | O | _ _ | w M8 e
o Material : S45C(JIS) / CK45(DIN)
o Heat treated : HRC 30°~35° L e —
o Application : Ground surfaces provide JAVAVAN l Material : SCMA40(JIS) / 34CrMoA(DIN
accurate positioning inside G ° Ha erial : SCI o (4 o) rMo4(DIN) o
of t-slot. ° eat' tre'ated : .C 5 ' CP.
o Application : Multipurpose locating key.
MODEL NO. A B (o3 kg
PT10-1410 14 10.0 0.032 SU;
PT10-1815 18 49 15.0 0.033
MODEL NO. D E kg PT10-2009 20 39 95 0.028
PT08-1214 22 22 14 8 M12 0.045 PT10-2010 20 49 10.0 0.033
PT08-1618 28 30 18 10 M16 0.080 PT10-2015 15.0 0.034 PT
PT11
ALV
A 4
| OKE
‘ B 5 VISE
o Material : SCM220(JIS) y ‘
o Heat treated : HRC 30°~35° a G
o Surface finish : Black Oxide. s - - 0{ \vavavi \
o Application : use with PT28 to build custom 7 S JERS
clamping components. © GENS
o Features : Reamed hole for smooth g B B B
swiveling.
C
o Material : SCM440(JIS) / 34CrMo4(DIN) OTHER
o Heat treated : HRC 45° o
o Application : Threaded end makes
MODEL NO. A B Cc D E F kg removal easy.
PT09-10075 5| 4 | wio | 20 12 10 |0:080 Culluwn
PT09-10100 | 100 0.080 MODEL NO. A B c kg FREATEAT
PT09-12075 75 50 0.095 PT11-0825 8 25 M4 0.010 Datal
M12 25 14 12 -
PT09-12100 100 60 0.120 PT11-1030 10 30 M5 0.015
PT09-16125 125 60 0.250 PT11-1234 12 34 0.030
M16 32 17 16 M6
PT09-16150 150 75 0.300 PT11-1642 16 42 0.060
PT09-20125 125 60 0.400 PT11-2047 20 47 0.100
M20 40 22 20 M8
PT09-20150 150 75 0.485 PT11-2549 25 49 0.160

6-5 AuxPARTS

AUX PARTS = 6=0



PT12A-3028
NW : 70g
PT12B-3020

NW : 50g

PT12C-3028

P

NW : 60g

©-7 AUXPARTS

JACK SCREW TIP

o Material : SCM440(JIS) / 42CrMo4(DIN)

o Heat treated : HRC 60°

o Surface finish : Black Oxide.

o Application : Multipurpose support tip, use with SU11.

LEAVE INDUSTRIAL ‘ .®
LEATE
PT13-15

PT13 SERRATED END

GRIPPER NUT

o Material : S45C(JIS)
o Surface finish : Black Oxide.
o Application : Use for supporting workpiece.

PT14 FLAT END

ROUND END

@30
90°
| 3
| [s 9]
' o
| =
]
@109
930
+ C)I'
¢10%
#30
90°
IS
| (o]
| b d
|
! o
| —
1
®1098
G AL = -
@ S e
@
|~-; e

Slo:

o Features : Serrated B P
BPAS
| ——
4 D\ |
ol [ K B s
Y ‘ w N +— - —J-<| O
E - N
4 ) NN
,,,,, Ye
L
Tooth plate
o Material : SKH9(JIS)S18-1-2-5(DIN) N
° Heat treated : HRC 60° CP
o Surface finish : Black Oxide.
OD O A B D O
PT13-1220 M12 20 22 19 13 0.043
PT13-1625 M16 25 28 24 16 0.080 SU
Tooth plate
o Material : Exteremely hard.
o Surface finish : Black Oxide.
OD O A B D O PT
PT13-1220-K M12 20 22 19 13 0.043
PT13-1625-K M16 25 28 24 16 0.080
b B SV
|
/T\ AP -
| /| ! ALY
S T i % - <
| N
! DKE
VISE
OD O A B D g
PT14-1220 M12 20 22 19 0.043 :
PT14-1625 M16 25 28 24 0.076 JZ S
GENS
D
N OTHER
|
g - = <
\ Lolum
iur
\ / gechnicall
Daital
OD O A = D 0
PT15-1220 M12 20 22 19 0.042
PT15-1625 M16 25 28 24 0.063

AUX PARTS = 6=8



LEAVE INDUSTRIAL ‘ .®
LEA'E

PT16A ROUND END SWIVEL CLAMPING SCREW

PT16B FLAT END

LEAVE INDUSTRIAL

max B
MODEL NO. A B C (KN) g oo
PT16A_0408 80 O 6 MODEL NO. MODEL NO. A B C (KN) g
PT16A-0410 | 10.0 ) 4 0.7 ©, PT16B-0610 | PT16C-0610 | 10.3 15
FT16A0412 | 120 M4 08 ,/J}r PT16B-0615 | PT16C-0615 | 13.0 2.4 _—
. - 7 AN PT16B-0616 | PT16C-0616 | 16.3| M6| 3 9 2.4 S
PT16A-0416 | 16.0 1.1 (\ ,\1 PT16B-0620 | PT16C-0620 | 20.3 3.0
PT16A-0510] 10.0 1.0 S PT168.0625 | PT16C-0625 | 23.0 3.8
PT16A-0512 | 12.0 1.3 PT16B-0812 | PT16C-0812 | 11.2 32
PT16A-0516 | 160 | M5| 25| 5 17 < PT16B-0816 | PT16C-0816 | 16.4 41 I C
PT16A-0520 | 20.0 2.3 PT16B-0820 PT16C-0820 | 19.2| M8| 4 15 5.8
PT16B-0825 | PT16C-0825 | 25.4 7.3
PSS || 2] Z- o PT16B-0830 | PT16C-0830 | 29.2 9.0
PT16A-0610 | 10.8 1.5 RERE PT16B-1014 | PT16C-1014 | 14.0 5.0
PT16A-0615 | 13.5 2.4 i PT16B-1015 | PT16C-1015 | 15.0 6.7 CP-
PT16A-0616 | 16.8 | M6 | 3 9 2.4 i PT16B-1020 | PT16C-1020 | 20.0 8.7
PT16A-0620 | 208 3.0 B PT16B-1025 | PT16C-1025 | 25.0 | M10| 5| 20 | 11.2
[ | - - PT16B-1030 | PT16C-1030 | 30.0 13.7
\\\‘,// PT16A-0625 | 23.5 3.8 S PT16B-1035 | PT16C-1035 | 35.0 16.2 -
PT16A-0812 | 12.0 3.2 T/ \ PT16B-1040 | PT16C-1040 | 40.0 18.7 =
PT16A-0816 | 17.2 4.1 ) @ PT16B-1218 | PT16C-1218 | 17.0 10.0
< PT16A-0820 | 20.0 | M8 | 4 15 5.8 1\ ’ PT16B-1220 | PT16C-1220 | 22.0 12.5
PT16A-0825 | 26.2 73 N\ PT16B-1230 | PT16C-1230 | 30.0 | M12| & | 30 | 20.0
J‘ PT16A-0830 | 30.0 90 PT16B-1240 | PT16C-1240 | 40.0 30.0 PT
Y PT16A-1014 - 5' 0 PT16B-1250 | PT16C-1250 | 50.0 40.0
Ly i 15.0 : PT16B-1625 | PT16C-1625 | 24.0 28.0
I e PT16A-1015 | 16.0 6.7 PT16C SERRATED END PT16B-1635 | PT16C-1635 | 34.0 40.0
B PT16A-1020 | 21.0 8.7 PT16B-1645 | PT16C-1645 | 44.0 | M16| 8 [ 60 | 45.0 »
PT16A-1025 | 26.0 | M10 | 5 20 1.2 PT16B-1655 | PT16C-1655 | 54.0 55.0 SV.E
’ PT16A-1030 | 31.0 13 7 PT16B-1665 PT16C-1665 | 64.0 65.0
} \ : : PT16B-2030 | PT16C-2030 | 30.0 54.0
o ([ PT16A-1035 | 36.0 16.2 PT16B-2040 | PT16C-2040 | 40.0 | yion| 10 | oo [740
1\ PT16A-1040 | 41.0 18.7 PT16B-2050 | PT16C-2050 | 50.0 94.0
N~ PT16A-1218 | 18.2 10.0 PT16B-2060 | PT16C-2060 | 60.0 120.0 ALY
PT16A-1220 | 23.2 12.5 PT16B-2435 | PT16C-2435 | 35.0 90.0
+ Material - PT16A-1230 | 312 |M12|6 | 30 [ 20.0 /f- N PT16B-2450 | PT16C-2450 :g.g M24| 12 | 120 ; 22.8
Bolt : SCM21(JIS) / 34CrMo4(DIN) PT16A1240 | 41.2 30.0 & PTIGE-2480 | PTI6C-2480 1.5 ' OK-
Ball : SUJ2(JIS) / 100Cr6(DIN) PT16A-1250 | 512 200 VISE
o Heat treated : ~ < gl
e e e PT16A-1625 | 25.6 28.0
olt : ~32°. _ -
Ball : HRC 62°. PT16A-1635 | 35.6 40.0 75 v M
o Surface finish : Black Oxide. PT16A-1645| 45.6|M16 |8 | 60 | 45.0 '\,L / JER=
o Application : Ideal for clamping odd shaped PT16A-1655 | 55.6 55.0 ‘ 3'S
work pieces. PT16A-1665 | 65.6 65.0 -
o Features : Available with : Flat end,round PT16A-2030 | 32.0 54.0
end, serrated end, less chance of PT16A-2040 | 42.0 740
deforming the work piece due the — - M20 [10 90 . g T
rounded tip. PT16A-2050 | 52.0 94.0 T 2Rk
PT16A-2060 | 62.0 120.0 y
PT16A-2435 | 37.0 90.0
B colomi;
PT16A-2450 | 52.0 | M24 |12 | 120 | 130.0 jur
PT16A-2480 | 82.0 235.0 ’\ 3‘-)»'5imlwl
D ditd]

6-9 AUXPARTS AUx PARTS ©6-10



.' L] _.'I
LEAVE INDUSTRIAL ‘ .® ] " 0 g I LEAVE INDUSTRIAL
LEA'E

PT17A ROUND END SWIVEL SHOULDER CLAMPING SCREW

PT17B FLAT END

MODELNO. A B C D E :'I'(‘;’l‘) g
max -
MODEL NO. A B C D E g PT17B-0615 | 14 5.3 BP.
(KN) PT17B-0625 | 23 |10| 5|6 [M 6| 9 7.4
PT17A-0615 | 14.5 5.3 PT178-00%5 | 33 e
PT17B-0820 | 18 13.5
PT17A-0625 | 235|110 5|1 6 |M 6| 9 7.4 PT178-0830 [ 28| 0| | o [y sl 15 |20-0
PT17A-0635 ] ] PT17B-0840 | 38 24.0 ).
33.5 9.5 PT17B-0850 | 50 30.0 134
PT17A-0820 | 18.7 13.5 PT17B-1025 | 24 26.0
PT17A-0830 | 28.7 20.0 PT17B-1040 | 39 |16 | 8 [10|M10| 20 [ 34.0
1 M _
pT17A.0840 | 387] | ° | &8 (M8 10 o0 A R 2
] Yo
PTT7A-0850 | 80.7 200 P taes el | 0| 12 M2| % oo
PT17A-1025 | 25.0 26.0 FT17-1280 | 80 o
c PT17A-1040 | 40016 | 8 |10 | M10 | 20 34.0 PT17B-1640 | 39 90. 0
PT17A-1 PT17B-1650 | 49 110.0 =3
060 | 60.0 46.0 eTi7B1605 T ea 24| 14[ 16| 16| 60 [H=0 CF
\ / PT17A-1230 | 31.2 40.0 PT17B-1690 | 89 170.0
N PT17A-1245 | 46.2 50.0 PT17B-20050| 50 185. 1
| 1811012 | M12| 30 PT17B-20080| 80 | 30|17 | 20| M20| 90 | 256.4
PT17A-1265 | 66.2 70.0 PT17B-20100| 100 3012
< PT17A-1280 | 81.2 83.0 PT17B-24060| 60 324.8 S
PT17B-24090| 90 | 36| 19|24 | M24 | 120 [ 283.5
Iz:I ;212:8 482 1?88 PT17B-24120(120 351.0
- 50. )
- 24 114116 | M1
Ry PT17A-1665 | 65.6 6 6| 60 130.0 PT
o TT"TT PT17A-1690 | 90.6 170.0 PT17C SERRATED END
 ———— PT17A-20050| 52.0 185.1 MODELNO. A B C D E :T(a;) g
PT17A-20080( 82.0|30| 17120 | M20| 90 | 256.4 PT17C-0615 | 14 5.3
PT17A-20100(102.0 301.2 PT17C-0625 | 23 |10| 5 (6 |[M 6| 9 7.4 SV
PT17C-0635 | 33 9.5
PT17A-24060| 62.0 324.8 PT17C0820 | 18 13.5
PT17A-24090| 92.0| 36| 19|24 | M24 | 120 | 283.5 PT17C-0830 | 28 20.0
PT17A-24120[122.0 351.0 e Y Bl L
. . PT17C-0850 | 50 30.0 ALY/
PT17C-1025 | 24 26.0
PT17C-1040 | 39 [16| 8 |10|M10| 20 | 34.0
PT17C-1060 | 59 46.0
PT17C-1230 | 30 40.0
PT17C-1245 | 45 50.0 ORE
Vatorial PT17C1265 | 65| 0| 10| 12[M12] 30 05 VISE
o Material : PT17C-1280
Bolt : :CM2(1(J|)S/) / 3‘ECFII/|04(;3|N) PT17C-1640 28 23:8
Ball : SUJ2(JIS) / 100Cr6(DIN PT17C-1650 | 49 110.0
o Heat treated : PT17C1665 | 64 | 2+ | 14|10 |M16] 60 5500 JERS
Bolt : HRC 28°~32° PT17C-1690 | 89 170.0 GENS
Ball : HRC 62° PT17C-20050| 50 185. 1
o Surface finish : Black Oxide. PT17C-20080| 80 |30 |17 |20|M20| 90 [256. 4
@ Application : Support or clamp the work PT17C-20100 100 301.2
) PT17C-24060| 60 324.8 )
piece. - ) JZ
o Features : Available with : Flat end,round PT17C-24090| 90 | 36| 19 24| M24 | 120 | 283.5 -
end, serrated end, less chance PT17C-24120] 120 351.0
of deforming the work piece due
the rounded tip. {Z;U.uwn
Jur
dechnicall
Daital

6-11 AuxPARTS AUX PARTS ©-12



LEAVE INDUSTRIAL LEAVE INDUSTRIAL
A
512
¢B E
. B VA | | DA |
o Material : SCM435(JIS) / 34CrMo4(DIN) . | e
o Heat treated : HRC 32°~38° S| vl . - e : :
o Serrated surface to be heat treated with . il BHRA
high frequency quenching. 15 J
o Surface finish : Black Oxide. — =
o Application : Multipurpose work supportand L Ol B + B
clamping unit, ideal for rough o Material : SKH9(JIS)/S18-1-2-5(DIN)
parts. MODELNO. A B C D E _ F W Tooth plate ® Heat treated : HRC 60° 28
° Features : Excellent holding power from the E]g:}gf.f, §§ 65(M0| 5|4 | 23 8: 8;2 o Material : SKH9(JIS) ° SUI’f?CeIfInIS'h : Black Oxide.
serrated face. PT18-1225 | 25 0.022 $18-1-2-5(DIN) ° Application : Multipurpose work support ‘
rie-raso [so | °O M2 O % | 2% fooss| o Heattreated : HRC 60° and clamping unit, ideal for
PT18 PT18-1650 gg 1.5|M16] 8| 6 3.0 g: 832 fough parts. G 1
PT18-2025 | 25 0.058
PT18-2050 | 50 | > °|M20| 10| 8 30 o420
MODELNO. A B C D E F kg Tooth plate
PT18-1025-K | 25 0.015| o ial -
PTis-1050K [ aa| &5 |M10| 5 231 e Material : exteremely hard oD 0 - - . g SU
PT18-1225-K | 25 0.022
PT18-1250K | 50 8.0 (M12| 6|5 23 5 oE PT20-1010 10 10 M5 23 0.008
PT18-1625-K | 25 0.038 PT20-1210 12 0.010
1.5 M6 | 8|6 30
e o.078 PT20-2010 20 10 M6 30 | 0.030
PT18-2050K | 50 | > | M ["*[®] %5120 PT20-2510 25 0.043 PT
S\/E
C B _ A c AT
o ! i
S A T
a T i PDK=
< LL’* - - LIJ }:iiiiii? J_"” -
. T ] ! VISE
> Material : SCM435(JIS) / 34CrMo4(DIN) : ° Material : S45C(JIS)/CK45(DIN) s w B
o Heat treated : HRC 32°~38° ° Heat treated : 'HRC 33 5 —
o Serrated surface to be heat treated with ¢ Surfa_me .f|n|s.h ) Bl.ack Oxide. - JER-
high frequency quenching. Tooth plat * Application : Multipurpose work support ENS
o Surface finish : Black Oxide PT19-061025[,,. | 6.0[10 ] 7.9 | M6 [ 2.3 [ 0.008 ooth plate and clamping unit, ideal for B GEINS
e C e ) PT19-081325 7313 | 95 | M8 |30 0015| © Material : SKHO(JIS) rouah parts
o Application : Multipurpose work support PT19-101725[25 [ o | - [ 4157 [ w10 | 3.0 [2:030 S18-1-2-5(DIN) gnpars.
and clamping unit, ideal for PT19-101740 /40| i | 0.035 . o
PT19-121925 | 25 0.035 © Heat treated : HRC 60
rough parts. 95|19 | 159 [M12]| 3.0
. PT19-121940 | 40 0.050 MODEL NO. A B (o] D E F kg Tooth plate C‘ [HE
® Features : Excellent holding power from PT19-162435(35 [, | 54 | 4194 | w16 | 3.0 [2:085 PT21-1010 1101100 | 34 | M5 | 23 | 81] 0.005 : -
the serrated face. PT19-162450 |50 | * ) ~ [l0.100 PT21\\ PTot-1212 112 : . : 9-6 0.008 o Material : SKH9(JIS)
PT19-203040 | 40 0.160 - 610 1-2-
PT19.203060 60| 145 | 30 | 254 [M20| 3.0 |- =22 j\/\ Prie12 [16] 20 | *0 | M0 |30 H30 0016 Heat t f;?:iécségim
PT21-2012 3] 0. o Heat treated : "
PT19\[ M\V\A ] MODEL NO. A B C D E F kg Tooth ol PT21.2512 ;O 120 | 40 | M6 | 3.0 ::g 3 8 84212 :':J.UJ.IJJJ
| PT19-061025-K | , | 60 | 10 | 7.9 | M6 |23 0.008 ooth plate - 5 510 Al
‘ PT19-081325.K 73 | 13 | 95 | M8|30]0015]| © Material : exteremely hard ‘ T Tsdinlen
PT19-101725K | 25 0.030 Datdl
(L' 1) PTi9-101740K [ 40 | o4 | 17 | ™27 [M19] 39 5035 i i i MODEL NO. Tooth plate
‘ PT19-121926K | 25 | o o | 1o | 159 |12 3.0 10035 ‘ PT21-1010-K | 10 | 10.0 | 3.4 | M5 |23 | 8.1/0.005 o Material : exteremely hard
! PT19-121940K | 40 0.050 | PT21-1212-K | 12 120 | 40 | M6 | 3.0 9.6/0.008
| ggjgizggﬁ gg 120 | 24 | 19.1 |M16] 3.0 8'332 PT21-1612-K | 16 | | ™ [13.0]0.016
; - PT21-2012-K | 20 16.3]10.025
PT19-203040K | 40 0.160
PT19-203060-K | 60 | > | 30 | 254 |[M20] 30 I'o0s PT21-2512K | 25 | 20 | 0 | M8 |39 [g5[0.040

6-13 AuUxPARTS AUX PARTS 6=-14



LEAVE INDUSTRIAL

LEAVE INDUSTRIAL

SPACER SWING "C" WASHER

¢A B : 51
G
A\VAVAVA ;
\ ==
S ' BRA
@ |
+1 -t
© i
f
G ¢B .
e
o Material : S45C(JIS)/CK45(DIN) © Material : 4140(JIS)/CK45(DIN)
o Heat treated : HRC 40° o Heat treated : HRC 40°
o Application : Use with jig components for °3Uﬁécelfini5h : Black Oxide. . o
Increasing height or extending MODEL NO. A B c kg o Application : Cfvl/:sher tf;at S\INIngT Ol;t. =£
length. of the way for clean loading.
PT22-1303 3 0.030 Can be reversed to swing into
PT22-1305 40 13 5 0.045 position either clockwise or
PT22-1310 10 0.100 counter-clockwise. "
PT22-1330 30 0.300 SU.
PT22-1703 3 0.035 Ob O A 0 D g
PT22-1705 5 " 5 0.070 PT24-0632 | 11.0 | 32 | 24 | 16 8 6 | M6 8 | 15 [0.050
PT22-1710 10 0.350 PT24-0840 13.5 40 27 20 10 8 M8 10 20 |0.090
PT22-1730 30 0.950 PT24-0850 18.0 50 33 20 10 8 M8 10 20 |0.130 PT
SVE
1 Palll
C" WASHER SPHERICAL WASHER
ALV
R
c / D
:
| DK
@ 2 | VISE
1 38
|
%% %% % %% T %0%% %% % %%
\
- - 2 A oc JERS
GEINS]
o Material : S45C(JIS)/CK45(DIN) DA
o Heat treated : HRC 40° <
o Surface finish : Black Oxide.
Application : Use where quick assembly Is \ o Material : S45C(JIS)/CK45(DIN) OTHER
important. © Heat treated : HRC 38° -
o Features : Washer that slides in and out Of o Surface finish : Black Oxide. MODEL NO. A B C D R kg
position for clean loading. ° Application : Two-piece washer that PT25-0819 19 6.2 10 9 20 0.013
compensates whenever a stud o5 1027 22 8.0 12 7 0.019 COTUTT
MODEL NO. A B c kg and clamping surface are not PT25-1226 26 75 15 13 32 0.024 .’;";m“],,a |
PT23-0835 9 35 . 0.065 exactly perpendicular. PT25-1428 28 o0 16 15 0.033 DatS
PT23-1040 1 40 0.065 PT25-1632 32 : 19 17 40 0.058
PT23-1255 13 55 10 0.150 PT25-1835 35 10.0 20 19 0.050
PT23-1665 17 65 0.200 PT25-2040 40 1.8 23 21 48 0.089
PT23-2080 21 80 10 0.300 PT25-2245 45 12.5 26 24 0 0.110
PT23-2490 25 90 12 0.470 PT25-2450 50 135 28 27 0.150

6-15 AUxPARTS AUX PARTS ©6-16



LEAVE INDUSTRIAL

LEAVE INDUSTRIAL

LOCATING KEY SWIVEL JOINT SUPPORT

A B
B C
C }—K Clamping B
- - E %Lﬂ 7‘ ring
- l
G I & @‘ -
| \VAVAV/ rl— QS
o 0 : BPA
© I -~
1 I B I S | = o Material : S45C(JIS)/CK45(DIN) ’7@*
| | oy o Heat treated : HRC 32°~38°
JI_ - ~ o Surface finish : Black Oxide. oH
T VAVAVAN _l_, o Application : Use with PT09 to build up a e
G 1 swiveling jig. o 1 M
o Material : S45C(JIS)/C105W1(DIN) [ 1
o Heat treated : HRC 50° D Cap_SCreW Hole - - \
o Application : Locate & align jig components OUO-J ?8 - = ] -
T-slot, ground surface provide CP:
accurate placement. [ ‘
=0 -
MODEL NO.
PT26-1812 12 0.035 ODEL NO. A B D : S|
PT26-1814 14 PT28-1025 28 25 18 70| 24 28 12 10 | M10 | 10 |0.055
PT26-1816 16 12 25 M6 55 PT28-1230 34 30 21 75| 25 30 14 12 | M12 | 12 |0.105
PT26-1820 20 0.040 PT28-1640 | 42 | 40 | 26 | 90| 34 | 40 | 17 | 16 | M16| 16 |0.210
PT26-1822 22 PT28-2050 52 50 32 | 11.0 | 42 50 22 20 | M20 | 20 |0.300 PT

SWIVEL PAD

LOCATING KEY

ATV
B
| C | E
D ORE
#C E _F VASE
T L - o Material : S45C(JIS)/CK45(DIN)
2 | | o Heat treated : HRC 32°~38°
o Material : S45C(JIS)/C105W1(DIN) 1 N <| o Surface finish : Black Oxide. T = JERS
o Heat treated : HRC 45°~50° L j . o Application : Use for supporting uneven T = j‘r o \\ GENS
o Application : Locate & align jig components = surfaces. 0 /| N SRR
: -+ - < &L IEE ‘ AN+
T-slot, ground surface provide — \ % [ AN
accurate placement. \ Y/
P D Cap-Screw Hole @ \ y : -l OTHER
1 - \ LSS
PTO7\ ﬁ
MODEL NO. A B c D E kg L/ / Columm
o jur
PT27-1008 10 s 20 M4 35 0.015 ] Tachnical
PT27-1208 12 M5 25 0.019 N Data
o i - opEL NG : : :
3 A=
PT27-1810 18 10 22 M6 35 0.095 A % PT29-1219 M12 19 35 24 11 7 | 0.080
PT27-2010 20 ’ = PT29-1624 M16 | 24 40 29 13 0.150
PT27-2210 22 0.030 PT29-2029 M20 | 29 50 40 18 10 | 0.300

6-17 AUXPARTS

AUX PARTS ©6-18



LEAVE INDUSTRIAL

LEAVE INDUSTRIAL

SHOULDER DOWEL PIN

\Vavav4 .
=] : C
BRA
© 2
| RS eeaesagel o
=y =)
BC
== ! ===
MODELNO. A B ¢ D E kg CP.
PT30-08 226 | 333| 63 15 M 8 80 | 0.032 OMaterlaI:SC.M435(JISO)/34CrM04(DIN) :
PT30-10 | 41.0| 415| 80 | 18 | M10 | 150 | 0.063 °:ea|t,tre?ted. MH$?5§ Position
PT30-12 | 500| 51.0| 100 | 22 | M12 | 220 | 0.125 ¢ Application = Multifuction Positioning.
PT30-16 600 | 600 125 | 27 | M16 | 450 | 0.216 MODEL NO. A B c D kg )
PT3020 | 720| 71.0| 160 | 30 | M20 | 630 | 0.400 PT32-081225 8 13 12 12 0.012 SU,
PT3024 | 90.0| 90.0| 200 | 38 | M24 | 950 | 0.830 PT32-121632 | 12 18 14 16 0.032
PT30-30 | 110.0 | 1100 | 250 | 45 | M30 | 1500 | 1.500 PT32-142037 | 14 22 15 20 0.052
PT30-36 | 133.0 | 1315 | 315 | 55 | M36 | 2300 | 2.900 PT32-162239 | 16 22 17 22 0.072
PT3042 | 151.0 | 1505 | 355 | 65 | M42 | 3400 | 4.400 PT32-182542 | 18 25 17 25 0.098 PT
SVEF
ALV
F
B @C y
DKe

G . VISE
/R G \3)—}_‘

T
\ J -
ST
S . - - = ° GENS
L
\J -

. %D OlHER
> Material : S45C(JIS)/CK45(DIN) PA
o Heat treated : HRC 32°~38°

> Material : SCM435(JIS)/34CrMo4(DIN) > Surface finish : Black Oxide. oo

o Heat treated : HRC 32°~38° PT31-1245 45 23 57 0.053 o Application : Used where quick hand jur
o Application : Position & fasten this PT31-1255 55 33 67 0.060 assembly is needed. fechicel]
12 18 M12 10 4 DAt
accurately ground bolt. PT31-1265 65 43 77 0.070 MODELNO. A B C D E F & H 1 kg
PT31-1275 75 53 87 0.078
57311655 = S = T PT33-0830 | 30 | 17 | 20 | 24 | 11| 7 [ M4 | 3 | m8|o0.05
PT31-1665 65 20 82 0.140 PT33-1035 | 35 | 20 | 28 | 30 | 13 | 8 | M4 | 4 [wm10]0.09
PT311675 | '© [75 1% 50 |M"® 921 ™ 0150 PT33-1240 | 40 | 24 | 32 | 34 | 15 | 10 | M5 | 4 |M12[0.12
PT31-1688 88 68 105 0165 PT33-1645 | 45 | 30 | 35 | 38 | 18 | 12 | M6 | 5 | M16]0.18

6-19 AuxPARTS AUX PARTS 6=20



LEAVE INDUSTRIAL

LEAVE INDUSTRIAL

PROTECTION PLUG

S45C(JIS) / CK45(DIN)
A B
B
e —(: BPA
| B
o !
S | L .
i 1@
f
]
OD O A B D O
e)
PT34-10 11 19 10 M10 0.015 o Material : N
PT34-12 14 22 1 M12 0.018 Body : S45C(JIS) OD O A B g
PT34-16 18 25 13 M16 0.035 .
Ball : SUJ2(JIS) PT35-0814 36 25 7 14 | M8x1.25 | 0.025
° Heat treated PT35-1017 45 | 30 8 | 17 [M10x1.50 | 0.055 )
PBT Body : HRC 253 ~32 PT35-1217 50 | 35 10 17 | M12x1.75 | 0.055 SU,
Ball : HR_C_62' _ PT35-1624 60 | 40 12 24 | M16x2.00 | 0.140
© Surface finish : Black Oxide. PT35-2036 87 | 60 | 14 | 36 | M20x2.50 | 0.330
PT35-2436 98 | 66 18 36 | M24x2.00 | 0.660
PT35-3046 110 | 75 21 46 | M30x2.00 | 1.100 PT
SV E
ALV
OD O A B D q A
PT34-12-PBT 14 22 14 M12 4 0.005 E 0 B
PT34-16-PBT 18 25 11 M16 5 0.010 9 |- DK
/\ /Y ( ) LLSE
AL - OA —
N [ ‘
_ L O] _ | — — — L —
/ Il Sk ‘ JER-
II \ — GENS'
2 \/ (:)
A | . . OTHER
\-—-"’" ° Material :
h "'"—"':-; | s Body : S45C(JIS)
— o Ball : SUJ2(JIS) ODEL NG ; . ] Column
° Heattreated - PT36-0814 36 | 25 7 | 14 | M8x1.25 | 0.025 i
o Body : HRC 28°~32° ' X : jEchical
Ball | HRC 62° PT36-1017 45 30 8 | 17 | mM10x1.50 | 0.055 Dars
N AL o Surface finish : Black Oxide. PT36-1217 50 35 10 | 17 | M12x1.75 | 0.055
o Material : S45C(JIS) / CK45(DIN) / PBT/AL PT36-1624 60 40 12 | 24 | M16x2.00 | 0.140
o Application : Protect unused MTP holes from oD o A B D . PT36-2036 87 60 14 36 | M20x2.50 | 0.330
Chips & dirt. PT3412AL 12 %5 10 M12 0.007 PT36-2436 98 | 66 18 | 36 | M24x2.00 | 0.660
ST AL s 30 ” M16 0.015 PT36-3046 110 75 21 | 46 | M30x2.00 | 1.100

6-21 AUXPARTS AUX PARTS ©-22



LEAVE INDUSTRIAL

LEAVE INDUSTRIAL

CLAMP REST

SWIVEL REST TIP

512
A
Ez0.1 D /_
i 3
1 \ lr!_ BPA
_ . O _ — e
‘_ sl ]
\ —
| I —
I _ %3
| L B _D|E | G | b
o Material : ) o Material : S45C(JIS)
Body : S45C(JIS) L o Heat treated : HRC 35° B
Ball : SUJ2(JIS) o Surface Finish : Black Oxide.

o Heat treated : — oD
Body : HRC 28°~32° b
Ball : HRC 62°

o Surface finish : Black Oxide.

SU;
OD O A B D O
OD O . B D 9 A PT39-1219 M12 75 9.5 6 9 19 60 0.09
PT37-1116 25 11 10 10 143 | 003 PT39-1624 | M16 | 80 | 110 | 7 [ 10 | 24 | 63 | 017
PT37-1118 30 1 12 10 18.0 0.04 PT39-2030 M20 | 100 | 12.0 8 12 30 80 0.35 PT

ROTARY T-SLOT NUT

ALV

OKE
VISE

JERS

GENS'

o Material : S45C(JIS)
o Heat treated : HRC 30°~35°

o Surface Finish : Black Oxide. O iHIER

i E R

oD 0 A B g o] ammn;
PT38-1210 1.7 | 175 55 | 127 | 115 | M10 | 0.010 fur
PT38-1412 138 | 222 87 | 158 | 135 | M12 | 0.023 gechnicall

AN o PT38-1614 158 | 254 87 | 158 | 155 | M14 | 0.030 Dasd

f ) \\ PT38-1816 17.8 28.5 1.1 19.0 17.5 M16 | 0.030
\ \ PT38-2018 19.7 31.7 1.9 19.0 19.5 M18 | 0.044
5 : k PT38-2220 21.7 36.0 13.8 25.4 21.5 M20 | 0.062

PT38-2420 235 38.2 14.0 254 235 M20 | 0.092
PT38-2824 26.9 413 17.5 28.5 27.5 M24 | 0.162

6-23 AUXPARTS AUX PARTS 6=24



LEAVE INDUSTRIAL

LEAVE INDUSTRIAL

T-SLOT BOLT SWIVEL FLANGE NUTS

B
2D
P E B
B al ‘ :_
| o - —f——-- - | «
~ T PA
_— 2/3H
ELF | ¢d \
£ - ! PT25
G L B
< 1 He
1 A © |
s Y | R
° Material : S45C(JIS) MODELNO. A B C D d E F H K R kg Ch
o Heat treated : HRC 32°~35°
) H + Surface finish : Black Oxide. PT41-0813 [ 120 19 [, ©| 13 | 10 | ™8| 78] 7 [150] - [0.021
PT41-1017 | 13.0 | 22 17 | 12 [mio| 84| 8 [ 165 0.032
PT41-1219 | 143 | 26 | 40 | 19 | 15 | mM12 | 90| 10 | 190 | 32 [0.046
PT41-1422 | 175 | 28 22 | 16 [ w4114l 1220 0.066 SU
PT41-1624 | 200 | 32 | 45 | 24 | 19 | M16 | 12.8 238 | 40 [0.103 -
) ) PT41-1827 | 206 | 35 27 | 20 [ m18 | 136 | 12 | 255 0.106
° Material : S45C(JIS)steel forging PT412030 | 25.0 | 40 30 | 23 | M20 | 166 | 14 | 310 | 48 |0.183
o Heat treated : HRC 32°~38° PT41-2232 | 254 | 45 | 6.0 | 32 26 | M22 | 16.9 315 o 0.210
o Surface finish : Black Oxide. PPERNO : i ° | PT41-2436 | 28.0 | 50 36 | 26 |m2a | 187 ° [335 0.270 PT
PT40-12050 50 0.054
PT40-12075 75 0.057
PT40-12100 100 0.110
PT40-12125 M12 12 26 22 7 6 13 125 0.125
PT40-12150 150 0.140 o
PT40-12175 175 | 0.170 SV
PT40-12200 200 0.185
PT40-16050 50 0.130
PT40-16075 75 0.160 T-SLOT N UT- B LAN K
PT40-16100 100 0.200
PT40-16125 M16 16 32 27 8 8 16 125 0.230 .‘\ 1,/
PT40-16150 150 0.270
PT40-16175 175 | 0.305 I—\
PT40-16200 200 0.325
PT40-18075 75 0.270 ~o
PT40-18100 100 | 0.320 a2 DKE
PT40-18125 M18 18 40 30 1 1 29 125 0.340 -ﬂ: U ‘[l ; E
PT40-18150 150 0.385
PT40-18175 175 0.445
PT40-18200 200 0.490
PT40-20075 75 0.290 J =gl
PT40-20100 100 | 0.350 D ,_-**‘*f _
PT40-20125 125 | 0.400 GENS
PT40-20150 150 0.455 E B
PT40-20175 P 20 & S0 il f 22 175 0.505
PT40-20200 200 0.560
PT40-20250 250 0.660 U J_} :L. R
PT40-20315 315 1.000 MODEL NO. A B c D E kg -
:222222 122 ggfg o Material : S45C(JIS) _ PT42-1022 15.8 10 47 0.026
PT4022150 | M22 | 22 | 40 | 38 | 14 | 13 | 27 [ 150 | 05580 © Surface finish : Black Oxide. PT42-1222 175 127 12 5.5 22 0.032 .
PT40-22175 175 | 0.635 PT42-1428 222 155 14 8.7 28 0.064 J“j“r““"
PT40-22200 200 | 0.700 PT42-1628 25.4 ' 16 8.7 0.073 Technical
fale0,2:100 0 _|| 068 PT42-1830 285 18 1.1 0.112 Data
PT40-24125 125 | 0690 PT42-2030 31.7 190 20 1.9 30 0.128
PT40-24150 M24 24 50 44 16 15 31 150 0.775
PT4024175 175 10855 PT42-2238 36.0 250 22 13.8 58 0.223
PT40-24200 200 | 0.925 PT42-2438 38.2 24 14.0 0.239
PT42-2644 413 25.0 26 15.8 44 0.309
PT42-2850 44.0 28.5 28 175 50 0.403

6-25 AuUx PARTS AUX PARTS 6-26



LEAVE INDUSTRIAL

LEAVE INDUSTRIAL

THREADED INSERT

: A
5 1 7
| F | I I ._r"": BP
| i | i ! wl r2 =
L=
i | | \;-_'_:
= i i il
| i | ]
L | A 3PA
| | 5 A
B ' il Lo S B+0.1 D
3 t L
i
A e
B MODELNO. A B c D E F kg
PT45-061 1 )
50610 | e %) 4o | 41 | 115 | 8 [2008
© Material : S45C(JIS) PT45-0620 20 0.013
o Heat treated : HRC 32°~35° PTA50815 | g 2| 44 | 13 | 161 | 10 [2018 CP.
o Surface finish : Black Oxide. oL e i : J © Material : S45C(JIS) PT45-0830 30 0.033
PT43-0612-10 | M6x1.00 | M12x1.5 | 10 | 0.005 o Surface finish : Black Oxide. PT45-1020 1o 20 | | 4 | 1ee | 13 004
PT43-0814-12 M8x1.25 | M14x1.5 | 12 0.008 ° ngh frequency quenchlng. PT45-1040 40 : 0.080
PT43-1016-15 | M10x1.50 | M16x1.5 | 15 | 0.010 PT45-1225 25 0.070
M12 19 20 | 219 | 15 51
PT43-1218-16 | M12x1.75 | M18x2.0 | 16 | 0.015 PT45-1250 50 0.126 S
PT43-1420-18 | M14x2.00 | M20x2.0 | 18 | 0.300 PT45-1630 30 0.130
M16 24 25 | 277 | 20
PT43-1622-14 | M16x2.00 | M22x2.0 | 14 | 0.020 PT45-1660 60 0.230
PT43-1622-20 | M16x2.00 | M22x2.0 | 20 | 0.025 Pras2030 | 130 | oo | 5 [ a4 | 28 [0290
PT43-2028-25 | M20x2.50 | M28x2.0 | 25 | 0.050 PT45-2060 60 0.360 PT
S\ E
. o Material : SUJ2(JIS) AT
' ° Heat treated : HRC 60° C ‘ . B D _
| b2 _ _ €) 1€~
L ﬁ» ) } < ;j.;,” .
N4/ 5
oF o
50025 JER
+0.015 (=
MODELNO. A B C R!1 R2 R3 L1 kg Tooth plate EENS
PT44-0613-10 | 6 | 13 0.007 ial : _1-2- B
R1 Y 10 101 05| 05 | 125 © Material SK.HQ(JIS)/°S18 1-2-5(DIN) Tooth plate
/— l R3 PT240815-10 | 8 | 15 0.009 o Heat treated : HRC 60 © Material : Exteremely hard.
a { ARSI A0 | o e | ag | s | e (2N MODELNC. A B C D E F G kg IMODELNO. A B C D E F G kg
| ‘ | PT44-1220-12 | 12 20 0.017 © Material : S45C(JIS)/34CrMo4(DIN) ATHER
‘ ‘ A A PT46-0610 10 0.008| | PT46-0610-K 10 0.008 OTHER
; ; PT44-1423-16 | 14 0.030 Heat treated : HRC 28 °~ 32 M6 10| 11| 115| 65 | 23 M6 10| 11]115| 65| 23
23 | 16 | 15| 1.0 | 05 | 1.50 _ PT46-0620 20 0.013| [ PT46-0620K 20 0013
(@] \ \ PT44-1523-16 | 15 0.028 o Serrated surface to be heat treated with E e T ET H P
‘ ‘ 1623- high f hing. M8 14]13 | 16.1] 81| 23 M8 14| 13|16 | 8.1 | 23
; | ; — SRR 23 6 | 45| 10| o5 | 1.50 12928 Slg rf requ:nrc‘;y. ?Bulenlf Omg | PT46-0830 30 0.033| [ PT46-0830K 30 0,033
- ¥ ° : .
} | ‘ e " — Au Iﬁ'lcet'I IS’ M It'alc o Kk rt PHGA020) 10l 221 17| 16| 106] 114 30 |ooid] [PHEAZK Y\ oL 20 1o 16196 | 114 30 oot
V\L § t PT44-182620 | 18 | 26 | 20 | 1.5 | 1.0 | 05 | 150 | 0.040 ppifeaton : Multipurpose worlk suppo Sraeiool " sos0] [P " o 0080
v R2 T o Lo o Eamgmg o e PTG 1225 \1al 22 19 | 20 | 219 13.0] 30 |20l [PTACTZK ol 25 F gl 20|219] 130 30 |22
3B+0.005 PT44-2230-20 | 22 | 30 | 20 | 20 | 15 | 0.5 | 2.50 [0.050 © Foatures : Emung ff‘ E‘ . PT46-1250| | 50 P17 [oa26] [Prasrasok || 50 S [0z
= PT44-2535-20 | 25 | 35 0.070 eatures - Excellent holding power from PT46-1630 ) 0130 | PT46-1630K 30 0130
PTaa300225 | 30 T a2 T 25 |20 115 [ 05 1280 [0.130 the serrated face. —rasreoo M6 el 24| 25 | 217 162{ 30 | e MBI 2425|277 | 162 30 |-
PT44-4055-30 | 40 | 55 20 | 2o |l 20 | 96 | 26 0.255 PT46-2030 M20 0 30 |25 [346(252| 30 0200] | PH62030K M20 %0 30| 25/346|252| 3.0 0200
PT44-5070-30 | 50 | 70 : : : " [0.430 PT46-2060 60 2124 *7 [o360] [ Prac-2080 60 21247 (0360

6-27 AUX PARTS AUX PARTS ©-28



LEAVE INDUSTRIAL LEAVE INDUSTRIAL

T47-49
BALL ROLLERS SMOOTH BALL END BOLT

o Material : SUS304(JIS)

A
PT47
B0.1 SR
0 oE
i D-0.1 B [o
o C
A | /
=S - S BPA
o Material : =) '
i Bolt : S45C(JIS) / CK45(DIN) i TS| - - L
; 5 E S S Ball : SUJ2(JIS) / 100Cr6(DIN) /
o Heat treated : B BC
Bolt : HRC 28°~32° [
Ball : HRC 62°
@ Surface finish : Black Oxide.
o Application : Precision swivel ball that can
be used either as a contact CP
bolt or as a rest pad. As MODELNO. A B c D | E|E ]
MODELNO. A B C D E F Nk contact bolts, these swivel-ball T Y BT T e () -
. . - X71. .
PT47-1615 | M16 | 20 | 33 | 16 | 24 |15.87|343(35) :f":?bar? 'deT' for evenly PTS0-0813 [21[13] . T 72 [13[11] 10 13
PT47-2018 | M20 | 25 | 53 | 19 | 30 |19.05|412(42) s r: u '39 clamping pr‘ifssure PT50-0818 |28 18| O “°[105|20[17] 25| 38 suU
on sloped or uneven surlaces. “pr50. 4018 | 28 18 | M10x1.50
o Features : Precision ground top surface. PT50-1218 | 30 Mi2x1.75] 1052017} 25| 40
PT50-1627 |43 |27 | M16x2.00 | 20.0 [ 30|27 | 90 | 150
D -0 PT50-2035 |55 |35 | M20x2.50 | 34.5 | 50 | 41| 165 | 520
- C 0.1 B *Applies only when the minimum bore depth is kept to. PT

L

(\ -.=$J E\F*_é_ — _ ' PT51 |
\J % : @ I’ : : SMOOTH BALL END BOLT B

ALAV
A
MODELNO. A B C D E F G Nkgf B+0.1
PT48-1615 | M16 | 20 | 3.3 | 16 | 27 |15.87| 23 |[343(35) = g0 ()_K_?
PT48-2018 | M20 | 25 | 53 | 19 | 33 [19.05] 29 [412(42) o C VISE
/
E /\ L
PT49 ——t=— D3, ° Material : g — — W ~ ;F]:_.
- : Bolt : S45C(JIS) / CK45(DIN) ; o
-—C —| Ball : SUJ2(JIS) / 100Cr6(DIN) ,4[
| [ o Heat treated :
%)
‘{‘. . Bolt : HRC 28°~32° L1 S
= 55 Ball : HRC 62° DLHER
o = % f > Surface finish : Black Oxide.
\ o Application : Precision §W|vel ball that can MODELNO. A B c b E [ Mmax ;
i be used either as a contact (KN) column
! bolt or as a rest pad. As PT51-0613 | 21|13 | M6x1.00 | 7.2 [13[11| 10| 12 for
contact b0|tS, these swivel-ball PT51-0813 |21 |13 M8x1.25 72 |13 |11 10 13 I»':‘ﬂi.ll.']sﬂj
units are ideal for evenly PT51-0818 |28 |18 105 [20[17] 25| 38 Dk
distributing clamping pressure PT51-1018 | 28 18 M10x1.50 105120 17| 25| 40
on sloped or uneven surfaces. | 1911218 | 30 M12x1.75
MODEL NO. A B Cc D E F N(kgf) P " | PT51-1627 |43 |27 | M16x2.00 | 20.0 | 30| 27| 90 | 150
o Features : serrated gripper is ideal for : :
PT49-2614 24 26 14 1.5 5.3 |15.87 [343(35) PT51-2035 | 55|35 | M20x2.50 | 34.5 | 50| 41| 165 | 520
rough surfaces. " - — -
PT49-3217 | 30 32 17 2 6.3 |19.05|412(42) Applies only when the minimum bore depth is kept to.

6-29 AUX PARTS AUX PARTS 6=30



LEAVE INDUSTRIAL

SMOOTH BALL END BOLT

A+0.1
D" 9°
]
/‘ —
o Material : I N
Bolt : S45C(JIS) / CK45(DIN) ! ‘rc:::
Ball : SUJ2(JIS) / 100Cr6(DIN) , O [
o Heat treated : s | lh——
Bolt : HRC 28°~32° N /‘
Ball : HRC 62° - \\ L
o Surface finish : Black Oxide. —
o Application : Precision swivel ball that can
be used either as a contact
bolt or as a rest pad. As
contact bolts, these swivel-ball
units are ideal for evenly
distributing clamping pressure MODEL NO. A B c D & 9
on sloped or uneven surfaces. PT52-0311 | 11| M3x05 | 72 | 12 [ 10 | 8
o Features : Precision ground top surface. PT52-0417 17 | Max0.7 105 18 25 30
PT52-0525 25 M5x0.8 20.0 28 90 80

*Applies only when the minimum bore depth is kept to.

o Material :

Bolt : S45C(JIS) / CK45(DIN)

Ball : SUJ2(JIS) / 100Cr6(DIN)
o Heat treated :

Bolt : HRC 28°~32°

Ball : HRC 62°

o Surface finish : Black Oxide.

o Application : Precision swivel ball that can
be used either as a contact
bolt or as a rest pad. As
contact bolts, these swivel-ball
units are ideal for evenly

max

distributing clamping pressure |- 5 (o RN\ B c D (kv 9

on sloped or uneven surfaces. PT53-0311 1 M3x0.5 7.2 12 10 8

o Features : serrated gripper is ideal for PT53-0417 17 M4x0.7 10.5 18 25 30
rough surfaces. PT53-0525 25 M5x0.8 20.0 28 90 80

*Applies only when the minimum bore depth is kept to.

6-31 AUxPARTS

Note :
2 P(N) : The MAX Strength
when pin moves
© Application temperature
with steel pins up to 250°C
© See P.6-34 Installtion method
o See P.6-34 Installtion tool

Example :

"PT55

LEAVE INDUSTRIAL

SPRING LOCATING PINS

TYPEA

o Body Material : Aluminum

Surface finish : Silver passivated
Material : Steel

Heat treated : HRC 45°

Surface finish : Galvanized

o Spring Material : Spring steel wire

o Pin

TYPE B

o Pin

o Seal Material : CR

o Body Material : Aluminum
Surface finish : Silver passivated
Material : Steel
Heat treated : HRC 45°

Surface finish : Galvanized
o Spring Material : Spring steel wire

$B F
’ ) SEAL
N\ /o +0-1
. . |
== f
— — ‘
N — i
1
A
TYPE A TYPE B
(without seal) (with seal)

TYPEA TYPEB

MODELNO. A B C D F P(N) '"STT’:)%I’_‘SWN g MODELNO. A B C D F P(N) 'NSTT%%(‘SWN g
PT55A-0603-010 10 06 || PT55B-0603-010 10

PT55A-0603-020 | 6| 3| 40| 7|05| 20 | PT57-0603 | 06 | | PT55B0603.020 | 6| 3| 4| 7|05 20 | PTs7-0603| 06
PT55A-0603-040 40 07 | | PT55B-0603-040 40

PT55A-1005-020 20 27 | | PT55B-1005-020 20 27
PT55A-1005-050 5| 67| 11| 08| 50 28 | | PT55B-1005-050 5| 6|12|08] 50 29
PT55A-1005-100 100 34 | | PT55B-1005-100 100 31
PT55A-1006-040 10 40 | PT57-1006 | 34 PT55B-1006-040 | 10 40 | PT57-1006 | 34
PT55A-1006-075 6|107] 11 |10] 75 36 | | PT55B-1006-075 6| 10| 12|10 75 37
PT55A-1006-150 150 38 || PT55B-1006-150 150 38
PT55A-1208-050 50 68 | | PT55B-1208-050 50 70
PT55A-1208-100 12 81139| 13 | 13| 100 | PT57-1208 | 7.4 PT55B-1208-100 12 8 13|14 | 1.3| 100 | PT57-1208 | 7.3
PT55A-1208-200 200 74 PT55B-1208-200 200 74
PT55A-1610-100 100 150 | | PT565B-1610-100 100 150
PT55A-1610200 | 16 | 10 [16.7| 17 | 1.6 200 | PT57-1610 [ 150 | | PT55B-1610-200 |16 | 10| 16|18 | 1.6] 200 | PT57-1610 [ 152
PT55A-1610-300 300 153 | | PT55B-1610-300 300 156

B

R wL}:‘\

S

PT

SV E

ALV

OlHER

Lolami;
iur
gechnicall
Datal

AUX PARTS ©=-32



Note :
o P(N) : The MAX Strength

o Application temperature

with plastic pins up to 80°C
o See P.6-34 Installtion method
o See P.6-34 Installtion tool

6-33 AUXPARTS

when pin moves

LEAVE INDUSTRIAL ‘ .®
LEA'E

"PT56

SPRING LOCATING PINS

TYPEA TYPE B
o Body Material : Aluminum o Body Material : Aluminum
Surface finish : Silver passivated Surface finish : Silver passivated
o Pin Material : POM o Pin Material : POM
o Spring Material : Spring steel wire o Spring Material : Spring steel wire
o Seal Material : CR

oB |F
|::> ’ \ SEAL
\\ | // (@] A+(§)'1
\ / |
1] 1] 7R
C [ i h

o~ ‘

a E— — ‘ ‘
N 7
PA
TYPE A TYPE B
(without seal) (with seal)
TYPEA
INSTALLATION
MODEL NO.

[e] o A ] C D F () TOOLS 9
PT56A-0603-010 6| 3| 40| 7|05 10 PT57-0603 0.4
PT56A-1005-020 10| 5| 67| 11| 08 20 PT57-1006 1.3
PT56A-1006-040 | 10 | 6 |[10.7 | 11 | 1.0 40 PT57-1006 15
PT56A-1208-050 22 | 8 [139 | 13 | 1.3 50 PT57-1208 29
PT56A-1610-100 16 | 10 | 167 | 17 | 16 | 100 PT57-1610 6.6

TYPE B
MODEL NO. F  P(N) 'NSTT%Léfg'ON
PT56B0603010 | 6 | 3 | 4 | 7 |05| 10 | PT570603 | 04
PT56B-1005020 | 10 | 5 | 6 | 12 | 08| 20 | PT57-1008 | 13
PT56B-1006-040 | 10 | 6 | 10 | 12 | 10| 40 | PT57-1006 | 15
PT56B-1208050 | 12 | 8 | 13 | 14 | 13 | 50 | PTs7-1208 | 30
PT56B-1610-100 | 16 | 10 | 16 | 18 | 1.6 | 100 | PT57-1610 | 67

BPA'

1

CP
o Material : S45C
o Surface finish : Black Oxid

MODEL NO. A St

B Cc D 9
PT57-0603 8 |5 | 32| 6] 19
PT57-1006 |12 | 60 | 62 | 13 | 50
PT57-1208 |14 | 60 | 81 | 16 | 65
PT57-1610 | 18 | 60 | 102 | 19 | 106 PT

SV
ALY
DK
VISE
JER=
GENS
O iHIER
Lolami;
© Material : S45C 'JIP;gim]r'a i
o Surface finish : Black Oxid Data ,
MODEL NO. A ] (o3 D g
PT58-0612 12 9.9 6 2 55
PT58-1016 16 11.9 10 2 9.4
PT58-1218 18 13.9 12 2 12.8
PT58-1625 25 17.9 16 3 34.0

AUX PARTS ©=-34



{ INSTALLATION »

B CALCULATING LOCATION FOR INSTALLATION

Based on the proposed usage of the spring

locating pins, choose the correct specifications and size,

and calculac as follows:
Installation dimension = width of workpiece + X

X: Distance from the edge of the workpiece
to the center of spring locating pin as per the drawing.

Thickness of
workpiece

Installation dimeusion

Width of workpiece X

t
’»

—

(X Reference Table )

TYPEA
without
seal

MODEL NO.

STEEL
PT55A-0603-010

PLASTIC
PT56A-0603-010

PT55A-0603-020

PT55A-0603-040

25

LEAVE INDUSTRIAL ‘ .®
LEA'E

B X CALCULATION
There are two methods for calculating X dimension based
on the thickness of the workpiece.
(1)When thickness of workpiece <H

X=B/2-F-[(C-B/2-t)x0.123]
(2)When thickness of workpiece >H
X=B/2-F

If thickness of workpiece is greater than H, then the X
value of remains the same, regardless of the thickness
of the workpiece.

(H CALCULATION )
Formula : H = C-(B/2) ¢
B F

!
!
A

Width of workpiece (t)mm
1 2 3 4 5 6 8

0.8 1.0 1.0 1.0 1.0 1.0 1.0

PT55A-1005-020

PT56A-1005-020

PT55A-1005-050

PT55A-1005-100

42

PT55A-1006-040

PT56A-1006-040

PT55A-1006-075

PT55A-1006-150

7.7

1.7 17

PT55A-1208-050

PT56A-1208-050

PT55A-1208-100

PT55A-1208-200

9.9

PT55A-1610-100

PT56A-1610-100

PT55A-1610-200

PT55A-1610-300

1.7

TYPE B
with
seal

PT55B-0603-010

PT56B-0603-010

PT55B-0603-020

PT55B-0603-040

25

0.8 1.0 1.0 1.0 1.0 1.0 1.0

PT55B-1005-020

PT56B-1005-020

PT55B-1005-050

PT55B-1005-100

35

PT55B-1006-040

PT56B-1006-040

PT55B-1006-075

PT55B-1006-150

7.0

1.7 17

PT55B-1208-050

PT56B-1208-050

PT55B-1208-100

PT55B-1208-200

9.0

PT55B-1610-100

PT56B-1610-100

PT55B-1610-200

PT55B-1610-300

11.0

6-35 AUXPARTS

B INSTALLATION METHOD
Apple yellow grease and press it into place while installing.

(Example 1)
P/N :
Spring locating pin PT55B-1006-075
Steel pin(B type)
Width of workpiece 100mm
Thickness of workpiece 2.3mm

( Caculation of H)
Comparison of thickness of workpiece and H size.

H=C-B/2=10-6/2 =7 (mm)

Because the thickness of the workpiece is bigger
than H, use the second caculation method.

( Caculation of X )

X =B/2-F-[(C-B/2-t)x0.123]
=6/2-1-[(10-6/2-2.3)x0.123]
=3-1-[(4.7)x0.123]
=1.4 (mm)

(Installation Location caculating )

(Example 2)

P/N :
Sping locating pin  PT56A-1610-100
POM (A type)
Width of workpiece 300mm

Thickness of workpiece ~ 40mm

( Caculation of H )
Comparison of thickness of workpiece and H size.

H=C-B/2=16.7-10/2 =11.7 (mm)
Because the thickness of the workpiece is bigger
than H, use the second caculation method.

( Caculation of X )
X =B/2-F
=10/2-1.6
=3.4(mm)

( Caculation of Installation Location )
Installation Location = Width of workpiece

Installation location = Width of workpiece + X =300+3.4
=100+1.4 =303.4 (mm)
=101.4 (mm)

9B F
[ f, }7
@)
I /
[
Installation dimension
300mm X
Installation dimension ’
e 100mm £
e S
< —— '7 < — r'7
| | ! I
! | ‘
| |

( e)
i

PT

(GO
vy
giechmcall
Datd

AUX PARTS ©=-36




LEAVE INDUSTRIAL

LEAVE INDUSTRIAL

I
oA
| Ze 35
| 2R
+ 7/ R
| S — of |
| G
‘ \ B2A
V=5 | o
‘ T i I/ lj ¢Bn6 |
I
| BC
MODEL NO. A B C D E R T
@ PT59-0615-10 6 12 10 15 3 1.5 0.01
PT59-0818-12 8 15 ® 18 ] 20 067
. PT59-1022-12 10 18 22 4 : : EI Ji)
i / i <:| © Material : SUJ2 PT59-1266-16 | 12
| / / o Surface finish : HRC 60° PTsotazete | 1a | 2 | | ® 4 | 20 | 001
‘ PT59-1530-16 15
| Er=o¥TeaiYT % 26 16 30 4 20 | 001
‘ PT59-1834-20 18 30 20 34 5 30 0.01 )
PT59-2034-20 | 20 : : L
PT59-2239-20 22
. g . . PT59-2539-20 25 35 20 39 5 3.0 0.01
{ Compared with traditional method,simple design can lower cost ) -2539-
PT59-3052-25 30 48 25 52 0.01
PT59-4059.30 | 40 | 55 | 30 59 5 30 :
PT59-5074-30 50 70 30 74 6 815} 0.01 PT
B Application:
SVE

— n? — <\ ALY
! I ‘ \

6-37 AUXPARTS AUX PARTS 6-38



ENE

AUX PARTS
AUX PARTS




	頁面  1
	頁面  2
	頁面  3
	頁面  4
	頁面  5
	頁面  6
	頁面  7
	頁面  8
	頁面  9
	頁面  10
	11: BP-20修
	頁面  12
	頁面  13
	頁面  14
	頁面  15
	頁面  16
	頁面  17
	頁面  18
	頁面  19
	頁面  20
	頁面  21
	Leave Industrial_02_BPA(en-us).pdf
	頁面  1
	頁面  2
	頁面  3
	頁面  4
	頁面  5

	頁面  1
	頁面  2
	頁面  3
	頁面  4
	頁面  5
	頁面  1
	頁面  2
	頁面  3
	頁面  4
	頁面  5
	頁面  6
	頁面  7
	頁面  8
	頁面  9
	頁面  10
	頁面  11
	頁面  12
	頁面  1
	頁面  2
	頁面  3
	頁面  4
	頁面  5
	頁面  6
	頁面  7
	頁面  8
	頁面  9
	頁面  1
	頁面  2
	頁面  3
	頁面  4
	頁面  5
	頁面  6
	頁面  7
	頁面  8
	頁面  9
	頁面  10
	頁面  11
	頁面  12
	頁面  13
	頁面  14
	頁面  15
	頁面  16
	頁面  17
	頁面  18
	頁面  19
	頁面  20
	頁面  21

